=Ry

STEEL PIPE ASSEMBLY

110



WME SRR NE SRR 5

STEEL PIPE ASSEMBLY STEEL PIPE ASSEMBLY

TRIEBRFAZTIHNRERERGHND, CBAZFFAREBEERINOTNES, AF A RH
EEREERBNEE, B ERERIERTLENERP)H,
NFRERSRKR, FEEREBLAI VN, LHRLREERNZENER T . SREBRT "
BERNASEEFIEN; BT RSN T EEEEE, KM UREZEFANERES EH. R
BB AR AR LUAZ P RHERGE BN AZFIRSS, SEDREMITBENRNGE ;1 ‘

NE LSRR
STEEL PIPE ASSEMBLY

=
o
=
Ll
(%]
(%]
<
(TN}
o
o
—
w
Ll
[=
(%]

WERLRT

T LURE R 305 4 1T 28 (it B A 7 s BT LURIR B P 1 R T A 7
05 25 P 7 P 4TS Tk
TR 35 O SEEBALAN. 2L LA AR WL A SRR AR E . B 18 & T 3
ET AT BRI RSB TR BT AL 44T BERAT b A TZ ATl
EHSME
ER
T{ERIE $
\#ﬁ
BARTHE : S8
BERAE TERT NS ']
o]
HESSRIERS HEl
SO SN, 188 Bk '
SRR E
MRS SRS
SHOER M, ERERNE. 120 | ke :
x| WALFORM ik i 7y
M R iR .
Q%EQ
R SRR =1
. g B RRE -
_ i WALFORMIFERE, £ER, O, EiEtlRiR
OE7 3 B R P ERESIAEREE,
I ATSIE. AR SESES

111 112




WME SRR

STEEL PIPE ASSEMBLY

WALFORMALBAIAN & B S5k

1.5

Z
[aa}
=
]
n
(%]
<
]
o
a
—
|
]
=
0

WE LRS!

> > > > >
> > > > > > > > >
> > > > > > > > > > > >
> >

A
A
A
A
A
A
A
A
A
A

®ATRIC , RS INERTXI N AYEEE R SR FAWALFORM Sl AN TR |

> > > >

A

TERX

TUBE FITTINGS

>

> > > > > >
> > >



=32

wv
(O]
=
=
=
o
w
)
2
=4

+EEL | mRreExRs

TUBE FITTINGS | Part No. Index

ES5EEE
Tube to tube

REEL

TUBE FITTINGS

FREER5]
Part No. Index

FTERIINIC

HAEER

Tube to swivel

3C/3D
p.134

FTERIINIC

THOERE
Male stud
connector

B

)
prd
(0 u)
@
()
<!
O
(O]
=
O
()
11
|
—t
)
(@)
(7))

£

=
~

— e ¢ = o &=
[l [ |

il l_“J' | ] I‘ ‘

[H HI .| l"i) L) U

. YN (R N\ M 7 N, =]
P = e | #*
| ) UHLHT 47
O L LJ j|_
1C/1D 1C9/1D9 6C/6D 6C9/6D9
p.127 p.127 p.129 p.129
R 2 A Lj ‘
H. ._‘.1 /\vf/ b 3] e ‘ '/7_ :
L '—,"_/\. al/ = ]‘ | [ |
Lo 4 0= = uE=D
2C/2D 2C4/2D4 2C9/2D9 BC/BD
p.130~131 p.132 p.132 p.133
— % K W =S

1CB-WD 1CG 1CH 1CM-WD
1DB-WD 1DG 1DH 1DM-WD
p.134~135 p.136~137  p.139 p.138

P W

i

LI

1CT
1DT
p.142

sbumi4 agqn| adA] =119 NId

adjustable

S {-
1CN 2MC-WD 2HC 2GC
1DN 2MD-WD 2HD 2GD
p.143 p.144 p.145 p.146
{2 4B
B AF 9=
Lock nut Pi- N N
U—" U=

1CG9-0G 1CH9-0G 1C09-0G 1CG4-0G 1C04-0G
1DG9-0G 1DH9-0G 1D09-0G 1DG4-0G 1D04-0G
p.138 p.140 p.141 p.137 p.141
/3 ) ] :
L, |/ ' I“... . ] H—‘ gl |
i . q‘.; \ = o I',Y_
=+ L e e -
ACCH-0G ACCG-OG ACCO-0G ACHC-0G ACOC-0G
ADDH-OG ADDG-OG ADDO-0G ADHD-0G ADOD-0G
TS p.146 p.147 p.148 p.147 p.149
Non adjustable o
.
.| A .
[ TN | I j
— ) | By § ,/‘
1CT9 1CN9
1DT9 1DN9
p.142 p.144

115

RIRSUE ] Lo
Metric female o L
o 5CM 5CH
stud fitting 5DM 5DH
p.149 p.150
b
18
J—'LJ
4C/4D 9C/9D
B p.152 p.152
Plugs
&
WE
file
45
SAE JE=$3k
SAE Flange
adapter
WHRE= 24° —_— r,_,f[
. | T (@) (@)
R ] D]
Pump flange DR E
connection 1CFG9
1DFG9
p.160
= o - LS ‘4[‘ -_..=
BESESS AL E’) {'m‘q
Banjo HF ' o L‘}‘
1CI/1DI 1CI-B/1DI-B SRk
p.158 p.158 p.161
=" ’/WV\—\
Tube to weld &
UikGas 1cW 2WC 1C-Y NL/NS
1DW 2WD 1D-Y p.153
Attachment p.160 p.159 p.159

116



FEEL | rEEiAiRg TERELEARE | FEEX

TUBE FITTINGS Technical Instruction Technical Instruction TUBE FITTINGS
— FEM LN EREWFRIE
&= | " ZREM-EET O, F95HE]
= o ggr S = = == ) ZATERRTR R Y], M)
hgﬂgg*mE*W~ FE*D I\Eﬂgﬂ—nﬂﬁgﬂm @ )\%mﬁéomﬁéﬁéﬁgﬁﬁj\i&*ﬂ&_ﬁg
- TIO# 94
WS BT ) MRENANTR BREFRE), WAz
B BN LA, FEMEE v MBI, 2RI AI8E, 18
RSN, EEG BNRAER, BIMENFER
B OMI 5 S R R N ” WEWNE LHEMED, BR5EH
w&ﬁ“, [7\]7]15]’5_!1&”?& ?%J:ﬂ”,*ﬁ ?&%E'}XEH(mm) LA
NEENE, A 22-L 400
HWEH, 28-L. 20-S 500
R ; R e e o 35-L. 25-S 800
FEREL B LALUR, AESE MRS G 2000 ; 73014 B FE R AR PR A 54 77 08 5 3k B E A8 49 41 47 A s
T, A% BON . TN, B ST B AR E A, 42-L. 30-S 1000 P
TREBRREFENEERNEZELRIBDIN EN1SO 8434-1 (DIN 3861, DIN 3865, DIN 3870, DIN 3901, DIN 3902, DIN 38-S 1200 L mEpsog
3905.DIN3908.DIN3909.DIN3910. DIN3911. DIN3912. DIN3951. DIN 3952, DIN 3953, DIN 3954, DIN 39555 EH X
) FIDIN 23534F & 5. B8, EEHLAR T RS RIE T R EMEE ST R NEH, B 5 S EL AN ERTESR,
ALAEBBRNEAIEE ST RARBEERELNRENTALE, T RIEREN BT R RERAZ AT RN
" Tk, "
%ﬁ'& FEME T EEEEL LRT, TR EEMENSTRE A BRERNERILERSZ) . Uit SESNNER, £& B - REERE ;'éé
= i BT R R B S L 75 1, BR24SE T K IR 5ho E— E M HIEVER T, EEIMI 7 RN E FRE, A RETHHE NS, SIT + IMAT TN S FHENTE LR, 157 RIBE, MHERIE S (AR =
Sy ENMRE, FEAD FIEHN, ERARENSHRNERE, NTHEDRES FOTHREIESENTEN. RENT: R ERT M S) FFAE T E1/48 (3£90°) 45
FIMAGME (¢ 20mmbl L) LU f 5B T2 A
I H —b|
£ | -
ERAENEL FESNE f;&\\r« -
©) J
@ /@ ]
=) W W EETEE )
o/ o/ - —
LA RFKEH(mm)
- e 22-L 400
MEMEE, ERHBOER IR, EO5NEMOEEE, BAREEEFAT L) IBNESELR KEATUSBIKE,; 28-L. 20-S 500
9" 35-L. 25-S 800
42-L. 30-S 1000
38-S 1200
_ L RENHREL NESRSIRFE. RS £ AN ; REER T, NE RS, RESR/E, E5R
B=8: FER TR TER, VLN RE 3 R AR,
LR, N BTRERF TRER

M 23 FEED FIIEE

A RATENEAGEEPRRE (BR0MFERE—R) , B LEEFERAERMEM AL BIRE ; TR, EHRAERL LRV BIHE
W, IBRE RERRELNE (FERSER) . BAAFRESITRIIMER L, ABRIRFIEZEITE.1/28 O 7 RIEERITE
B, R SMNE _LHUFRE) , KRAENE (¢ 20mmblE) R RIEHITIE, SIRAINA; EITRIEF, WER D Hnh. ik
SeRE, IR EHIOE RERT) QYA E L, WEEEI O NERERETION

117 118



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
+EIRLITIRE
Technicallnstruction NERSATAE
Sk Rt T
A HE i 5N | &t | me | T8 Mt | DINT631| L %7 S %7 A i
ISO - & 3k 17 ER 5 & I 60° 24° 24" | 24° (mm) | 24
M12-1 12.00 | 11,00 6
28R GRS T Ok | ORFSTEZHESL | BSPP60° &k | JISBSPP 60° ###k| NPSM %k M12-1,5 5 118 2 12,00 10,50 4 [}
DIN EN ISO 8434-1 | ISO 8434-2 ISO 8434-3 ISO 8434-6 JIS B 8363 SAE J516 M14-1.5 5+6 |1/8+1/4| 2+4 14,00 12,50 6 8 8 8
(FRDIN2353) JISB 2351 M16-1,5 6 1/4 4 16,00 | 14,50 8
| M16-1,5 8 5/16 5 16,00 | 14,50 8 10 10
M18-1,5 6 1/4 4 18,00 | 16,50 10
M18-1,5 10 3/8 6 18,00 | 16,50 10 12 12
— 1T M20-1,5 8 5/16 5 20.00 18,50 12 14 13,25
: M22-1,5 10 3/8 6 22.00 | 20,50 14
~ M22-1.5 12 172 8 22,00 | 22,50 12 15 15
&ﬁ%# \ M24-1.5 12 172 8 2400 | 22,50 16 16 18,75
" DIN 3859 T1 M26-1,5 16 | 58 | 10 | 26,00 | 24,50 16 18 .
g?é( ERES M27-1,5 16 5/8 10 27,00 25,50 18 g'é%
E i DIN 3859 T2 M30-1,5 20 3/4 12 | 30,00 | 2850 20 22 21,25 i =
A Mt 75 5% M30-2 16 5/8 10 | 30,00 | 27.90 20 =
- DIN EN ISO 19879 M30-2 20 3/4 12 30,00 27.90 22 =
GB/T 26143 M33-1.5 20 3/4 12 | 33,00 | 3150 25
M36-1,5 25 1 16 | 36,00 | 34,50 28 26,75
\ / M36-2 20 3/4 12 | 36,00 | 33,90 25
M36-2 25 1 16 | 36,00 | 33,90 28
M38-1,5 25 1 16 | 38,00 | 36,50 25
— M39-1,5 25 1 16 | 39,00 | 37,50 30
[ FMBECHO IR ] M421,5 25 7 16 | 42,00 | 40,50 32
M42-2 25 1 16 | 42,00 | 39,90 30
M45-1.5 32 | 11/4 | 20 | 4500 | 43.00 32 35
Md5-2 32 | 11/4 | 20 | 4500 | 4290 35
| | | M48-1.5 32 | 11/4 | 20 | 4800 | 4650 38 M52-1.5
NHIBL BSPPZEHIIRLL UN/UNF 3408247 [ NPT/NPTF4IIRL| | BSPTZE4IEIRLL M52-1.5 40 | 1M/2 | 24 | 5200 | 50,50 40
DIN 1SO 6149 1SO 1179 1SO 11926 SAE J476 LT 32 Lt L 20 | 3300 1 4990 L
GB/T 2878 DIN 3852 T11 SAE J514 SAE J514 IS0 7 M52-2 40 | 1/2 | 24 | 5200 | 49,90 42
DIN EN 1SO 9974 DIN 3852 T2 M54-2 40 | 11/2 | 24 | 54,00 | 51,90 45
M58-2 40 | 112 | 24 | 5800 | 55,90 4825
JIS B 3863 M65-2 50 2 32 | 6500 | 6290 50
JISB2351 M78-2 60 7800 | 75,90 60
M90-2 70 90,00 | 87.90 70
M110-2 80 110,00 | 97.90 80
EEAME: M110-2 90 110,00 | 107.90 90
EEERT, MERE RS L R ERASRENEANEER TS NEHRHER, TR IEE. Mi20a | 00 | 4 | B4 | 72000 | 790 | 100

119 120



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
= SLth 4=d &b
RFEVIELMTIRE [ERESEL
Technicallnstruction Performance Parameter
GBS IN
AFRESIPN _ _ _
& R -j— ] ] B/T\JZ; @WEﬁ%?EﬁET##@Z(EET#
BSPiE L e 3t BN s ey iz M i NIFEIPNEBERATHEDSENRAETESE TENMEIE RS LB ARREE LFTERER
XS 28 5 ”B' 2 973 3.60 [EA, EZLBIERABAMELRT DA, SAFUKMENES T E FRAT
i S 4 : : KEEZABAFRE AT HRIEKBEW S EHETEED, THEEEH
Ll 19 1 1316 1130 {TEAEHPNX1.33, BE HLHZE— EHR
L 13 d = 8 15,50 L BRI R IR ; B IRRIR I FE D B oAt
G 1/2" 14 12 12 8 20.96 18.60 HIPN{E,
G 5/8" 14 16 5/8 10 2291 20.60 1500 SRR B SIBRIX R E &R/ 1.5E
G 3/4" 14 20 3/4 12 26.44 24.10 P‘— B@EN=PN¢ PN{&. (HR#EDIN 3230 T5%&IS0 5108)
G1" 1 25 1 16 33.25 30.30 .
G1"1/4 1 32 11/4 20 41,91 38.80 EASIFIRE
G 1"1/2 11 40 11/2 24 47.80 44.90 Wit E N Bar MPa PSI
G2" 11 50 2 32 59.62 56.70 / 100 10.0 1450
| I 160 16.0 2321
5.4 PN 210 21.0 3045 X8
i SR 315 315 4569 WE
o 1l FERT s
o) o8 53 - ihiz 4 iz 350 35.0 5075 )
EJ.|L NPT # & DN T Ty P P14 J.|LE
1/8"-27 5 1/8 2 9.70 8.60 400 40.0 5801
1/4"-18 6 1/4 4 13.10 11.30 .
3/8"-18 10 38 6 16.30 15.10 ERE
1z 14 12 L g 20:20 15:60 FE N REMEE LR M (X TR EHE )
3/4"-14 20 3/4 12 25.50 24.10 —— - -
1"11,5 25 1 16 32.20 30.20 BkHE T & CTHWE N ®
1"/4-115 32 /4 20 41.00 38.90 60 | 50 | 40 [ 35| 25 | +20 | +50 | +100 | +120 | +150 | +175 | +200 | +250 | +300 | +400
1"1/2-11,5 40 112 24 47.00 44.90 PSS 0% 11% 19% 28%
21,5 50 2 32 58.90 56.70 —, - — p—
REREL 0% 11% | 20% 30%
RENE 0% | 5.5% | 11.59 21.5% 29% 34%
EHIF— RSN RN
FRfEk 35%
" o T S (S , T BT 1.1 &m
UNSRR IonT s+ [am] T2 | "B | ae UNSBS N Tet (e | e [M8] ke - R FRE
511624 UN | 5 | 158 | 2 | 704 | 715| JiC 13/16-12UN | 20 | 3/4 |14+12|30.10]27.50 | JIC+ORS =
3824 UNF | 5 | 316 | 3 | 9562 | 860 | JIC 15/16-12UN | 25 | 1 | 16 |3330]3130] JIC
7/1620UNF | 6 | 1/4 | 4 |11.07|10.00| JC+SAE|[16/16-14UNS| 25 | 1 | 16 |33.30|a3160| PTT
1220UNF | 8 | 6116 | 5 |12.70] 11.60 | JIC+SAE 1701612 | 25 | 1 | 16 |36.40|3380| ORS N
9/16-18 UNF | 10 | 3/8 | 6+4 | 14.25|13.00 | JIC+ORS| | 15/8-12UN | 32 | 11/4 | 20 |41.22|39.20] JIC :
5/818BUNF | 10 | 3/8 | 6 |15.85|14.70| SAE 15814 UNS | 32 | 11/4 | 20 |41.22|3950] PTT .. - B
11/16-16 UN | 10 | 38 | 6 |17.40|1540] ORS ||111/16-12UN| 32 | 11/4 | 20 |42.80|40.20] ORS FENi%*16OSW*W*jE‘4OOBar
3416 UNF | 12 | 12 | 8 |19.00|1760|JIC+SAE| | 17/812UN | 40 | 11:2 | 24 |4757|4560| JIiC 7@{;—2505
13M6-16UN | 12 | 1/2 | B |2050|1860| ORS 17/8-14 UNS | 40 | 11/2 | 24 |4757|4590| PTT ?%Emfm%
7/8-14 UNF | 16 | 5/8 | 10 |22.17|2050]| JIC+SAE 2-14 UN 40 | 12| =24 |so70l48.10| ORS WEEAE=27%
1-14 UNS 16 5/8 10 |25.30(23.10 ORS 212-12 UN a0 2 32 63.45|61.50| JIC+PTT my:
11/16-12UN | 20 | 3/4 | 12 |26.95/25.00] JIC 312 UN 80 |21/2| 40 |76.20[74.30] JIC PN$£3£250°C=400Bar*(100%-28%)=288Bar

111614 UNS | 20 | 3/4 | 12 |2695|2530) SAE 3 1/2-12 UN 80 3 48 |88.80(87.00 JIC

PN&E&250°C=400Bar*(100%-27%)=292Bar

121 122



sk

£

£t

~

wv
[C]
Z
E
=
i
w
o
=)
P

=

FEEL | Hhsy

123

TUBE FITTINGS Performance Parameter

mERE

—RRBRERFETENRIELZRBIERENERE, MAHTERENRRITENNE A TFEHBRKRERERS
BRIELL, AT ERAGERERESH, NZERRRITNMAD ZERERERNRERN . AFMENTFRHERIN

MESEE, UNRNABRIENNENRR, AASENENRRETESSBRAIER TR LER R RE URTE
EURERP~ESHIAR.

R

KEREXTREMREBRFIENSEIINRENS.

B

d=EEMWRE (m)
P=/%£/1 (Pa),1Bar=100000Pa

c=imik (m/s)

L=BEKE (m)

V=2 (m®/s)111m3/s=60000L/min
VERIARIBEEIALE (5REBX) (m?/s)
E=REBEIIR AL

M RO RAEARRAG, BERBURREMAETEIIEFSERAMSBUTEEREIR.

ERRRIEDRE
MITEERPNESRE, BRGTRERENESDRSEERRERER. BRBRABFITE, BRI BIVRR. B
—HIER, WESDRKEMNFIFE R,

\=E R AIEEE R K
p=MAEEE (5REBX) (Kg/m?)

BR AR ERmIARE

B Eminch RS EEIEHAT. YEIEHAT 2320, MetRSET AER. BIEMRIBUTARITE:
Re=c«d/v(T)

BIERERTLTENE, W FIGFRRSHRRARBU T AR I ITIHE:

cer =2320+V(T)/d (m/s)

SHFATERE, TORARIBATITE:  c=V+4/(d*mn)

BERAIEEERIN AILUTE, N 2FEHHRE, ANt SERANENEEEEE X BEERERFTBIERAN
BEE, NIEERAIEEE R \ I ZEEEHEEMRIEUTANE:

B3 ( Re<2320): A =64/Re

71 ( Re>2320): A =0.3164* VRe

BE, NRFESHEMN, EHREMNERDIGEREEHIREAREAITE A p=A*(L/d)* p (T) » c?/2(Pa)

BEBEARKITE
—PMRERFRNMNEER, RERI ) ERINTES, B A5 I ERBRK TEXERBENREEATHEE
TR, EHERRIBAR A p=8* p(T)*c?/2 (Pa)
BEBEDRRRIES BRBORETHER EBFERIATE A
— M HREF S D BIMERBRA R B ERSH i
ERT, RETHHIESE AR E=HNRIIIRERNR | ¢
BESRKEZHCHNETTE2R—NER, HREREN,
ENERE K AERA—T AR EIRKRRK
SRR HE X RN, ZHMARELREPEIRERX
RS, X FRHTHRN D IIER, LB RS ZHARE
Rl

MERESEL

Performance Parameter

BE@#EsL #01C.1D.1CB.1CG.1CH.1CM.1CO.1CT.1CN.1DB.1DG.1DH.1DM.1D0O%

Ca U | —RERT EEAREROTE AR B R TUE, Bt L
| — | BEEARARKEN0.015/0.052 A,

N,
~ 5 (IRFEIARSHRENERNEFEZEEREN, IRBEREXNB
BENIRKRBHBES E.)

Rkt 2C. 2D . 1C-16-26 STFiEsk
HFLEEL, BAX SRS WEEEREIE IR R L BIETEERARNRRS R L H OARTRER,
EREEEA:
E=(A2/A1-1)2
Al...... ANOHESEmmR
A2...... H O E S E R

_— UEARXERAFIEAATFO, WEATFHEERER
2¢/2D Bk W FRESREAREINAER, BEU—NEERE
/ o X FHREL, ENRARR T2 S HOBNRERE

X, EEABRKFZEETM1.58]5000Z B Z 1k,

< A2/A1 | 0.80 0.60 0.40 0.20
2¢/20 3 0.15 0.25 0.35 0.42
EfEL M 109.209%
_ LL )
| | A2/A1 BEBENREREKE
= 1C9.1D9.1CX9.1DX9 & 1
J 2C9.2D9. 2XC9 . \2XD9% 1
TE
NFEE, BREAMEIAMECATEFSHF R SETRENLLE (R/)
LY RREFHR REEIIRRREE
2 0.21
4 0.14
6B AF6 0.11

FEEL

TUBE FITTINGS

124

%3k

£t

%)
(L]
=
=
=
s
w
)
=
[

=
~




DINkE#L | REEL

DIN Bite Type Tube Fittings | TUBE FITTINGS

FEEL

TUBE FITTINGS

DIN-E=fESL
DIN Bite Type Tube Fittings

sk N——
ERETEE RAEE L ’Eﬁfffmm .
L/Min m/s C m/s C m/s
SLF R . e s = HE RHBE
2> itk %nBEb*ﬂ*ﬁ&E WEZFNE RTH%R 1 Iﬂlz ?Eg =] E;?Eg R T?%
<> . ! 1CI. 1CI-B 36 RIE— AR DRMEENE LR REESE § %ﬁ 33 ?2
1D, 1DI-B 3-6 Al SEIERR R Y —. BIERE B SRR I % A E R 5 3.6 5.2 9.4
. o BRBERENERRT (BENMENER) . g jg g? 3
;‘;i%ﬁgggg&%@gﬁ%’gﬁéﬁi*‘% RERSFESBINEERDEEE S STRERS g 76 65 155
FEHRERKE AE— R, Y EEEEMASHENREAS, 90 4 523 6-2 1% g
ERENEEY) R SHEE, ENTFREREY o 22 3 o
SN, EENERT, CR3REERRANE 14 6.1 8.6 15.7
N = > N Vi) EXE] Slapali-3 o RARNMIRIZTIHE VB : : .
2 BRI S = i VO3 T SBARABIE H R o AR RE T ED 1 9B }S gg 3§ }?3
o N - N N RAMERFGNRENEN, RERMANRAEIBEHIIE 20 7.3 1(5 3 18.8
IR ABEURTFNAREE PRERE M L MEEER, - - -
EABEABNATNREBBTROATRAM, URIALE, B HIEE. BARN O SBIEBIRK, HERSMERE 2 7.6 10.8 19.7
%ﬁa <)l ﬁik%%?ﬁ?’:ﬁlmﬁ'ﬁﬂ, %%&b <l B‘i}‘k%ﬁg g*ﬁﬁgl)wﬁ 24 8.0 113 20.6
ERERERT AR RAR BT, AR o = 11 i
2 N o : ) )
va 2 & a —> v BRRT+HER U TRINAREERRTHERSE, 28 8.6 122 22.3
. 4 . - 30 8.9 12.6 23.1
" o | 5 o v 7 32 9.2 13.0 238 o
8 K N ' RREREEMER 34 9.5 134 245 K8
i — AR R A R R AR BB A 2 28 B2 =3 WE
2 1 B ARETUTHERE: 40 10.3 14.6 26.6 Yy g
45 10.9 15.5 28.2
b £ b AR (TR | BEEMHRRAKE REBEHRRARIE TE&E®:8m)s 50 11.5 163 §9.8
55 12.1 17.1 1.2
ﬁﬂfﬁ)\h\ﬁﬂitb) %%ﬁﬁ&ﬁ %Eﬁﬁﬁwﬁ IEI‘}EJ%E%:ZLm/s 60 12.6 179 32.6
BRINTE hER:1.2m/s 65 13.1 18.6 33.9
Vbjva ta o ta T MRS LR EIB RS, ARIEL T AR RORER 0 13.6 19.3 352
> T 4 > T 75 14.1 20.0 364
Va — Vv b AEAT- 80 14.6 20.6 37.6
b { : _| 0.6 0.07 0.95 0.40 0.47 85 15‘0 21.3 38.8
- ' : BRARE (mm)=4.61*/ & (L/min)/7E (m/s) 90 15.5 21.9 39.9
N | 0.8 0.20 1.10 0.50 0.73 95 15.9 22.5 41.0
) 100 16.3 23.1 42.1
1.0 0.35 1.30 0.60 0.92 110 1r.1 24.2 44.1
120 17.9 25.3 46.1
130 18.6 26.3 47.0
&b 140 19.3 273 49.8
Vb A 150 20.0 28.2 51.5
F 160 20.6 29.2 53.2
A 170 21.3 30.1 54.9
(=W} 180 21.9 30.9 56.5
190 22.5 31.8 58.0
200 23.1 32.6 59.5
220 24.2 34.2 62.4
3 BT [ R o 240 253 35.7 65.2
260 26.3 37.2 67.9
=S Sitk: BEENRRREE 280 273 38.6 70.4
300 28.2 39.9 72.9
B [AiE 5.0 320 29.2 412 753
340 30.1 42.5 77.6
Al 360 30.9 43.7 79.8
Hi > 380 318 449 82.0
R EAE SEATEATRE. 400 32,6 46.1 84.2
[EARERIE EHRTFESFR aEG =TE 50 53
500 36.4 51.5 94.1

FEHIRKITE: (itE1DI-24-BOSKDSEERIEL , HEH20L/minBIHIEHIRK )

B ERRARd=12mm=0.012m; N BRZE p=869.4Kg/m* RS E = B MR ; ENRK R IE=4.5 (1DIEX
FH91E) . N EV=20/60000=0.000333(m/s); 7 iEc=V*4/(d?*1)=0.000333*4/(0.0122*1)=2.95(m/s)

b 1D1-24-BOSEEIE L B H20L/minBI MIE IRk 79 : Ap=4.5"869.4*(2.95/2)=17000(Pa)=0.17bar

125 126



~EEL

wv
[C]
=
E
=
i
w
o
=)
P

FE&EL | DINkEEL
TUBE FITTINGS DIN Bite Type Tube Fittings
1C, 1D
1C/RN, 1D/RN
Bk 79| mope | B THREAD qre R<F  DIMENSIONS o [T#EER (bar)
STRAIGHT FITTINGS Series| F’:;\II:;T N%. — 2 ﬁ/ﬁ RN | NN
T1 T2 D1 D2 L1 L2 L3 S1 S3 () | (ss)
L1 1C-12 M12X1.5| M12X1.5| 06 06 24 10 39 12 14 15 | 500 | 315
L2 1C-14 M14X1.5| M14X1.5| 08 08 25 11 40 14 17 16 | 500 | 315
7_%_4 1C-16 M16X1.5 | M16X1.5| 10 10 27 13 42 17 19 23 | 500 | 315
- & 1C 1C-18 M18X1.5| M18X1.5| 12 12 28 14 43 19 22 28 | 400 | 315
- | Ea 1D | [ 1C22 [M22X1.5|M22X1.5] 15 | 15 | 30 | 16 | 46 | 24 | 27 | 51 | 400 | 315
1C-26 M26X1.5 | M26X1.5| 18 18 31 16 48 27 32 69 | 400 | 315
H“ﬂ 1C-30 M30X2.0 | M30X2.0 | 22 22 35 20 52 32 36 90 | 250 | 160
1C-36 M36X2.0 | M36X2.0 | 28 28 36 21 54 41 41 | 137 | 250 | 160
L3 1C-45 M45X2.0 | M45X2.0 | 35 35 41 20 63 46 50 | 214 | 250 | 160
1C-52 M52X2.0 | M52X2.0 | 42 42 43 21 66 55 60 | 296 | 250 | 160
1D-14 | M14X1.5| M14X1.5| 06 06 30 16 45 14 17 26 | 800 | 630
1D-16 M16X1.5| M16X1.5| 08 08 32 18 47 17 19 37 | 800 | 630
1D-18 M18X1.5 | M18X1.5| 10 10 32 17 49 19 22 44 | 800 | 630
1D-20 M20X1.5| M20X1.5 | 12 12 34 19 51 22 24 60 | 630 | 630
S 1D-22 M22X1.5| M22X1.5| 14 14 38 22 57 24 27 77 | 630 | 630
1D-24 | M24X1.5| M24X1.5| 16 16 38 21 57 27 30 90 | 630 | 400
1D-30 M30X2.0 | M30X2.0 | 20 20 44 23 66 32 36 | 143 | 420 | 400
1D-36 M36X2.0 | M36X2.0 | 25 25 50 26 74 41 46 | 251 | 420 | 400
1D-42 M42X2.0 | M42X2.0 | 30 30 54 27 80 46 50 | 330 | 420 | 400
1D-52 M52X2.0 | M52X2.0 | 38 38 61 29 90 55 60 | 545 | 420 | 315
A NFFRERREZRIEEITR, WEERSEMRN”, 11C-30/RN,
Note:In caseifyou areinterested to order the adapterin complete set with cuttingringand
nut, itis necessary toinsert suffix“RN” after our part NO, for example 1C-30/RN.
1C9, 1D9
1C9/RN. 1D9/RN
90" %X owo | 8% THREAD | ETNME R DIMENSIONS o [THEEA ( ba
90° ELBOW FITTINGS z5| =mRS TUBE O.D B8
series PART NO. T1 ™ D1 D2 L1, | L3 . 2l s1 S2 | M| B | RN
L2 L4 ) S3 (CF) | (SS)
T2 1C9-12 |M12X1.5|M12X1.5| 06 06 19 27 12 12 14 29 | 500 | 315
' 1C9-14 |M14X1.5|M14X1.5| 08 08 21 29 14 12 17 43 | 500 | 315
o 1C9-16 |M16X1.5|M16X1.5| 10 10 22 30 15 14 19 54 | 500 | 315
a2 1C9-18 |M18X1.5|M18X1.5 | 12 12 24 32 17 17 22 80 | 400 | 315
= 1 1C9 1C9-22 |M22X1.5|M22X1.5 | 15 15 28 36 21 19 27 81 | 400 | 315
“t o1 1D9 L 1C9-26 |M26X1.5| M26X1.5 | 18 18 31 40 | 235| 24 32 | 140 | 400 | 315
L1 1C9-30 |M30X2.0 | M30X2.0 | 22 22 35 44 | 275| 27 36 | 178 | 250 | 160
1C9-36 |M36X2.0 | M36X2.0 | 28 28 38 47 | 305 36 41 | 340 | 250 | 160
[ 1C9-45 |M45X2.0 | M45X2.0 | 35 35 45 56 | 345| 41 50 | 458 | 250 | 160
1C9-52 |M52X2.0 | M52X2.0 | 42 42 51 63 40 50 60 | 776 | 250 | 160
! 1D9-14 [M14X1.5|M14X1.5 | 06 06 23 31 16 12 17 52 | 800 | 630
'—_I El § 1D9-16 [M16X1.5|M16X1.5 | 08 08 24 32 17 14 19 74 | 800 | 630
i ) 1C9/RN 1D9-18 |M18X1.5|M18x1.5| 10 | 10 | 25 | 34 [175] 17 | 22 | 97 | 800 | 630
= 1D9/RN 109-20 |M20x15|mM20x15 | 12 | 12 | 29 | 38 [215] 17 | 24 [ 137 630 | 630
= 1D9-22 [M22X1.5|M22X1.5| 14 14 30 40 22 19 27 | 145 | 630 | 630
S 1D9-24 |[M24X1.5| M24X1.5| 16 16 33 43 | 245| 24 30 | 162 | 630 | 400
1D9-30 [M30X2.0 | M30X2.0 | 20 20 37 48 | 26,5 27 36 | 221 | 420 | 400
1D9-36 [M36X2.0 | M36X2.0 | 25 25 42 54 30 36 46 | 424 | 420 | 400
1D9-42 [M42X2.0 | M42X2.0 | 30 30 49 62 | 35.5| 41 50 | 603 | 420 | 400
1D9-52 [M52X2.0 | M52X2.0 | 38 38 57 2 41 50 60 | 1010| 420 | 315
A NFHFRERREZEIEEITRE, WEERSEM RN, #11C9-30/RNo
Note:In caseifyouareinterested to order the adapterin complete set with cutting ringand
nut, itis necessary to insert suffix “RN” after our part NO, for example 1C9-30/RN

127

AC, AD
AC/RN, AD/RN

=@k
EQUALTEES

AC
AD
— 3 AC/RN
E]V*Iffffw S spm——— AD/RN
XC. DXC/RN
XD/RN
PSS
CROSSFITTINGS
=
ﬂ:
F _/ fd
XC
T4 XD
R
’f“j NN
Ly XC/RN
o XD/RN

DIN-FE ik
DIN Bite Type Tube Fittings

FEEL

TUBE FITTINGS

EFIME

7| mons S THREAD | 1UREOD R~ DIMENSIONS = TfRES (bar)
Bl PARTNO TL T2 T3 D1 D2 D3| L1 L2 | L3 | S1 | S2 I E{é? ﬁé’g;ﬂﬂ
AC-12 M12X1.5 06 19 | 12 | 27 | 12 | 14 | 37 | 500 | 315
AC-14 M14X1.5 08 21 | 14 | 29 | 12 | 17 | 53 | 500 | 315
AC-16 M16X1.5 10 22 | 15 | 30 | 14 | 19 | 48 | 500 | 315
AC-18 M18X1.5 12 24 | 17 | 32 | 17 | 22 | 65 | 400 | 315
L AC-22 M22X1.5 15 28 | 21 | 36 | 19 | 27 | 106 | 400 | 315
AC-26 M26X1.5 18 31 | 235| 40 | 24 | 32 | 179 | 400 | 315
AC-30 M30X2.0 22 35 | 27.5| 44 | 27 | 36 | 225 | 250 | 160
AC-36 M36X2.0 28 38 | 30.5| 47 | 36 | 41 | 396 | 250 | 160
AC-45 M45X2.0 35 45 | 345| 56 | 41 | 50 | 567 | 250 | 160
AC-52 M52X2.0 42 51 | 40 | 63 | 50 | 60 | 905 | 250 | 160
AD-14 M14X1.5 06 23| 16 | 31 | 12 | 17 | 68 | 800 | 630
AD-16 M16X1.5 08 24 | 17 | 32| 14 | 19 | 70 | 800 | 630
AD-18 M18X1.5 10 25 | 17.5| 34 | 17 | 22 | 91 | 800 | 630
AD-20 M20X1.5 12 29 | 21.5| 38 | 17 | 24 | 117 | 630 | 630
S AD-22 M22X1.5 14 30 | 22 | 40 | 19 | 27 | 136 | 630 | 630
AD-24 M24X1.5 16 33 | 245| 43 | 24 | 30 | 202 | 630 | 400
AD-30 M30X2.0 20 37 | 265| 48 | 27 | 36 | 289 | 420 | 400
AD-36 M36X2.0 25 42 | 30 | 54 | 36 | 46 | 545 | 420 | 400
AD-42 M42X2.0 30 49 | 355| 62 | 41 | 50 | 758 | 420 | 400
AD-52 M52X2.0 38 57 | 41 | 72 | 50 | 60 | 1264| 420 | 315
A METRERFERFEEITS, WISENS/EM“RN”, #1AC-30/RN.
Note:In caseifyou areinterested to order the adapterin complete set with cuttingring and nut,
itisnecessarytoinsert suffix“RN” after our part NO, for example AC-30/RN.

B THREAD | 370 Rt DIMENSIONS THEFEH bar)
¢ Clomnmameta PRPEDR 3| st | s2 ’f’%ﬁ? T‘é’*gm
XC-12 M12X1.5 06 19 12 27 12 14 35 | 315 | 200
XC-14 M14X1.5 08 21 14 29 12 17 40 | 315 | 200
XC-16 M16X1.5 10 22 | 15| 30 | 14 | 19 | 52 | 315 | 200
XC-18 M18X1.5 12 24 17 32 17 22 69 | 315 | 200
L XC-22 M22X1.5 15 28 | 21 | 36 | 19 | 27 | 130 | 315 | 200
XC-26 M26X1.5 18 31 | 235| 40 | 24 | 32 | 188 | 315 | 200
XC-30 M30X2.0 22 35 | 275| 44 | 27 | 36 | 251 | 160 | 100
XC-36 M36X2.0 28 38 | 305| 47 | 36 | 41 | 392 | 160 | 100
XC-45 M45X2.0 35 45 | 345 56 41 50 | 618 | 160 | 100
XC-52 M52X2.0 42 51 | 40 | 63 | 50 | 60 | 905 | 160 | 100
XD-14 M14X1.5 06 23 16 31 12 17 58 | 630 | 400
XD-16 M16X1.5 08 24 17 32 14 19 82 | 630 | 400
XD-18 M18X1.5 10 25 | 17.5| 34 17 22 97 | 630 | 400
XD-20 M20X1.5 12 29 | 215| 38 17 24 | 146 | 630 | 400
S XD-22 M22X1.5 14 30 22 40 19 27 | 176 | 400 | 250
XD-24 M24X1.5 16 33 | 245 43 24 30 | 220 | 400 | 250
XD-30 M30X2.0 20 37 | 265 48 27 36 | 339 | 315 | 200
XD-36 M36X2.0 25 42 30 54 36 46 | 576 | 315 | 200
XD-42 M42X2.0 30 49 | 355| 62 41 50 | 843 | 315 | 200
XD-52 M52X2.0 38 57 41 2 50 60 | 1350( 315 | 200
A NFFRERFERSEEITR, WBEERSEM RN, 10XC-30/RN,
Note:In caseifyou areinterested to order the adapterin complete set with cuttingring and nut,
itis necessary toinsertsuffix “RN” after our part NO, for example XC-30/RN.

128

~EEL

%)
(L]
=
=
=
s
w
)
=
[




+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
R — BTG : _ _
6C-LN/RN g THReap | EIIME R DIMENSIONS ThEs ML PR IB L S Fafg | B THREAD TUBEOD | /UF  DIMENSIONS 2 TS (ban)
R aRS ; 28 REDUCER TUBE ADAPTOR PART NO.|  T1 T2 o1 [ o2 u [ [ [si]s2|s3 |®F[FT[RED
5| PART NO. A
- s3 B | 7ok 2C12-14 | MI2X15 | MI4X15] 6 8 235 [30.5 | 38 [ 12| 17|14 | 29 [ 500 | 315
6D LN/RN i T2 DL D2 L1} L2 JL3 | L4 | L5116 SL | S2 | o (CF) [m(ss) WITH SWIVEL NUT 2C1216 | MI2XL5 | MI6GXL5| 6 | 10] 25 | 32 [ 40 | 14[ 19|14 [ 36 [ 500 | 315
—_ . 2C14-16 | MI4XT5 | MI6XI5| 8 | 10| 25 | 32 | 40 | 14| 19 [ 17 | 38 | 500 | 315
HiEdRiEk 6C-12 M12X1.5|MI12X1.5/ 06 |06 | 14| 7 [34| 27| 22| 42| 17 | 17 | 14| 39| 500] 315 2C12-18 | MI2X1.5 | MI8X15 | 6 | 12| 25 | 32 | 40 | 17 22 | 14 | 49 | 400 | 315
STRAIGHT BULKHEAD FITTINGS 6C-14 |M14X1.5/M14X1.5( 08 |08 | 15| 8 |34 | 27| 23| 42| 19 | 19 | 17 | 50 | 500 315 L 2C-14-18 1 M14X1.5 | MI8X1.5| 8 | 121 25 | 32 140 [ 17|22 (17 | 49 1400 | 315
L 2C-16-18 | MIGXI5 | MIBXI5 | 10 | 12| 26 | 33 | 41 | 17[ 2219 | 51 [400 | 315
6C-16 |M16X1.5(M16X1.5( 10 (10| 17| 10 (35| 28| 25| 43| 22 | 22 | 19| 67 | 500 | 315 2C-12-22 | M12X1.5 M22X1.5 5 151 285 1355 | 43 | 19| 27 | 14 31 | 400 315
6C-18 [M18X1.5(M18X1.5| 12 (12| 17| 10 [36| 29| 25| 44| 24 | 24 | 22 | 78 | 400 315 - %g}gg mgﬁg mgﬁg 180 ig %gg ggg ﬁ ig g g gg 288 g%g
L 6C-22 |M22X1.5(M22X1.5( 15(15| 19| 12 (38| 31| 27| 46| 27 | 30 | 27 | 128] 400 | 315 ! N - 2C:18:22 M18Xl:5 M22Xl:5 12 15 29:5 36:5 44 | 19 | 27 | 22 83 | 400 315
6C-26 |M26X1.5|M26X1.5| 18 | 18 | 21 [13.5(40 [32.5 30 | 49 | 32 | 36 | 32 | 198| 400 | 315 2 - .ih = %gﬁ%g m}&ig m%gﬁg g ig %g gg fé %ﬁ g% %471 i(isla 388 g}g
6C-30 [M30X2.0[M30X2.0| 22 |22 | 24 |16.5]42|34.5 33| 51| 36 | 41 | 36 | 254| 250 160 ° . ST e T VI e T MoeXie T 10 T I8 T 90 56 a1 a3 1o 10400 T 515
HE 6C-36 |M36X2.0(M36X2.0( 28 [ 28 | 26 | 18.5(43 | 355/ 35| 52| 41 | 46 | 41 | 335| 250 | 160 St s2 2C 2C-18-26 | M18X1.5 M26X1.5 | 12 18| 29 36 44 [ 241 32 [ 22 | 110] 400 315
6C-45 [M45x2.0[M45X2.0| 35 | 35 | 29 | 1855] 47 |36.5 40 | 58 | 50 | 55 | 50 | 546] 250] 160 e R o R R I I e N
s . 6C-LN 6C-52 |M52X2.0|M52X2.0 | 42 [ 42| 30| 19 |47 | 36| 42| 59 | 60 | 65 | 60 | 758 250 | 160 s 2C-14-30 | M14X1.5 | M30X2.0 | 8 | 221 32 | 39 [47 [ 27] 36|17 | 158] 250 | 160
6D-LN 6D-14 |M14X1.5|M14X15| 06 | 06 | 19 | 12 |36 29| 27| 44| 19 | 19 | 17 | 65| 800] 630 S B e s I
s w 6D-16 |[M16X1.5|M16X1.5| 08 |08 | 20 | 13 (36| 29| 28| 44| 22 | 22 | 19| 87| 800 630 J 2C22-30 | M22X1.5 | M30X2.0 | 15 | 22| 34 | 41 | 49 [ 27| 36 | 27 | 164 [ 250 | 160
RS2 6D-18 |[M18X1.5|M18x1.5] 10 |10 | 22 [14.5[37 [29.5) 31| 46 | 24 | 24 | 22 [ 112] 800] 630 5 , —T e T B L
é[*** ﬁ -— ¢ 6D-20 |[M20X1.5|M20X1.5| 12 | 12 | 22 | 14.5(38 |30.5| 31| 47 | 27 | 27 | 24 | 141| 630 630 g | J 'it_ R 2C14-36 | MI4X15 | M36X2.0 | 8 | 28| 34 | 41 | 49 | 32| 41| 17 | 221] 250 | 160
( [ ) o 2C-16-36 [ M16X1.5 M36X2.0 [ 10 28 [ 35 42 50 | 32| 41|19 | 213|250 160
o 6022 [M22x1.5|M22x1.5] 14|14 25| 17 [39]32] 35 50| 30 [ 30 | 27 | 180[ 630] 630 s = 2C-18-36 | MISX15 | M36X2.0 1 12 | 281 35 | 42 [ 50 132141127 1 2131250 | 160
6C-LN/RN 6D-24 |M24X1.5|M24X1.5| 16 | 16 | 25 | 16.5( 40 |31.5( 35| 50 | 32 | 32 | 30 | 201| 630 400 2C/RN 2C22-36 | M22XL.5 | M36X2.0 | 15 | 28| 36 | 43 | 51 | 32| 41 [ 27 | 218|250 | 160
2C-26-36 [ M26X1.5 M36X2.0 [ 18 28 [ 355 | 43 52 [ 32| 41|32 | 220 250 160
8/—K 6D-LN/RN 6D-30 (M30X2.0|M30X2.0| 20 |20 | 28 | 17.5|44 | 33.5( 39| 55| 41 | 41 | 36 | 462 420 | 400 3036 T M300.0 T e 0 T 20 S8 T375 148 ST T Al 36 T o 50 160 TKS
o 6D-36 |M36X2.0(M36X2.0 | 25 [25| 32| 20 |47 | 35| 44 | 59 | 46 | 46 | 46 | 492| 420 | 400 2C 1245 MI2X15 | M45X2.0 | 6 | 35| 37 | 44 | 52 | 41 50 | 14 | 318 [ 250 | 160 Y E
E 3= ) 2C 1445 | MI4X15 | M45X2.0 | 8 | 35| 37 | 44 | 52 [ 41 50 17 | 318250 | 160 PAnd=
= i 6D-42 (M42X2.0|M42X2.0| 30|30 | 35|21.5|51 |37.5 48| 64| 50 | 50 | 50 | 631| 420 | 400 S T6 45 T MIGKLE MasXs 0110 =T 38 75 ST 21T 5019 3181950 160 f =
S 6D-52 [M52X2.0|M52X2.0| 38 |38 | 38| 22 |53 | 37| 53| 68| 65 | 65 | 60 |1083 420 315 2C-18-45 | M18X1.5 | M45x2.0 | 12 35| 38 45 53 | 41 50 [ 22 | 324 | 250 160 143
= ~ e o e o . " e \.:. 202245 M22X1.5 | M45X2.0 | 15 | 35| 39 | 46 | 54 | 41| 50 [ 27 | 328|250 | 160 =
I EH MR, WEERSEM LN, 6C-30LN; NEHEERFERITR, ERSEM 2C-26-45 | M26X1.5 | M45X2.0 | 18 | 35| 38.5 | 46 [ 55 | 41 50 | 32 | 328250 [ 160
“BN” - NEESE . E E BTt = “ ” _ 2C-30-45 | M30X2.0 | M45X2.0 | 22 351405 ] 48 57 [ 41] 5036 [ 331] 250 160
RN_’QDGC.BORN’W%H%*# —FE&—FEQQ!J‘”\’EK?EW l.‘N/RN ’.;ZEGC,,‘Q’OLN/RN 2C36-45 | M36X2.0 | M45X2.0 | 28 | 35| 40.5 | 48 | 57 | 41 50 | 41 | 327 [ 250 | 160
Note:In caseif you are interested to order the adapter with lock nut, please insert suffix “LN” after our part 3C1652 | M16X15 | M52X20 | 10 2415 1485 156 150 60 119 | 5371 250 160
NO, forexample 6C-30LN.order the adapter with cutting ring and nut ,insert suffix “RN" after part NO ,for 3C1852 | MISXL5 | Ms2x20 1 12 | 221415 1485 156 1 501 60 22 1 538 [ 250 160
exampie 6C-30RN order the adapter with lock nutand cutting ring and nut ,insert suffix"LN/RN" after part Co0 50 | M2aX15 | Ms2x20 | 15 | 421425 1495 158 1 50160 | 27 1 534 [ 250 160
6C9 NO,forexample 6C-30LN/RN. 202652 | M26XL.5 | M52X2.0 | 18 | 42| 42 [49.5 | 58 | 50 60 | 32 | 544 | 250 | 160
2C-30-52 [ M30X2.0 | M52X2.0 [ 22 42| 44 1515 [ 60 [ 50| 60 | 36 | 543 | 250 160
6 D 9 2C-36-52 | M36X2.0 | M52X2.0 [ 28 42| 44 1515 [ 61 [ 50| 60 |41 [ 539 250 160
2C-45-52 | M45X2.0 | M52X2.0 | 35 421 43 1535 [ 65 [ 50| 60 [ 50 | 541 ] 250 160
EFIME _ IEEH EMBEHERERFEBSEEITSE, WiSERSEM RN, 112C-22-30W/RN,
6C9/RN \ B THREAD TUBE O.D. RS DIMENSIONS ( bar) Note:In case if you are interested to order the adapter in complete set with cutting ring and
& |E@is = ZC‘ 2D nut,itis necessary to insert suffix “RN” after our part NO. , for example 2C-22-30W/RN.
6D9/RN FIPARTNG ) 12 |o1|o2|oal ] 2| ||| || st | s | S| B A
S4 (CF) |#(SS) ZC/RN‘ ZD/RN
SETIE/i%Gj:T FITTINGS 6C9-12 | M12X1.5 | M12X1.5| 06 | 06 | 17| 19| 12 | 14 |34 |48| 27 | 42| 12 | 17|14| 51 | 315 | 315 NN g
6C9-14 | M14X1.5 | M14x1.5| 08 | 08| 19| 21| 14 | 17|34 |51| 29 [ 42| 12 | 19|17 61 | 315 | 315 REDUCER TUBE ADAPTOR BIIE
R oo 1247 THREAD - R~ DIMENSIONS = | TYEE (bar)
6C9-16 | M16X1.5 | M16X1.5| 10 | 10| 22| 22| 15 | 18 |35|53| 30 [ 43| 14 | 22|19 78 | 315 | 315 WITH SWIVEL NUT =g RS TUBE O.D =
LS N
o 7] 6C9-18 | M18X1.5 | M18X1.5| 12 | 12| 24| 24| 17 | 20 |36 | 56| 32 | 44| 17 | 24|22 85 | 315 | 315 seres| PART NO.[ ™ ol lulel sl s |2 M| B | REW
| [.6C9-22 | M22x1.5 | M22X1.5] 15 | 15 27|28 21 | 23 38|61 36| 46| 19 | 3027|150 315 | 315 Lo S3 (CF) | (SS)
’*7;_1 6C9-26 | M26X1.5 | M26X1.5| 18 | 18|32 31| 23.5| 24 | 40| 64| 40 | 49| 24 | 36|32| 238| 315 | 315 L ;gii miﬁg '\I\"/llli))((llfs’ 82 82 gg g gi iﬁ 1‘7‘ iz 288 gig
= Bk - . .
H”LL| 6C9-30 | M30X2.0 | M30X2.0| 22 | 22| 36|35| 27.5| 30 | 42| 72| 44 | 51| 27 | 4136|327 160 | 160 ) 16 ToiexiaTmioasT 10 T 10 T3 Ta3 15 T 17 1T 19 60 200 T 315
& 6C9-36 | M36X2.0 | M36X2.0| 28 | 28| 42| 38| 30.5| 34 | 43| 77| 47 | 52| 36 | 46|41| 482 160 | 160 2C 2018 TMisxisiMexisl 12 1T 2 136 [ 23 T 51 1 19 1 22 [ 75 400 [ 315
_I.I 6C9-LN 6C9-45 | M45X2.0 | M45X2.0| 35 | 35|50 | 45| 345 39 |47 | 86| 56 | 58| 41 | 55|50( 729| 160 | 160 bl - - }:-—5- ] 2D 2C-22 M22X1.5 [ M22Xx1.5 15 15 36 43 51 24 27 118 | 400 315
n i - -
n 6D9-LN 6C9-52 | M52X2.0 | M52x2.0 | 42 | 42|60 |51| 40 | 43|47 90| 63 | 59| 50 | 65|60|1091| 160 | 160 p - LT 2c26 [ M26x15 | M26X15 | 18 | 18 | 36 1 435] 520 | 27 | 32 | 153 | 400 | 315
6D9-14 | M14X1.5 | M14X1.5| 06 | 06| 19|23 | 16 | 17 |36|53| 31| 44| 12 | 19]17| 72 | 630 | 630 P v ! 2C-30 | M30X2 | M30X2 | 22 | 22 | 40 |[47.5] 56 | 32 | 36 | 210 [ 250 | 160
- 6D9-16 | M16X1.5 | M16X1.5| 08 | 08|22 |24 | 17 | 18|36 54| 32 | 44| 14 | 22|19] 99 | 630 | 630 2C-36 | M36X2 | M36X2 | 28 | 28 | 40 |[47.5]| 57 | 41 | 41 | 279 | 250 | 160
Wil 6D9-18 | M18X15 | M18XL5| 10 | 10| 24| 25| 17.5| 20 |37 57| 34 [ 46| 17 | 24 [22] 128] 630 | 630 s 2C-45 | M45X2 | M45X2 | 35 | 35 | 50 | 60.5] 72 | 46 | 50 | 468 | 250 | 160
[ 60920 | M20XL5 | M20XL5| 12 | 12| 27| 29| 215 | 21 |38 | 59| 38 | 47| 17 | 27|24] 168] 630 | 630 ggfl’i MMl%();ZS &41542)2(125 gé gé gg g gi ii ?g %1082 égg égg
L i u - . .
§ | 60922 | M22XL5 | M22XL5| 14 | 14|2730] 22 | 2339]63] 40 | 50| 19 | 30|27] 194] 630 | 630 016 TMiexisimiexis T 08 108 T 36 23 [ 5L | 0 1 | &4 800 [ 630
6D9-24 | M24X1.5 | M24X1.5| 16 | 16|30 |33 | 24.5| 24 | 40| 64| 43 | 50| 24 | 32|30| 249 400 | 400 ) [ A -— b E] 2D-18 | MI8XL5 M1sxi5 1 10 | 10 1 36 14351 52 | 19 | 22 | 81 | 800 | 630
]E 6C9_LN/RN 6D9-30 | M30X2.0 | M30X2.0| 20 | 20| 36| 37| 26.5| 30 |44 | 74| 48 [ 55| 27 | 41 (36| 390| 400 | 400 Py - 2D-20 M20X1.5 [ M20X1.5 12 12 36 | 435| 52 22 24 97 630 630
6D9-LN/RN 6D9-36 | M36X2.0 | M36X2.0| 25 | 25| 42| 42| 30 | 34 |47 |81| 54 | 59| 36 | 46|46/ 618| 400 | 400 = \s \= 2C/RN o | 2022 [m22x15[M22x15] 14 [ 14 | 40 | 48 [ 58 | 24 | 27 [ 133 ] 630 | 630
6D9-42 | M42x2.0 | M42x2.0 | 30 | 30| 50| 49| 35.5| 39 |51 |90| 62 | 64| 41 | 50|50 889| 400 | 400 2D/RN 2D-24 | M24X1.5[M24X1.5| 16 | 16 | 40 [485| 58 | 27 | 30 | 166 | 630 | 400
. 6D9-52 | M52X2.0 | M52X2.0 | 38 | 38| 60| 57| 41 | 43 |53| 96| 72 | 68| 50 | 6560|1337 315 | 315 2D-30 | M30X2 | M30X2 | 20 | 20 | 46 | 56.5| 68 | 32 | 36 | 265 | 420 | 400
-~ _ e et e o - " . \D 2D-36 | M36X2 | M36X2 | 25 | 25 | 50 | 62 | 74 | 41 | 46 | 466 | 420 | 400
I WNEHHEITR, WBEERSEM LN, J0F6CO-30LN; IEFFERFERITR, ERSEN D42 | M42X2 | M42x2 | 30 | 30 | 56 | 695 83 | 46 | 50 | 601 | 420 | 400
“RN”,#DGC9-3ORN;QD%%‘F%‘:sfﬁ&"ﬁﬁiﬁg"LTE,Efﬁ%)—_ﬁ—ﬁﬂ“LN/RN7’,§D6C9-30LN/RN 2D-52 M52X2 M52X2 38 38 60 76 91 55 60 871 420 315
Note:In caseif you are interested to order the adapter with lock nut, please insert suffix “LN” after our part [P Mgk E=iTLE [jliE = “«pN” B
No, for example 6C9-30LN.order the adapter with cutting ring and nut ,insert suffix “RN” after part NO ,for ﬁc;tiez[':llﬁgﬁﬁﬁaiﬁi%gt?d%)g?\e;gﬂjggﬁg?eﬁﬁgr%pﬁeeﬁle sygcuvgighigt\i\ilégr'}lr?gand
exampie 6C9-30RN order the adapter with lock nutand cutting ring and nut ,insert suffix"LN/RN" after part nut i"tisnecessar to insert suffix “RN” after our part NO. , for example 2C-30W/RN
NO,for example 6C9-30LN/RN. g y P > P :

129 130



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
2D 2C4, 2D4
2D/RN — 2C4/RN. 2D4/RN
oo #247 THREAD BFIMiE TUBE Rt DIMENSIONS = | THEEA (bar)
y £3 I o = b
MRS IR LI R K : T1 2 oL | D2 | u |2 3 | s1 | s2 | s3 ma(cr| & A5 MBS RS R 1 Sk @4 THREAD | EFOME R<  DIMENSIONS TEES
REDUCER TUBE ADAPTOR 2D-14-16 | M14X1.5 [M16X15] 6 [ 8 | 27 421 141 191 17 42 ] 800] 630 45°ELBOW REDUCER TUBE A = . " TUBE 0.D o | (har)
WITH SWIVEL NUT 2D-14-18 | MI4X15 [ MI8X15] 6 | 10 | 27.5 42 | 17 | 22 | 17 | 55 | 800] 630 5l RS B2
2D-16-18 | M16X1.5 [ MI8X1.5| 8 | 10 | 27.5 42 | 17 | 22 | 19 | 58 | 800 630 DAPTORWITH SWIVEL NUT 2N | PARTNO. So || B | FE
2D-14-20 | M14X1.5 [ M20X1.5] 6 | 12 | 29 44 | 17 | 24 | 17 | 66 | 630] 630 1 T T2 | D1} D2 | L1 | L2} L3 | L4 Sl | g (CF) km(ss
" 2D-16-20 | MI6X1.5 [ M20X15] 8 | 12 | 29 44 | 17 | 24 | 19 | 68 | 630] 630
0 %B-ii&g Miiiig m%giig i? ii %?g 12 }g %i %3 ;g ggg ggg o 2C4-12 | M12X1.5| M12X15| 06| 06 | 9 | 16| 26 | 24 | 14| 14 | 37 | 315 | 315
14- . , , - -
D167 TMIeXIs TMaaxial 8 1 12 T35 26 T o T 57 T 19T 90 16301 &30 v , . 2 2C4-14 | M14X1.5| M14X15[ 08| 08 | 12 | 19 |275| 27 | 14| 17 | 49 | 315 | 315
X 2D-18-22 | M18X1.5 [ M22X15] 10 | 14 | 31 47 | 19 | 27 [ 22 | 91 | 630 630 P 2C4-16 | M16X1.5| M16X1.5 | 10| 10 | 12 | 19| 29 | 27 | 19| 19 | 77 | 315 | 315
o e N Y %B'iggi m%gﬁig mgiiig t? ig g% 3? %% %g %? igg ggg 288 2C4-18 | M18X1.5| M18X1.5 | 12 | 12 | 14 [21[295| 29 (19| 22 | 86 | 315 | 315
: - -~ B .
—{ D164 TMIeXLs Tvaaxis 8 T 16 T 32 27T 99 T30 T 19 [ 1141 630 200 iE 5n{§L | [ 2C4-22 | M22X15] M22X15 | 15| 15 | 17 | 24 [325] 32 | 22| 27 | 144 | 315 | 315
M v D 2D-18-24 | M18X1.5 | M24X15] 10 | 16 | 315 48 | 22 | 30 | 22 | 115] 630 400 T 2C4-26 | M26X1.5| M26X1.5 | 18 | 18 |16.5| 24 [35.5| 33 | 27| 32 | 210 | 315 | 315
20-20-24 | MJOX1.5 [ M24X1.51 12 | 16 1 31.5 20 { 22 { 301 24| 1181 6301 400 oo ] | 2C4-30 | M30x2.0| M30x2.0 | 22| 22 |185] 26 [385] 35 [ 30| 36 | 270 [ 160 | 160
2D-22-24 | M22X15 | M24X15] 14 | 16 | 33 51 | 24 | 30 | 27 | 128 630 400 o : : : :
2D-14-30 | M14X1.5 | M30X2.0| 6 20 | 36 51 | 27 | 36 17 | 1721 420 400 = 2C4-36 | M36X2.0] M36X2.0 | 28 | 28 23 [30.5/ 41.5] 40 | 36| 41 | 385 | 160 | 160
2D-16-30 | M16X1.5 [ M30X2.0| 8 | 20 | 36 51 | 27 | 36 | 19 | 174| 420 400 2C4 2C4/RN 2C4-45 | M45X2.0| M45x2.0 | 35| 35 |26.5| 37| 51 | 48 | 50| 50 | 805 | 160 | 160
2D-18-30 | M18X1.5 | M30X2.0| 10 | 20 | 355 52 | 27 | 36 | 22 | 174| 420 400
L3 SD36.30 TVoOXTE TM30X2 0T 12 T 20 322 ST T e T T I T 201 400 D4 2D4/RN 2C4-52 | M52X2.0| M52x2.0 | 42| 42 | 26 | 37| 56 | 49 |50 | 60 | 887 | 160 | 160
2D-22-30 | M22X1.5 | M30X2.0| 14 | 20 | 37 55 | 27 | 36 | 27 | 182] 420 400 2D4-14 | M14X1.5| M14X1.5| 06 | 06 | 9 | 16| 27 | 24 | 14| 17 | 50 | 630 | 630
%g-%jgg %jﬁ?g §g§§8 tf %g ggg gg %Z ig ?g %gi j%g 288 2D4-16 | M16X1.5| M16X1.5| 08 | 08 | 12 |19 |27.5| 27 [ 19| 19 | 80 | 630 | 630
91636 [MIGXL5 TM36x2 0 8 | 25 1385 5332 46 [ 19 | 295 [ 420 400 2D4-18 | M18X1.5| M18X15| 10 | 10 |135[21| 30 | 30 [19] 22 | 95 | 630 | 630
2D-18-36_| MI8X1.5 | M36X2.0| 10 | 25 | 38 54 | 32 | 46 | 22 | 296 | 420 400 2D4-20 | M20X1.5| M20X1.5 | 12 | 12 |165]| 24| 31 | 33 [ 22| 24 | 137 | 630 | 630
T L e R e T T < S | 2D4-24 | M24x1.5] M24x1.5 | 16 | 16 |15.5] 24 [36.5] 34 [ 27] 30 | 217 | 400 | 400
3 /_'K 2D-24-36 M24Xl:5 M36X2:0 16 75 3§ 57 32 46 30 | 304 420 400 2D4-30 | M30X2.0| M30X2.0 | 20 20 16 [26.5/445( 38 | 30| 36 | 313 | 400 | 400 /7K @
E H 2D-30-36 | M30X2.0 | M36X2.0| 20 | 25 | 39 61 | 32 | 46 | 36 | 315| 420 400 2D4-36 | M36X2.0| M36X2.0 | 25 | 25 |18.5|30.5| 50 | 43 [ 36| 46 | 529 | 400 | 400 Y E
= i e e IR N F R TSR I B R AL B = 204-42 | M42x2.0| M42x2.0 [ 30 | 30 [235] 37 [ 55 | 50 |50 [ 50 | 940 [ 400 | 400 g =
»%—JJ"L 2D-18-42 | M18X1.5 | M42X2.0| 10 30 | 435 60 41 50 22 | 405| 420 400 2D4-52 M52X2.0( M52X2.0 | 38 | 38 21 (37| 63 | 52 [ 50| 60 |1055| 315 | 315 -L|L§
2D-20-42 | M2OX1.5 | M42X2.0 | 12 | 30 | 43.5 60 | 41 | 50 | 24 | 405] 420 | 400 A MEFTRERFERIEEITR, WEERSEM RN, @12C4-30W/RN,
2D-22-47 | M22X1.5 | M42X2.0] 14 | 30 | 45 63 | 41 | 50 | 27 ] 408| 420 | 400 Note:In caseif you are interested to order the adapter in complete set with cutting ring and
2D-24-47 | M24X1.5 | M42X2.0] 16 | 30 | 445 63 | 41 | 50 | 30| 412 420| 400 nut, itis necessary to insert suffix “RN” after our part NO, for example 2C4-30W/RN
2D-30-42 | M30X2.0 | M42X2.0| 20 | 30 | 445 66 | 41 | 50 | 36 | 421 420 400
2D-36-42 | M36X2.0 | M42X2.0| 25 | 30 | 45 69 | 41 | 50 | 46 | 439 420 400
2D-14-57 | M14X1.5 [ M52X2.0| 6 | 38 | 47.5 62 | 50 | 60 | 17 | 556 420 315
2D-16-52 | M16X1.5 [ M52X2.0| 8 | 38 | 47.5 62 | 50 | 60 | 19 | 581 420 315
2D-18-52 | MI18X1.5 [ M52X2.0| 10 | 38 | 47 63 | 50 | 60 | 22 | 579 420 315 2C9 . 2C9 / RN
2D-20-52 | M20X1.5 [ M52X2.0 | 12 | 38 | 47 63 | 50 | 60 | 24 | 577 420 315
2D-22-52 [ M22X1.5 [ M52X2.0| 14 [ 38 [ 485 66 | 50 | 60 | 27 [ 579 420] 315 2 D9, 2D9 / RN @1 THREAD | ETME R<  DIMENSIONS TEES
2D-24-52 | M24X1.5 | M52X2.0| 16 | 38 | 48 66 | 50 | 60 | 30 | 580 420] 315 - = TUBE O.D ; _ ( bar)
2D-30-52_| M30X2.0 | M52X2.0 | 20 | 38 | 48 70 | 50 | 60 | 36 | 601] 420 315 0075 S4B L3y g 4B L BE MR E S, % | @S 2
2D-36-52 | M36X2.0 | M52X2.0| 25 | 38 | 485 73 | 50 | 60 | 46 | 615] 420 315 SIhER2 2 ESS 51| PARTNO | . oil ol il ol i3] talsy |52 || B | 5
2CD. 2DC 2D-42-52_ | M42X2.0 | M52X2.0 | 30 | 38 | 49 76 | 50 | 60 | 50 | 6251 420 315 90° ELBOW REDUCERTUBE s3 (CF) |5R(SS)
- ENRERERFEESBREITR, WEERSEM RN, 12D-24-30W/RN, ADAPTORWITH SWIVEL NUT
2 C D/ R N 2 D C/ R N Note:In case if you are interested to order the adapter in complete set with cutting ring and 2C9-12 | MI2X1.5| MI2X1.5 | 06| 06 | 19 | 12 | 26 | 27|12 |12 34 | 500 | 315
- nut,itis necessary to insert suffix “RN” after our part NO. , for example 2D-24-30W/RN. 2C9-14 | M14x1.5| M14x15 | 08 | 08 | 21 14 275 29| 12 |17 43 | 500 | 315
SMELT IR R L 2C9-16 | M16X1.5| M16X1.5 | 10| 10 | 22 | 15| 29 | 30|14 |19 | 58 | 500 | 315
REDUCER TUBE ADAPTOR 2C9-18 | M18X1.5| M18X1.5 | 12| 12 | 24 | 17 [29.5| 32|17 |22 | 81 | 400 | 315
WITH SWIVEL NUT ) 2C9-22 | M22X1.5| M22x1.5 | 15| 15 | 28 | 21 [32.5| 36|19 |27 | 128 | 400 | 315
= =3 ]
e s ¥4 THREAD Tigg%% R DIMENSIONS _ | teEA oan) . 209-26 | M26X1.5| M26X1.5 | 18 | 18 | 31 [23.5|35.5| 40|24 |32 | 197 | 400 | 315
0 s : _ a” 3 209-30 | M30X2.0| M30X2.0 | 22| 22 | 35 [27.5|38.5| 44|27 |36 | 258 | 250 | 160
PART NO. M| BN | R
vvrr. P Tl T2 Dl | D2 | L1 | L2 | L3 |S1|S2)8S3 F) | (ss) 209-36 | M36X2.0| M36X2.0 | 28 | 28 | 38 |30.5]41.5| 47|36 |41 | 370 | 250 | 160
) = _ 2CD-22-24 | M22X1.5| M24x1.5 | 15 | 16 | 32.0[39.0[47.0 | 24| 30 [ 27 | 120 | 400 | 315 " %gg 2C9-45 | M45X2.0| M45%2.0 | 35| 35 | 45 [34.5| 51 | 56| 41 |50 | 593 | 250 | 160
o Y T 2CD-22-30 | M22X1.5 | M30X2.0 | 15 | 20 | 36.0 | 43.0[51.0 | 27 36 | 27 | 173 | 400 | 315
- -52 | M52X2.0| M52X2.0 | 42| 42 | 51 | 40 | 56 | 63|50 |60 | 993 | 250 | 160
el %gg 2CD-26-30 | M26X1.5 | M30X2.0 | 18 | 20 | 35.5|43.0[51.0 | 27| 36 | 32 | 178 | 400 | 315 20952
s\ 2CD-26-36 | M26X1.5 | M36X2.0 | 18 | 25 | 38.0 | 45.5| 54.0 | 32| 46 | 32 | 299 | 400 | 315 2D9-14 | MI4X1.5] M14X1.5 | 06 | 06 | 23 | 16 | 27 | 31|12 |17 | 48 | 800 | 630
2CD-30-36 | M30X2.0 | M36X2.0 | 22 | 25 | 40.0 | 47.5[56.0 | 32| 46 | 36 | 304 | 250 | 160 2D9-16 | M16X1.5| M16X1.5 | 08| 08 | 24 | 17 |27.5| 32|14 |19 | 65 | 800 | 630
L3 - - -
2CD-36-42 | M36X2.0 | M42x2.0 | 28 | 30 | 45.5[53.0[62.0 | 41] 5041 ] 406 | 250 [ 160
2CD36:52 | M36X2.0 | M52x2.0 | 28 | 38 | 49.0] 56.5] 65.0 | 50| 60 | 41 | 573 | 250 | 160 3 2D9-20 | M20X1.5] M20X15 | 12| 12 | 29 |215] 31 | 38|17 |24 | 107 630 | 630
2CD-45-52 | M45%2.0 | M52x2.0 | 35 | 38 [48.0[585[69.0 [ 50| 60 {50 [ 588 250 [ 160 S 2D9-22 | M22X1.5| M22X1.5 | 14| 14 | 30 | 22 | 35 | 40|19 |27 | 146 | 630 | 630
:J 2DC-24-26 | M24X1.5| M26X1.5 | 16 | 18 | 31.5[40.0[49.5 | 27 [ 3230 | 138 ] 400 | 315 ] 2C9/RN 2D9-24 | M24X1.5| M24x1.5 | 16| 16 | 33 |24.5|365| 43|24 |30 | 212 | 630 | 400
2DC-24-30 | M24X1.5| M30X2.0 | 16 | 22 | 34.5[43.0[52.5] 27 3630 | 173 250 | 160
2D9-30 | M30X2.0| M30X2.0 | 20 | 20 | 37 [26.5|44.5| 48|27 |36 | 309 | 420 | 400
2CD/RN 2DC-30 M30X2.0 | M30X2.0 | 20 | 22 | 34.5| 45.0| 56.0 | 32| 36 | 36 | 203 | 250 | 160 |-2|  2D9/RN 9-30
2DC-24-36 | M24X15 | M36X2.0 | 16 | 28 | 36.5| 45.0 | 54.5 | 32 | 41| 30 | 227 | 250 | 160 2D9-36 | M36X2.0] M36X2.0 | 25| 25 | 42 | 30 | 50 | 54|36 |46 | 547 | 420 | 400
2DC/RN 2DC-36 M36X2.0 | M36X2.0 | 25 | 28 | 38.0[50.0| 62.0 | 41| 4146 | 300 | 250 | 160 2D9-42 | M42X2.0| M42x2.0 | 30| 30 | 49 [35.5| 55 | 62| 41 |50 | 744 | 420 | 400
2DC-36-45 | M36X2.0 | M45x2.0 [ 25 | 35 | 40.0[52.0[64.0 | 41] 5046 | 366 250 [ 160 2D9-52 | M52x2.0] M52%2.0 | 38 | 38 | 57 | 41 | 63 | 72150 |60 |1222] 420 | 315
2DC-42-45 [ M42X2.0 | M45x2.0 | 30 | 35 | 41.5[55.0[68.0 | 46| 5050 | 435] 250 [ 160 . = ; ; = pre—
2DC-42-52 | M42X2.0 | M52X2.0 | 30 | 42 | 44.0 | 57.5] 705 | 50| 60 | 50 | 588 | 250 | 160 EZ?D%FH-EE&-EEE?%EIT%, m#ﬁgﬂtva)ﬁﬂu RN ,11D2(‘.h9-3,0W/RNo .
- - - - - Note:In caseifyou are interested to order the adapter in complete set with cutting ring an
2DC-52 M52X2.0 | M52X2.0 | 38 | 42 |45.5|61.5|76.0| 55| 6060 | 701 | 250 | 160 nut, itis necessary to insert suffix “RN” after our part NO, for example 2C9-30W/RN.
A NETRERFERSEEITS, MIEERSEM RN, 902CD-30W/RN,
Note:In case if you are interested to order the adapter in complete set with cutting ring and
nut,itis necessary to insert suffix “RN” after our part NO. , for example 2CD-30W/RN.

131 132



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
BD-W 3C, 3D
BFIME BTG
¥84% THREAD = R  DIMENSIONS TEEH ( bar) = bz o 1247 THREAD R~ DIMENSIONS = [LEEA (bar)
5| PART NO. o - oo lulolelulsls E Ll I oy STRAIGHT TUBE ADAPTERS . T T b1l o2l il 2] s1!| s (mé D ey
BD- / RN \ > €0 | &9 WITH SWIVEL NUT 3C-12 | MI2X1.5 | M12X1.5 | 06 | 06 | 32 | 33 | 14 | 14 | 28 | 500 | 315
. N BC-12 |M12X1.5|M12X1.5| 06 | 06 | 19 | 12 | 26 | 27 | 12 | 14 | 42 | 500 | 315 3c_14 M14X1.5 M14X1.5 w08 T2 T3 T 0 T 17 a Ts00 a8
SRIEI PR AU & = @K BC-14 |M14X1.5|M14X1.5| 08 | 08 | 21 | 14 [27.5| 29 | 12 | 17 | 53 | 500 | 315 L1 3C_16 M16X1.5 M16Xl.5 o 10 T35 T3a T o T 1 5 500 35
BRANCHTEEFITTINGSWITH BC-16 |M16X1.5|M16X1.5| 10|10 | 22 | 15| 29 | 30 | 14 | 19 | 71 | 500 | 315 . -
SWIVELNUT BC-18 |M18X1.5|M18X1.5| 12 | 12 | 24 | 17 [29.5| 32 | 17 | 22 | 97 | 400 | 315 SC18 | MISKLS | MISXI> 112 | 12 | 33 1 34 | 22 | 22 | 71 | 400} 315
* BC-22 |M22X1.5|M22X1.5| 15| 15 | 28 | 21 [325] 36 | 19 | 27 | 159 | 400 | 315 L 3622 | M22X15 | M2IXLS |15 | 15 | S8 | 39 | 97 | 27 | 129 | 400 | 315
L TBC26  [M26x15|M26x15| 18 | 18 | 31 | 235|355] 40 | 24 | 32 | 239 | 400 | 315 326 | MIOXL> (MaoKL> 1 18 | 18 | 36 | 40 | 32 | 32 1 165 | 400 31>
2, . Y xz. m xz. T 27' - YRET > - 3C-30 | M30X2.0 | M30X2.0 | 22 | 22 | 42 | 44 | 36 | 36 | 243 | 250 | 160
BC-W BC-30 | M30X2.0 ) M30X2.0 35 1275] 385 36 | 308 | 250 | 160 3C-36 | M36X2.0 | M36X2.0 | 28 | 28 | 46 | 48 | 41 | 41 | 319 | 250 | 160
11T E:r . BD-W BC-36 | M36X2.0 |M36X2.0 | 28 | 28 | 38 |30.5(41.5| 47 | 36 | 41 | 449 | 250 | 160 3045 | Ma5x2.0 T Ma5x20 135 1T 35 1 28 | 52 1 50 | 50 | 429 | 250 | 160
—— BC-45 | M45X2.0 [M45X2.0 | 35 | 35 | 45 [345| 51 | 56 | 41 | 50 | 679 | 250 | 160 3052 | 52020 I M52x20 122 | 242 1 52 | 57 1| 60 | 60 | 737 | 250 | 160
m BC-52 | M52X2.0 |M52X2.0 | 42 | 42 | 51 | 40 | 56 | 63 | 50 | 60 |1131| 250 | 160 3014 | Miaxis | mMiaxis 106 1 06 | 32 | 33 | 17 | 17 | 41 | 800 | 630
BD-14 |M14X1.5|M14X1.5| 06 | 06 | 23 | 16 | 27 | 31 | 12 | 17 | 63 | 800 | 630 30-16 | Mi6x15 | Miexis | 08 | o8 | 33 | 34 | 19 | 19 | 52 | 800 | 630
jeu BD-16 | M16X1.5|M16X1.5| 08 | 08 | 24 | 17 [27.5] 32 | 14 | 19 | 79 | 800 | 630 30-18 | M18X15 | M18x15 | 10 | 10 | 33 | 35 | 22 | 22 | 74 | 800 | 630
. BD-18 |M18X1.5|M18X1.5| 10 | 10 | 25 175 30 | 34 | 17 | 22 | 113 | 800 | 630 3020 | M20xi5 | M20xis | 12 | 12 | 36 | 38 | 24 | 24 | 95 | 630 | 630
| | . )
T RO % Bcw/rN | BD-22 [M22X15|M22X15| 14 | 14 | 30 | 22 | 35 | 40 | 19 | 27 | 173 | 630 | 630 3024 | M24x1.5 [ M24x15 | 16 | 16 | 39 | 42 | 30 | 30 | 172 | 630 | 400
;?LJ u BD-W/RN BD-24 M24X1.5[M24X1.5| 16 | 16 | 33 | 245|36.5| 43 | 24 | 30 | 239 | 630 | 400 3D-30 M30X2.0 | M30X2.0 | 20 20 44 48 36 36 261 | 420 | 400
2 BD-30 M30X2.0 [M30X2.0 | 20 | 20 | 37 |26.5|44.5| 48 | 27 | 36 | 388 | 420 | 400 3D-36 M36X2.0 | M36X2.0 | 25 25 46 53 46 46 477 | 420 | 400 2
E E'é( BD-36 M36X2.0 [M36X2.0 | 25| 25 | 42 | 30 | 50 | 54 | 36 | 46 | 652 | 420 | 400 3D-42 M42X2.0 | M42x2.0 | 30 30 52 62 50 50 605 | 420 | 400 ?p(( E
= @ BD-42 M42X2.0 [M42X2.0| 30 | 30 | 49 | 355| 55 | 62 | 41 | 50 | 905 | 420 | 400 3D-52 M52X2.0 | M52x2.0 | 38 38 52 67 60 60 826 | 420 | 315 @ =
gy BD-52 | M52X2.0 |[M52X2.0 | 38 | 38 | 57 | 41 | 60 | 72 | 50 | 60 |1462| 420 | 315 A MEFERERREBRSEEITSE, WIEERSEM“RN”, 103C-30W/RN, #5
[ —— SRE=STEE M= . “«pN? R Note:In caseif you are interested to order the adapter in complete set with cutting ring and
’E'mﬁm-ﬁﬁﬁ—ﬁ.ﬁﬁlmgﬂm’WU1EE1t15.EDD RN ’yDBAC 30W/RN° . nut, itis necessary to insert suffix “RN” after our part NO, for example 3C-30W/RN.
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO, for example BC-30W/RN.
1CB-WD BFIE THEA
1CB-W D/RN z| maps 824 THREAD TUBEOD R~ DIMENSIONS .
e
CC-W 5 PART NO. 1 2P b1 [ o2 |ule||ul|s|s|® Eﬁm) T(;gw
- 555 08 7 B AR B A 1CB-12-02WD| M12X1.5 | G1/8"X28 | 06 | 14 [23.5[85] 8 | 23 | 14| 14| 13 | 500 315
CD-W RERURBEH 1CB-12-04WD| M12X1.5 [ G1/4"X19 [ 06 | 19 [ 29[ 10| 12 [ 25 | 19| 14| 28 | 500 315
CC-W/RN BSP THREAD WITH CAPTIVE SEAL 1CB-12-06WD| M12X1.5 | G3/8"X19 | 06 | 22 [30.5]115] 12 | 26 | 22| 14| 44 | 420 315
BT 1CB-12-08WD| MI12X1.5 | G1/2"X14 | 06 | 27 | 33| 12| 14 | 27 | 27| 14| 61 | 400 315
CD-W womm |  BETHREAD | 1afop R~ DIMENSIONS o | TTFEF bar 1CB-14-02WD| M14X15 | G1/8"X28 | 08 | 14 [245/ 95 8 | 24 [ 14| 17| 16 | 500] 315
A Pt %ﬁ —u 1CB-14-04WD| M14X1.5 | G1/4"X19 | 08 | 19 | 29 | 10| 12 | 25 [ 19| 17| 27 | 500] 315
Tl »m 2 plualolcl el B | TN e W 1CB-14-06WD| M14X1.5 | G3/8"X19 | 08 | 22 [30.5[11.5] 12 | 26 [ 22 [ 17| 45 [ 420 160
B4y % = @ik i D2 (CF) | (SS) Yo 1CB-14-08WD| M14X1.5 | G1/2"X14 [ 08 [ 27 [ 33| 12[ 14 [ 26 [ 27 ] 17| 74 | 400 [ 160
GSE R e T N I IS N A W R K T S i R e IR EhEe R
SWIVELNUT CC14 |MI14X1.5) M14X15] 08 | 08 | 21 | 14 |27.5) 29 | 12 | 17 | 53 | 500 | 315 _ 1CB-16-06WD| M16XL5 | G3/8"X19 | 10 | 22 [31.5/12.5] 12 | 27 | 22 | 19| 43 | 420] 630
CC-16 |MI16X1.5| M16X1.5| 10 | 10 | 22 | 15| 29 | 30 | 14 | 19 | 71 | 500 | 315 st 1CB-16-08WD| M16X1.5 | G1/2"X14 | 10 | 27 | 34| 13| 14 | 28 | 27| 19| 71 | 400 630
CCc-18 |[M18x1.5|M18x1.5| 12 | 12 | 24 | 17 [ 295 32 | 17 | 22 [ 97 | 400 | 315 LCBAWD 1CB-18-02WD| M18X1.5 Gl;8"X28 12 | 14 [265[11.5] 8 | 26 | 19 22| 26 | 420 630
- 1CB-18-04WD| M18X1.5 | G1/4"X19 | 12 | 19 [ 31 [ 12| 12 [ 27 | 19 22 31 | 400 630
|| CC22 |M22X15) M22XL5) 15 | 15 | 28 | 21 | 325] 36 | 19 | 27 | 159 | 400 | 315 1CB-18-06WD| M18X1.5 | G3/8"X19 | 12 | 22 [31.5[12.5] 12 | 27 | 22| 22| 41 | 420 630
CC-26 | M26X1.5| M26X1.5) 18 | 18 | 31 |23.5]355) 40 | 24 | 32 | 239 | 400 | 315 1CB-18-08WD| M18X1.5 | G1/2"X14 | 12 | 27 | 34| 13| 14 | 28 | 27| 22 | 67 | 400 400
CC-30 | M30x2.0|M30x2.0| 22 | 22 | 35 [27.5(385| 44 | 27 | 36 | 308 | 250 | 160 1CB-18-12WD| M18X1.5 4"X14 | 1 71141 71271 118[ 250 4
B G3/4" 2 | 323 6| 29 [27]2 8| 250 | 400
Cc36 [M36x2.0] M36x20] 28 [ 28 [ 38 [30.5]41.5] 47 ] 36 | 41 ] 449 ] 250 | 160 LB oWD VoS T auroa [ T8 T o7 [ 2 fd [ 14 | oo {57 o7 | so0 ] 400
CC-W CC-45 | M45X2.0| M45%2.0| 35 | 35 | 45 [345| 51 | 56 | 41 | 50 | 679 | 250 | 160 10822 12WD] M2aXL5 | G3/a™xia | 15 | 32 | 381 151 16 | 30 [ 321 27| 1161 250 315
CD-w CC-52 [ M52X2.0 | M52X2.0| 42 | 42 | 51 | 40 | 56 | 63 | 50 | 60 |1131| 250 | 160 1CB-26-06WD| M26X1.5 | G3/8"X19 | 18 | 22 [33.5 14| 12 | 30 | 27| 32| 66 | 400 400

1CB-26-08WD| M26X1.5 | G1/2"X14 | 18 27 | 36 (145 14 | 31 | 27| 32| 71 | 400 | 400
1CB-26-12WD| M26X1.5 | G3/4"X14 | 18 32 | 38[14.5 16 | 31 | 32| 32| 110| 250 | 400
1CB-30-08WD| M30X2.0 | G1/2"X14 | 22 27 | 38[16.5 14 | 33 | 32| 36| 91 | 250 315
1CB-30-12WD| M30X2.0 | G3/4"X14 | 22 32 | 40 [16.5 16 | 33 | 32| 36| 102 | 250 | 400
1CB-30-16WD| M30X2.0 | G1"X11 22 40 | 43 |17.5] 18 | 34 | 41| 36| 189 | 250 | 400
1CB-36-12WD| M36X2.0 | G3/4"X14 | 28 32 | 41 (175 16 | 34 | 41| 41| 159 | 250 | 400
1CB-36-16WD| M36X2.0 | G1"X11 28 40 | 43 |17.5 18 | 34 | 41| 41| 170| 250 315
1CB-36-20WD| M36X2.0 [G1.1/4"X11| 28 50 | 46 [18.5 20 | 35 | 50| 41| 316 | 250 | 400
1CB-45-16WD| M45X2.0 | G1"X11 35 40 | 46 |17.5] 18 | 39 | 46 | 50 | 226 | 250 | 315
1CB-45-20WD| M45X2.0 [G1.1/4"X11| 35 50 | 48 [17.5[ 20 | 39 | 50| 50| 272 | 250 | 400
1CB-45-24WD| M45X2.0 |G1.1/2"X11| 35 55 | 52 [19.5( 22 | 41 | 55| 50| 423 | 250 | 315
1CB-52-16WD| M52X2.0 | G1"X11 42 40 | 481 19| 18 | 42 | 55| 60 | 324 | 250 | 400
1CB-52-20WD| M52X2.0 |G1.1/4"X11| 42 50 | 50 19| 20 | 42 | 55| 60| 348 250 | 315

CD-14 | MI4XL5| M14X15] 06 | 06 | 23 | 16 | 27 | 31 | 12 | 17 | 63 | 800 | 630
CD-16 | MIGXL5 | M16XL5| 08 | 08 | 24 | 17 |275] 32 | 14 | 19 | 79 | 800 | 630
CD-18 | MIBXL5 | M18XL5| 10 | 10 | 25 | 175] 30 | 34 | 17 | 22 | 113 | 800 | 630
CD-20 | M20XL5 | M20X15| 12 | 12 | 20 |215] 31 | 38 | 17 | 24 | 136 | 630 | 630
2 CD-22 | M22X15| M22X15| 14 | 14 | 30 | 22 | 35 | 40 | 19 | 27 | 173] 630 | 630
17 CCW/RN |5 ™ Cp 58 [M24XL5 | M24X15| 16 | 16 | 33 | 245|365 43 | 24 | 30 | 239 | 630 | 400
CD-W/RN CD-30_| M30X2.0| M30X2.0| 20 | 20 | 37 | 265] 445| 48 | 27 | 36 | 388 | 420 | 400
CD-36 | M36X2.0 | M36X2.0| 25 | 25 | 42 | 30 | 50 | 54 | 36 | 46 | 652 | 420 | 400
CD-42_|M42x2.0 | M42X2.0| 30 | 30 | 49 | 355] 55 | 62 | 41 | 50 | 905 | 420 | 400
CD-52 | M52x2.0 | M52X2.0| 38 | 38 | 57 | 41 | 60 | 72 | 50 | 60 | 1462] 420 | 315

FNEEEENEEESEEITE, IEEXSEM RN, f1CC-30W/RN, 1CB-52-24WD| M52X2.0 |G1.1/2"X11| 42 | 55 [ 52| 19| 22 | 42 [ 55] 60 | 343 | 250 | 315
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, it is A NMEFRERFEBIEREIR, EERSEM“RN”, 1N1CB-30-12WD/RN,
necessary to insert suffix “RN” after our part NO, for exampie CC-30W/RN Note:In caseif you are interested to order the adapter in complete set with cutting ring and

nut, itis necessary to insert suffix “RN” after our part NO, for example 1CB-30-12WD/RN.

133 134



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
1DB-WD/RN 1CG/RN BN TR
T gy THREAD | ETOME R DIMENSIONS THER EiEEL %| mate | FXTHREAD  rugeop, R DIMENSIONS &% | (bar)
REBLRDEL Fafte - TUBEO.D g| (bar) STRAIGHT EITTINGS Il PARTNO. [ 4 2 pi|o2 ||| w|ulsls /@ E(“CT‘?) g;]r(sif)

ER7]
BSP THREAD WITH PART NO. - - o1l o2l i lllalsls B o 55 1CG-12-02 | MI12X1.5] G1/8'X28 | 06 | 14 | 23.5] 85| 8 | 23 | 14 | 14 | 14 | 315] 315
CAPTIVE SEAL (CF) |#(SS) u 1CG-12-04 | M12X1.5] G1/4"X19| 06| 18 | 29 | 10 | 12 | 25 | 19 | 14 | 60 | 315] 315
" Lz 13 1CG-12-06 | MI12X1.5] G3/8"X19| 06 | 22 | 30.5] 11.5] 12 | 26 | 22 | 14 | 45 | 315] 315
U 1DB-14-02WD| M14X1.5| G1/8"X28 |06 | 14 | 275|125 8 | 27| 14| 17| 21 | 500 315 lCe D08 | MIXTa  GLa X4 06 26 T35 1o [ 14 27 [ 27 14 60 3151315
——T 1DB-14-04WD| M14X1.5| G1/4"x19 |06 | 19 | 32 | 13| 12| 28| 19| 17| 35| 800 630 1CG 1CG-14-02 | MI14X1.5] G1/8"X28 | 08 | 14 | 24.5] 85| 8 | 23 | 14 | 17 | 16 | 315] 315
" 1CG-14-04 | MI14X1.5] GI/4"X19| 08 | 18 | 29 | 10 | 12 | 25 | 19 | 17 | 26 | 315] 315
1DB-14-06WD| M14X1.5| G3/8"X19 |06 | 22 | 34.5|15.5) 12| 30 | 22| 17| 52 | 630 630 :EI‘ o n o1t 06 M a caaxls [ 0s T2 1305315 b o T 17 s T3R50
. s 1DB-14-08WD| M14X1.5| G1/2"X14 |06 | 27 39 | 18 14| 33| 27| 17| 83 | 630 | 400 1CG-14-08 | M14X1.5| G1/2"X14 [ 08 | 26 33 121 1427127117174 | 315]| 315
2 10B-16-04WD| M16K15| GL/4'x19 |08 | 19 | 34 | 15| 12[30[ 19 [ 10 ] 41 ] 600] 630 . ‘ o Te M a e T T T T h T T Tl T s o
1DB-16-06WD| M16X1.5| G3/8"X19 [08 | 22 | 34.5|15.5 12| 30| 22| 19| 57 | 800 | 630 1CG-16-06 | M16X1.5] G3/8"X19| 10| 22 [ 31.5] 12.5] 12 | 27 | 24 | 19 | 44 | 315] 315
L\( 1DB-16-08WD| M16X1.5| G1/2"X14 |08 | 27 | 39 | 18 | 14| 33 | 27| 19| 89 | 630 | 400 £t }CG-iG-Og mgﬁg g}%gg }g iz 2?%45 11135 184 %2 g %g g gig gig
St 1DB-18-04WD| M18X1.5| G1/4"X19 [10 | 19 | 34 |145] 12 31| 19| 22| 42| 800] 630 182:12:84 MISXLE Gl;4”Xl9 ST T o o T o T [an s
1DB-WD 1DB-18-06WD| M18X1.5| G3/8"X19 |10 | 22 | 34.5| 15| 12| 31| 22| 22| 55 | 800 | 630 | : 1CG-18-06 | MI18XL5] G3/8"X19| 12 | 22 | 3L5| 12.5( 12 | 27 | 24 | 22 | 43 | 315] 315
" | P —— I 1CG-18-08 | MI18X1.5] GL/2"X14 | 12 | 26 | 34 | 13 | 14 | 28 | 27 | 22 | 67 | 315] 315
s 1DB-18-08WD| M18X1.5| G1/2"X14 | 10 | 27 | 39 |17.5| 14| 34| 27 22 | 97 | 630] 630 kN 1CG/RN 1CG-18-12 | MI18X1.5] G3/4"X14 | 12 | 32 | 37 | 14 | 16 | 29 | 32 | 22 [ 120 | 315] 315
.—_| 1DB-20-04WD| M20X1.5| G1/4"X19 | 12| 19 36 (165 12| 33| 22| 24| 61| 630 | 630 1CG-22-06 | M22X1.5[ G3/8"X19] 15| 22 [32.5/13.5] 12 [ 29 | 24 [ 27 | 56 | 250 250
) 1DB-20-06WD | M20X1.5| G3/8"x19 |12 | 22 [ 36.5| 17| 12 33| 22| 24 | 62 | 630 630 s2 L [ 1€G-22-08 | M22X1.5| Gl/2'X14| 15126 | 351 14 | 14 | 29 | 27 | 27 | 72 | 250 | 250
‘ /;J_\l.: - 1CG22-12 | M22X1.5] G3/4"X14| 15|32 | 38 | 15 | 16 | 30 | 32 | 27 [ 118 | 250 250
O F i e 1DB-20-08WD| M20X1.5| G1/2"X14 |12 | 27 39 | 175 14 | 37| 27| 24| 99 | 630 | 630 . 1CG-26-06 | M26X1.5| G3/8"X19 | 18 | 22 | 33.5] 14 | 12 [29.5] 27 | 32 | 67 | 250 250
g o 1DB-22-06WD| M22X1.5| G3/8"X19 [ 14 | 22 | 38.5]18.5) 12| 36 | 24 | 27| 74 | 630] 630 = = igg%ggg m%gﬁg 8%%}3 12 %g gg ii'? 12 g(l) g g l7122 ggg 328
— s |1DB-22-08WD| M22x1.5| G1/2"x14 |14 | 27 | 41 | 19| 14| 37| 27| 27| 96 | 630] 630 1603008 | M30X2.01 GL2"X14 | 22 26 138 [ 165 14 | 33 | 32 1 36 91 | 160 160
5 4 = 1DB-22-12WD| M22X1.5| G3/4"X14 (14 | 32 | 45 | 21| 16| 39| 32| 27 | 138] 420 | 400 ‘l s 1CG-30-12 | _M30X2.0| G3/4"X14 | 22 | 32 | 40 | 16.5] 16 | 33 | 32 | 36 | 103 | 160 | 160 X8
Sz — " SEE R 1CG-30-16 | M30X2.0] GL"X11 | 22 | 39 | 43 | 17.5] 18 | 33.5] 41 | 36 | 184 | 160 160 7K 2
£ i 1DB-WD/RN 1DB-24-06WD| M24X1.5| G3/8"X19 |16 | 22 | 38.5| 18| 12| 36 | 27 | 30 | 83 | 630 | 400 ]J | 16600 160-36.08 | M36x201 GI/2"X14] 28 26 139 [ 175 14 | 34 | 41 | 41 [141 ] 1601 160 M E
E_Kuh 1DB-24-08WD| M24X1.5 Gl/2"X14 16 27 41 (18.5) 14| 37| 27| 30 91 | 630 | 400 %& 1CG-36-12 M36X2.0 G3/4”Xl4 28 | 32 41 | 17.5] 16 34 41 41 1156 | 160 | 160 _KHHE
81, EYS " L 1CG-36-16 | M36X2.0] GL'X11 | 28| 39 | 43 | 17.5] 18 | 34 | 41 | 41 | 168 | 160 ] 160 ;&2
=X 1DB-24-12WD| M24X1.5| G3/4"X14 | 16 | 32 | 45 |205] 16| 39| 32| 30 | 152] 420] 400 1CG-36-20 | _M36X2.0 | GL.1/4X11| 28 | 50 | 46 | 18.3] 20 | 35 | 41 | 41 | 314 | 160 ] 160 43
1DB-30-08WD| M30X2.0| G1/2"X14 |20 | 27 | 45 |20.5] 14 | 42 | 32| 36 | 142] 420 | 400 CCas12 | Masx2 0] G3/axia | 35 32 T a4 T175] 16 139 |46 150 [202 | 160 160
1DB-30-12WD| M30X2.0| G3/4"X14 [ 20 | 32 | 47 |20.5] 16 | 42 | 32| 36 | 149] 420 | 400 1CG-45-16 | _M45X2.0 Gl”/Xll 35|39 | 46 | 17.5] 18 | 39 | 46 | 50 | 234 | 160 | 160
- 1CG-45-20 | _M45X2.0 | GL.1/4X11| 35| 50 | 48 | 17.5] 20 | 39 | 46 | 50 | 276 | 160 | 160
1DB-30-16WD| M30X2.0| GI'X1l |20 | 40 | 51 |22.5] 18 | 44 | 41 | 36 | 265 420 | 400 1CG-4524 | M45X2.0 | GL1/2X11] 35|55 | 52 | 19.5] 22 | 41 | 55 | 50 | 355 | 160 | 160
1DB-30-20WD| M30X2.0| G1.1/4"x11[ 20 | 50 | 53 |22.5] 20 | 44 | 50 | 36 | 404| 420 | 400 1CG-52-16 | M52X2.0| GL'X11 | 42 | 39 | 48 | 19 | 18 | 42 | 55 | 60 | 327 | 160 ] 160
o 5 v w0 617 0a [ 25 | a7 | 9 | 25| 14 [ o [4e [ a0 [0 icese bunlclienr s Dol Tl Lo Lo sl iolue
1DB-36-12WD| M36X2.0| G3/4"X14 |25 | 32 | 51 | 23| 16 | 47 | 41| 46 | 266| 420 | 400 A MEEEEREEESEEITN, WIBSEASEM RN, 101CG6-30-12/RN; ERSEBERSE
1DB-36-16WD| M36X2.0| G1"X11 |25 | 40 | 53 | 23| 18 | 47 | 41 | 46 | 404| 420 | 400 ﬁﬂ“tD%”JDIC,fG%O-HDQto ed o order the adanter lete setwith cutting rine and
" oe:ncaselyouareln erested to oraerthe adapter in complete set with cuttingring an
1DB-36-20WD| M36X2.0| G1.1/4"X11125 | 50 | S5 | 23| 20 | 47 | 50 | 46 | 411] 420 | 400 nut, itis necessary to insert suffix “RN” after our part NO, for example 1CG-30-12/RN.

1DB-36-24WD| M36X2.0| G1.1/2"X11{ 25 | 55 | 60 | 26| 22 | 50 | 55 | 46 | 549| 315 315
1DB-42-16WD| M42X2.0| G1"X11 |30 | 40 | 55 |23.5| 18 | 50 | 46 | 50 | 344| 420 | 400
1DB-42-20WD| M42X2.0|G1.1/4"X11| 30 | 50 | 57 |23.5| 20 | 50 | 50 | 50 | 418| 420 | 400
1DB-42-24WD| M42X2.0| G1.1/2"X11{ 30 | 55 | 62 |26.5| 22 | 53 | 55 | 50 | 530 315] 315
1DB-52-20WD| M52X2.0(G1.1/4"X11|38 | 50 | 62 | 26 | 20 | 57 | 55 | 60 | 575| 420 | 315
1DB-52-24WD| M52X2.0| G1.1/2"X11{ 38 | 55 | 64 | 26| 22 | 57 | 55 | 60 | 563| 420 | 315
A NMFHFRERFERIERITHE, WIEEAS/EM RN, 11CB-30-12WD/RN.

Note:In caseif you areinterested to order the adapterin complete set with cutting ring and
nut, itis necessary to insert suffix “RN” after our part NO, for example 1CB-30-12WD/RN.

135 136




+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS

1DG

RE:
€

.I.|.L

A MEFRERFEBESERITSR, WEEAS/EM RN, 11CG9-30-120G/RN,
Note:In caseif you are interested to order the adapter in complete set with cutting ring and
nut, itis necessary to insert suffix“RN” after our part NO, for example 1CG9-30-120G/RN.

1DG/RN _ - 1CG9-0G , 1DG9-0G, 1CG9-OG/RN , 1DGI-OG/RN
4 B T < ~ et N . i
L 7 =ape BETHREAD | rjge o . R~ DIMENSIONS #| (bar) 90° R BB L I A HOR BB i ik
STRAIGHT FITTINGS S PART NO. [ o, o ol luloeleluls]s|™ ‘[’?E@ Tg‘gﬂ 90° ELBOW BSP THREAD ADJUSTABLE STUD ENDS WITH O-RING SEALING
1DG-14-02| M14X1.5 | G1/8'X28 | 06 | 14 |27.5/125] 8 | 27 | 14 | 17 | 22 | 400 | 400 EEZVE
Ll . 4% THREAD <+ DIMENSIONS o [THEEH(Db
e s 1DG-14-04| M14X15 | G1/4"X19 | 06 | 18 | 32 | 13 | 12 | 28 | 19 | 17 | 35 | 400 | 400 I'—I‘T-E 7l Eans B TUBE 0.0 RY =82 fﬂfﬁ(‘*a
1DG-14-06] MI4XL5 | G3/8'X19 | 06 | 22 | 34.5|155] 12 | 30 | 22 | 17 | 57 | 400 | 400 Il PARTNO. | gy n o1 ||| B3| u| s |s|s| RIS
1DG 1Dg'12'88 mgﬁg gi/ﬁ"ﬁg gg ig gi 1255 1‘2‘ gg g g ii ;‘88 288 : 9 1069-14-040G | M14x15| 61/4"x19 | 08 [ 14 [ 21 [313] 20| 14 |19 [17] 59 | 315 | 315
:éf- ol iBG_iG-Og V1EXIE 63;8")(19 s T2 sl is T T30 tor T 19 T 55 T 200 1 200 1CG9-16-040G | M16X1.5| G1/a"x19 | 10 | 15 |22 [325] 30| 16 [ 19 [19] 82 | 315 [ 315
= - - =& —_— —1 Y ..
i 10G 16.08| M16XL5 | GL/2'x14 | 08 | 26 | 39 [14.5] 14 [ 33 | 27 | 19 | 100 | 400 | 400 10G9-06 1CG9-18-060G | MI18XL5 G3/8”X19 12 | 17 [ 24368 32| 10 [ 22 22] 96 | 250 | 250
106G 18.04| M18XL5 | GLa'x1o | 10 [ 18 | 34 | 15 [ 12 [ 3L | 10 | 22 | 43 | 400 | 400 —G 1€69-22-080G | M22x1.5] G1/2x14 | 15 | 21 [ 28 [432] 36 | 22 [ 27 [ 27 149 | 250 | 250
= 10G 1806 MI18XL5 | G3/8'x19 | 10 | 22 (3451175 12 [ 31 | 22 | 22 | 56 | 400 [ 400 0 1DGY-OG || [1c6926-080G | M26XL5| Gl/2'x14 | 18 | 235 31 | 46 | 40 | 27 | 27 | 32| 221 | 250 | 250
L4 1DG-18-08| M18X1.5 G1/2"X14 | 10 26 39 [175( 14 34 27 22 97 400 | 400 1CG9-30-120G | M30X2.0| G3/4"X14 22 275 35 52 44 30 32 | 36| 310 160 | 160
1DG-20-04| M20X1.5 | G1/4"X19 | 12 | 18 | 36 [16.5] 12 | 33 | 22 | 24 57 | 400 | 400 1CG9-36-160G | M36X2.0 G1"X11 28 305 38| 56 | 47 | 36 | 41 [ 41| 455 | 160 | 160
‘ 1DG-20-06| M20X1.5 | G3/8'X19 | 12 | 22 |365] 17 | 12 | 33 | 22 | 24 | 57 | 400 | 400 1CG9-45-200G | Masx2.0| G11/ax11] 35 [ 345] 48| 63 | 56 | 48 | 50 | 50| 1043 | 160 | 160
g1 5 1DG-20-08| M20X1.5 | G1/2"X14 | 12 | 26 | 39 |17.5]| 14 | 34 | 27 | 24 | 62 | 400 | 400 1€69-52-240G | M52x2.0| cra/2xa1| 42 | 40 [ 51| es85] 63| 55 [ 55 [ 60| 994 | 160 | 160
9 i 1DG/RN 1DG-22-06| M22X1.5 | G3/8"X19 | 14 | 22 [38.5|18.5] 12 [ 36 | 24 | 27 | 74 | 400 | 400 1DGY-14-040G | M14X1.5| G1/4"X19 | 06 16 | 23 |325[31| 16 | 19 19| 56 [ 315 315
‘ ) S| 1DG-22-08] M22X1.5 | G1/2"X14 | 14 | 26 | 41 | 19 | 14 | 37 | 27 | 27 | 96 | 400 | 400 1DG9-16-040G | M16X1.5| G1/4x19| 08 | 17 [ 24 [ 358 32| 16 [ 19| 19| 88 | 315 315
\se 1DG-24-06| M24X1.5 | G3/8"X19 | 16 | 22 |38.5| 18 | 12 | 36 | 27 | 30 | 83 | 400 | 400 iggggg/ EN 1DG9-18-0606G | M18X1.5| G3/8"x19 | 10 | 17.5[ 25 368 | 34 | 19 | 22 [ 22| 98 | 250 | 250
1DG-24-08| M24X1.5 61;2"X14 16 | 26 | 41 |185| 14 | 37 | 27 | 30 | 92 | 400 | 400 -06/ 1DG9-20-060G | M20XL5| G3/8"X19 | 12 | 215 20 | 36.8| 38 | 19 | 22 | 24| 128 | 250 | 250
L1 1DG-24-12| M24X1.5 | G3/4'X14 | 16 | 32 | 45 | 20.5| 16 | 39 | 32 | 30 | 157 | 400 | 400 1DG9-22-080G | M22XL5| Gl/2'X14 | 14 | 22 | 30 | 432 40 | 22 | 27 | 27| 152 | 250 | 250
e 1DG-30-08| M30X2.0 | G1/2"X14 | 20 | 26 | 45 |205] 14 | 47 | 32 | 36 | 142 | 400 | 400 3 1069-24-080G | M24x15| Gl/2'x14 | 16 | 245 33 | 43 | 43 | 24 | 27 | 30| 234 | 250 | 250
106 30-12[ M0G0 | 634714 [ 20 | 32 | 47 [205] 6 [ 42 | 32 36 [ 15 400 [ 400 iocs 0 1706 wioxao|cxvie |20 a5 1 | 5a | as | a0 | 32 oo ows [ 250 2
" -30- . . " w
9 7K el [ o/ 10G-30-20] M30X2.0 | GLI/4XI11| 20 | 50 | 53 |22.5] 20 | 44 | 50 | 36 | 387 | 160 | 160 1DG9 36.1606 | M3X201 GLXLL | 25 | 30 421 96 | >4 | 36 | 411461 ©33 | 250 | 290 K2
E I 10G.D 106.36.12] M36X2.0 | G3/4"x14 | 25 [ 32 [ 51 [ 23 [ 16 [ 47 [ 41 | 46 | 245 | 250 | 250 1DG9-42-200G | M42x2.0| Gr.1/4x11] 30 [ 355 49| 58 | 62| 41 | 50 [ 50 1085 | 160 | 160 Y E
i I -DQ 10G36.16] M36x20 | orxil T 25 130 T53 T 23 18 [ 27 [ a1 [ 46 [ 267 | 250 | 250 1DG9-52-2406G | M52x2.0| Gr.1/2x11| 38 | 41 | 57 | 685 72| 55 | 55 | 60| 1116 | 160 | 160 =
=] o0
= =)
= =

1DG-36-20| M36X2.0 | G1.1/4X11| 25 | 50 [ 55 | 23 | 20 | 47 | 50 | 46 | 422 | 160 | 160
1DG-42-16| M42X2.0 | G1"X11 30 | 39 | 55 [23.5| 18 | 50 | 46 [ 50 | 337 | 160 | 160
1DG-42-20| M42X2.0 | G1.1/4X11| 30 | 41 [ 57 |23.5| 20 | 50 | 50 [ 50 | 422 | 160 | 160
1DG-52-20| M52X2.0 | G1.1/4X11| 38 | 50 [ 62 | 26 | 20 | 57 | 55 | 60 | 578 | 160 | 160
1DG-52-24| M52X2.0 | G1.1/2X11| 38 | 55 [ 64 | 26 | 22 | 57 | 55 | 60 | 560 | 160 | 160

X BB EERFERERE S, NEERSEM RN, M1CG-30-12/RN, EREERERS S 1CM-WD, 1DM-WD, 1CM-WD/RN. 1DM-WD/RN

mM“DQ”,¥N1CG-30-12DQ, . w
Note:In caseif you are interested to order the adapter in complete set with cutting ring and REITMBES R A i #25 THREAD BEFIE R< DIMENSIONS TR (bar)
nut, itis necessary to insert suffix “RN” after our part NO, for example 1CG-30-12/RN. METRIC THREAD WITH Al Fafs - TUBE 0.D EE |
CAPTIVE SEAL 5| PART NO. T1 2 b1 o2 | ||e|w|s|s |®® fgg? T(gg%m
1CG4-0G 1CM-12-10WD_| M12X1.5 | M10X1 06 14 [235|85| 8 | 23 | 14 | 14 | 13 | 500 | 315
EEZ Y3 u 1CM-14-12WD_| M14X15 | MI2X15 08 17 | 29 |10 |12 | 25 [ 17 | 17 | 22 | 500 | 315
1DG4-0G 7| matns B4 THREAD TUBE 0. R DIMENSIONS g | TFFER (ban) ERNE 1CM16.12WD_| MI6XL5 | MI2XL5 | 10 17 | 30 | 11 [ 12 | 26 | 17 [ 19 | 23 | 500 | 315
5]|  PART NO. T . b1 u il T lsilsy [ s |5 EﬁéﬁFﬂ KZ%S%M ~ 1CM-16-14WD_| M16X1.5 | M14X15 10 19 | 30 |11 [12 [ 26|19 [ 19 29 [ 500 | 315
1CG4-0G/RN . (CF) | (S9) il 1CM-16WD M16X1.5 | M16X1.5 10 22 |315[125[ 12 [ 24 [ 22 | 19 | 40 | 420 | 315
/ 1C64-12-020G | M12X1.5 | G1/8"X28 06 12 1197124 1271111141141 30 | 315] 315 = ﬁ_gg 1CM-16-18WD | M16XL5 | M18X15 10 24 [315[12.5] 12 [ 27 [ 24 [ 19 | 50 | 400 | 315
1DG 4 OG /RN 1CG4-14-040G | M14X1.5 | G1/4"X19 08 14 |21)27 129]14119]17| 50 | 315] 315 1CM-16-22WD_| M16X1.5 | M22X1.5 10 27 | 35 [14 [ 14 | 29 [27 [ 19| 80 | 400 [ 315
= 1CG4-16-060G | M16X1.5 | G3/8"X19 10 15 [22]30 |30]16]22(19] 81 | 315( 315 L 1CM-18-14WD | M18X1.5 | M14X1.5 12 19 | 30 | 11 | 12| 261 19 | 22 | 30 | 400 | 315
= e o 1CG4-18-060G | M18X1.5 | G3/8"X19 12 17 | 2431 |32]19|22|22| 85 | 250 250 5l 1CM-18-16WD | M18X1.5 | M16X1.5 12 22 | 315|125 12 | 27 | 22 | 22 | 40 | 400 | 315
HiEiEk L 1CG4-22-080G | M22X1.5 | G1/2"X14 15 21 | 28] 36 [36]22[27]27]150 | 250 | 250 1CM-WD 1CM-18WD M18X1.5 | M18X1.5 12 24 | 315 | 11 | 12 | 27 | 24 | 22 | 47 | 400 | 315
STRAIGHT FITTINGS 1CG4-26-080G | M26X1.5 | G1/2"X14 18 235 | 31|37.5|40 | 27|27|32|180 | 250 | 250 1DM-WD L [ 1CM-18-22WD | M18X15 | M22X15 12 27 | 35 |125] 14 | 29 | 27 | 22 | 75 | 400 | 315
1CG4-30-120G | M30X2.0 | G3/4"X14 22 27.5 | 35[42.5]|44[30]32[36|276 | 160 | 160 1CM-22-16WD | M22X1.5 | M16X1.5 15 22 | 32 |12 |12 | 28 | 24 | 27 | 51 | 400 | 315
1CG4-36-160G | M36X2.0 | G1"X11 28 30.5 | 38144547 [ 364141453 | 160 160 Y 1CM-22-18WD | M22X1.5 [ M18X1.5 15 24 32 [ 12 [ 12 [ 29|24 |27 | 64 | 400 [ 315
1CG4-45-200G | M45X2.0 | G1.1/4"X11 35 34.5 | 45]150.5| 56 [ 4850 |50 680 | 160 [ 160 "'—“ 1CM-22WD M22X1.5 | M22X1.5 15 27 36 | 14 [ 14 [ 30 [ 27 [ 27 | 77 | 400 [ 315
1CG4-52-240G | M52X2.0 [GL.1/2"X11| 42 40 [ 5154 [63]55[55]60]888 [ 160 160 1CM-26-18WD_| M26X1.5 | M18X1.5 18 24 [335[ 14 | 12 |30 [ 27 [ 32| 68 | 400 | 315
1DG4-14-040G | M14X1.5 | G1/4"X19 06 16 | 23|27 [31[14[19[17] 57 | 315] 315 E 1CM-26-22WD_| M26X1.5 | M22X1.5 18 27 | 36 [145] 14 | 31 | 27 | 32 | 74 | 400 | 315
1DG4-16-040G | M16X1.5 | G1/4"X19 08 17 124127 |132]16]|19]19] 67 | 315] 315 s[“— - 1CM-30-22WD | M30X2.0 | M22X1.5 22 32 | 38 [165] 14 [ 33 |32 |36 [ 97 | 250 | 160
1DG4-18-060G | M18X1.5 | G3/8"X19 10 1751 25| 31 | 34[19)22[22] 92 | 250 250 1CM-30-26WD | M30X2.0 | M26X1.5 22 32 | 40 |16.5] 16 | 33 | 32 | 36 | 103 | 250 | 160
1DG4-20-060G| M20X1.5 | G3/8"X19 12 215 1 29] 31 [38[19]22[24]|100 | 250 250 \s2 1CM-36-33WD | M36X2.0 | M33X2.0 28 40 43 [17.5] 18 | 34 | 41 | 41 | 168 | 250 | 160
S [1DG4-22-080G | M22X1.5 | G1/2"X14 14 22 | 30| 36 |40 [ 22[27 [27]153 | 250 250 1CM-45-42WD | M45X2.0 | M42X2.0 35 50 | 48 [17.5] 20 [ 39 | 50 | 50 | 281 | 250 | 160
Do 30-1706 | MaoKz0 | a/amta |20 | aee |37 {ave T4t 30t a7 36 2ee | 70| o0 1CM-WD/RN Sov--towo | Whaxts T Wizt |06 117 32 13 o s [t 17T 30 T o0 630
1DG4-36.160G | M36X2.0 | GLI'X1L | 25 | 30 | 42|44.5] 54 | 36| 41| 46475 | 250 250 1DM-WD/RN 1DM-16-14WD | MI6XL5 | MI4XL5 | 08 | 10 | 34 | 15 |12 [ 30 | 10 |19 [ 42 | 800 | 630
1DG4-42-200G | M42X2.0 [G1.1/4"X11| 30 | 35.5 | 49[47.5[62 [ 4150 [50[577 [ 160 160 1DM-18-16WD | M18X15 | MI6X1.5 | 10 | 22 |345] 15 | 12 | 31 | 22 | 22 | 54 | 800 | 630
— S — 1DM-20-14WD_| M20XL5 | MI14X1.5 12 19 | 36 |165] 12 |33 | 22 [ 24 | 60 | 630 | 630
A EHERERFERGREIN, WISTERSEM RN, M11CG4-30-120G/RN, 1DM20-18WD | M20XL5 | MISXL5 | 12| 24 | 365 | 17 | 12 | 33 | 24 | 24 | 71 | 630 | 630
Notences Tyouareincresid oproe theatapte n complete st cuting g an o 2 o oo 15 {12 ar 3o (11814 Toe [or [ or [or oo L
1CG4-0G/RN ’ Y P ’ P : S [ 1DM-22-20WD_| M22X1.5 | M20XL5 14 26 | 41 |19 [ 14 [ 37 | 27 | 27 | 98 | 630 | 630
1DGA4-0G/RN 1DM-24-18WD_| M24X1.5 | M18X15 16 24 385 [ 18 | 12 | 36 | 27 [ 30 | 88 | 630 | 400
1DM-24-22WD_| M24X1.5 | M22X1.5 16 27 | 41 [185] 14 | 37 [ 27 [ 30 | 95 | 800 | 400
1DM-30-27WD_| M30X2.0 | M27X2.0 20 32 | 47 [205] 16 | 42 | 32 | 36 | 150 | 420 | 400
1DM-36-33WD_| M36X2.0 | M33X2.0 25 40 | 53 | 23 | 18 | 47 | 41 | 46 | 264 | 420 | 400
1DM-42WD M42X2.0_| M42X2.0 30 50 | 57 [23.5] 20 | 50 | 50 | 50 | 422 | 420 | 400
1DM-52-48WD_| M52X2.0 | M48X2.0 38 55 | 64 | 26 | 22 | 57 | 55 | 60 | 569 | 420 | 315
AR TRERFEBSEEITR, MIEEAS/EM RN, 101CM-30-27TWD/RN,
Note:In caseifyou are interested to order the adapter in complete set with cutting ring and
nut, itis necessary to insert suffix “RN” after our part NO, for example 1CM-30-27WD/RN.

137 138



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
1CH, 1DH, 1CH/RN., 1DH/RN 1CH9-OR, 1DH9-OR, 1CH9-OR/RN, 1DH9-OR/RN
AHISMBLLHE 150 6149 B3 R o .
o | ®mTHREAD | ETE Rt DIMENSIONS - : 90° A FMELLF] AR E 3 1SO 6149 BRI :
METRIC THREAD STUD ENDS 5 ats TUBE 0.D. g = (bar) 90°ELBOW MALE ADJUSTABLE 2l =ans BETHREAD | {O2E0 8 R DIMENSIONS - I(ﬂ'i}afr)jj
1SO 6149 o v o1 |o2| | 2] s ] si]s2 | e Az STUD END SO 6149 2l PART NO =g
(CF) | (59) ' 1 2 D1 | 11 |L2|3|4|s1]s2]s3 TR | A
1CH-12-10 | M12X1.5| M10X1 06 | 14| 24 | 85| 85| 23| 14|14 | 16 | 500 | 315 = (CF) | (S9)
L1
e 1o 1CH-14-12 | MI4X15| M12X15| 08 |17] 28 | 10| 11 | 25] 17)17 | 26 | 500] 315 1CH9-12-100G| M12x15| M10x1 | 06 | 12 | 19(26.5] 27| 11 | 14|14 | 33 315 315
s ICH-16-14 | M16X15| M14X15| 10 | 19| 29 | 11| 1L | 26| 19|17 | 34 | 500 315 \
Tore Tviedsmieas 1o Tl st Thsis 26T 2222 26 a0 3 ; q LCHS-0G 1CH9-14-120G| M14X15| M12x15| 08 | 14 | 21|32 29| 14 | 17|17 | 52| 315 315
<] hk 1CH | [1CH-18-16 | MIBXL5| MI6XL5| 12 | 22| 31 |125]115] 29| 22|22 | 47 | 400 315 = 1DH9-0G | |1CHO-16-140G| MI6XI.5| M14X15 | 10 | 15 | 22| 34| 30|16 | 19]19) 66 315 315
ni— 1DH 1CH-18 M18X1.5 | M18X1.5 12 24| 33 [ 13.5(12.5| 29| 24|24 57 400 | 315 =57 - y ) 1CH9-18-160G| M18X1.5| M16X1.5 12 17 24136132119 2212291 2501 250
5 L[1CH22-18 | M22X1.5 | MI18X15| 15 | 24| 33 |135|125] 29| 24 |27 | 75 | 400 | 315 —
) T R T BT e e T B B B R TR T r 1CH9-22-180G| M22x15| M18x15 | 15 | 21 | 28]39.5| 36 | 22 | 24 | 27 | 132] 250 | 250

—-— 1CH-30-27 | M30X2.0 | M27X2.0 22 32| 40 | 16.5| 16 | 33| 32 (36 | 125 | 250 | 160
- F1CH-DQ 1CH-36-33 | M36X2.0 | M33X2.0 28 41| 41 | 17.5| 16 | 34| 41 (41 | 190 | 250 | 160
1DH-DQ 1CH-45-42 | M45X2.0 | M42X2.0 35 50| 44 | 17.5| 16 | 39| 50 [ 50 | 300 | 250 | 160

1CH9-30-270G| M30X2.0 | M27X2.0 22 275| 35| 50| 44| 30 | 32|36 |302| 160 | 160
1CH9-36-330G| M36X2.0 | M33X2.0 28 30.5| 38| 54| 47| 36 | 41 | 41 | 466 160 | 160

TL
@Dl
T
T2
202

TcH5o28 TVeaa0  wasxaol 4 Tss (2751 19 T1751 221 55 Teo T 381 1 250 | 160 1CH9-OG/RN 1DH9-14-120G| M14x1.5| M12x15 | 06 | 16 | 23|32 ] 31| 14 [ 17|17 54 315] 315

St 1DH-14-12 | M14X15| M12X1.5 6 17031 | 13| 11 | 28| 17]17 | 31 | 800 630 1DH9-OG/RN 1DH9-16-140G| M16X1.5|M1ax15| 08 | 17 | 24| 34| 32| 16 [ 19]19] 68 315 315

La 1DH-16-14 | M16X1.5 | M14X1.5 8 19133 | 15] 11 | 30] 19|19 | 41 | 800 630 1DH9-18-160G| M18X1.5| M16X1.5 | 10 |175| 25| 36| 34|19 | 22|22 93| 250 | 250

IDH-16 | M16X1.5| M16X15 8 22| 35 | 15 | 125] 31| 22|22 | 55 | 800 630

20- M20X1.5 | M18X1. 12 |215][ 29] 37 19 | 24 | 24 | 126] 250 | 2

@ 1CH/RN 1DH-18-16 | M18X1.5| M16X15| 10 | 22| 35 | 15 |125] 31| 22|22 | 56 | 800 | 630 1DH9-20-180G| M20X1.5| M18X1.5 2| 291373819 6] 250 | 250

| E— | IDH/RN Tohis | Misxis Misxis| 1o 1213850 171 12 [ 331 224 | 71 630 630 | s| 1bH-22-2006 | M22x1.5| M20x15 | 14 | 22 [ 30] 40 40| 22 | 27|27 [161] 250 | 250
« S[IDH-20-18 | M20X1.5 | M18X1.5| 12 | 24|385] 17| 14 | 33| 24|24 | 75 | 630 630 1DH9-24-220G| M24x1.5| M22x1.5 | 16 |24.5] 33| 40 43| 24 | 27|30 | 183] 250 | 250 X
7 = Yy 1DH-2422 | M24X15| M22X15| 16 | 27| 42 | 185| 15 | 37| 27|30 | 110 | 630 | 400 7

1DH9-30-270G| M30X2.0 | M27X2.0 20 26.5| 37| 50| 48| 30 | 32|36 |309| 250 | 250
1DH9-36-330G| M36X2.0 | M33X2.0 25 30 [ 42| 54| 54|36 | 41|46 |487| 250 | 250
1DH9-420G M42X2.0 | M42X2.0 30 355| 49|57.2| 62 | 41 | 50 | 50 | 773| 160 | 160

£
£

1DH-30-27 | M30X2.0 | M27X2.0 20 32(49.5|20.5|18.5| 42| 32 (36 | 162 | 420 | 400
1DH-36-33 | M36X2.0 | M33X2.0 25 41| 53 | 23 | 185| 47| 41|46 | 268 | 420 | 400
1DH-42 M42X2.0 | M42X2.0 30 50| 56 | 23| 19 | 50| 50 [ 50 | 384 | 420 | 400

1DH-52-48 | M52X2.0 | M48X2.0 38 55]63.5| 26 [21.5| 57| 55|60 | 539 | 420 | 315 B EEREEE B EEITE, IBERSEM RN, M1CH9-30-270G/RN.

A NEFRERFEBRSEEIR, MIEERSEM RN, 01CH-30-27/RN; FEEEBEENXSE Note:In caseif you are interested to order the adapter in complete set with cutting ring and
n“DQ”,%1CH-30-27DQ nut, itis necessary to insert suffix “RN” after our part NO, for example 1CH9-30-270G/RN
Note:In caseif you areinterested to order the adapter in complete set with cutting ring and nut, itis

£t
£t

=
[
+=
~

wv (%]
[C] o}
Z =
E E
= =
i jnd
w w
o o
=) =)
[ =

necessary to insert suffix“RN” after our part NO, for example 1CH-30-27/RN
1CO, 1DO, 1CO/RN, 1DO/RN
1CH4-O0G\ 1DH4-0G, 1CH4-0G/RN, 1DH4-0OG/RN S
[$BLrOB BB A 3% 1S0 11926 BFM TR
45°ABISMBEETRBAER 150 6149 p——" RABRROLE S A mope|  BETHREAD TUBE| R DIMENSIONS enl (2
BEFIME THEEN UN.UNF THREAD STUD ENDS 21l pamr NG, 0.D e
o 9’225’( THREAD RT_'- DIMENSIONS ~ 7};|J PART NO. Y. ﬁ{*
45°ELBOW MALE ADJUSTABLE z| Eope TUBE 0.D g (bar) B [ R W
2N AR\ = WITH O-RING SEALING T1 T2 D1 D2 | L1| L2 | L3 | L4]| S1|S2
Tl T2 D1 L1 | L2 L3 L4 [S1]|S2| S3 (CF) | (s9) 1C0O-14-04 | M14X1.5 | 7/16"X20UNF 08 13.8] 26] 10 [ 9.1 [ 25| 1717 | 21| 315] 315
A NS 1C0-16-04 | M16X1.5 | 7/16"X20UNF 10 13.8 27| 11 [ 9.1 | 26| 17|19 | 23| 315 315
52 ' 1CH4-12-100G| M12X1.5| M10X1 06 9 16 [ 255| 24 | 11| 14| 14 | 30 | 315 315 L1 1C0O-18-06 | M18X1.5 | 9/16"X18UNF 12 16.8] 28| 11 | 10 [ 26| 19]22| 32| 315] 315
1C0O-18-08 | M18X1.5 | 3/4"X16UNF 12 21.8( 31| 13| 11 | 28| 2422 | 52| 315 315
-14- 2 _, L3
¢ 1CHA4-14-120G | M14X1.5 | M12X1.5 08 12 | 19] 30 20| 14| 17| 17 | 49| 315 315 | 1C0O-18-10 | M18X1.5 | 7/8"X14UNF 12 26.8| 34|14.3|112.7| 29| 27|22 | 77 | 315| 315
=l | N 1CH4-16-140G| M16X1.5 [ M14X1.5 10 12 | 19305 27 (16| 19| 19 | 59 | 315 315 1C0-22-08 | M22X1.5 | 3/4"X16UNF 15 21832 14 | 11 [ 29| 24|27 | 57 | 315]| 315
. b 1C0-22-10 | M22X1.5 | 7/8"X14UNF 15 26.8] 35|15.3|12.7| 30| 27|27 | 81 [ 315 315
=G 1CH4-0G | [ICH4-18-160G| MISXL.5|MI6X15| 12 |14 | 21| 34 | 29 19) 22 22 | 85 250 | 250 - ET | E 1C0-26-08 | M26XL5 | 3/4'X1I6UNF | 18 | 21.8] 33|14.5] 11 | 31| 27|32 ] 68| 315] 315
2 1DH4-OG |L |1CH4-22-180G| M22X1.5 | M18X1.5 15 17 | 24| 38 | 32|22| 24| 27 [121| 250 | 250 1CO L [1C0O-26-10 | M26X1.5 | 7/8"X14UNF 18 126.8]35[14.8{12.7[31| 27|32 | 72| 315] 315
L 1DO 1C0-30-10 | M30X2.0 | 7/8"X14UNF 22 26.8] 37116.8|/14.7| 33| 32(36 | 94 [ 160 | 160
1CH4-26-220G| M26X1.5 [ M22X1.5 18 16.5( 24 | 40.5| 33 | 27| 27| 32 |167| 250 | 250 4 1C0-30-12 | M30X2.0 | 1.1/16"X12UN 55 31813911650 15 133132136 1103 160 | 160
1CH4-30-270G | M30X2.0 | M27X2.0 22 185| 26| 48 | 35|30| 32| 36 |263| 160 | 160 1C0-30-16 | M30X2.0 [1.5/16"X12UN | 22 |40.8]| 40|17.5] 15 | 34| 41[36 |163| 160 | 160
1CO-36-12 | M36X2.0 | 1.1/16"X12UN | 28 | 31.8] 40|17.5] 15 | 34| 41|41 [ 152 160 | 160
1CH4-36-330G| M36X2.0 | M33X2.0| 28 |23 |30.5/49.5| 40 | 36| 41 | 41 |410] 160 | 160 L4 1CO-36-16 | M36X2.0 | 1.5/16'X12UN | 28 | 40.8| 40 |17.5| 15 | 34 | 4141 | 163] 160 | 160
1CH4-45-420G | M45X2.0 |[M42X2.0 | 35 |26.5| 37| 55 | 48 | 48| 50 | 50 |686| 160 | 160 1CO-45-16 | M45X2.0 | 1.5/16"X12UN | 35 |40.8]43/17.5| 15 | 39| 4650 | 222] 160 | 160
= 1C0-45-20 | M45X2.0 | 1.5/8"X12UN 35 49.8| 43175/ 15 | 39| 50|50 | 257| 160 | 160
°I*_ 1DH4-14-120G| M14X1.5 [ M12X1.5 06 9 16 | 30 24 | 14| 17| 17 | 46 | 315 315 I 4 1C0O-52-20 | M52X2.0 | 1.5/8"X12UN 42 49.8| 45| 19 | 15 | 42| 55|60 | 339] 160 | 160
al &4 _ ] 1D0-16-04 | M16X1.5 | 7/16"X20UNF 08 138 31| 13 | 11 | 30| 17|19 | 33 | 630 | 630
}g:i—OG/ER 1DH4-16-140G| M16X1.5 [ M14X1.5 08 12 [ 19305 27 (16| 19| 19 | 59| 315| 315 g+ 1D0-18-06| MI8XL5 | 9/16"X18UNF 10 68 2125 D 131 192 42 6301630
=4 -0G/ 1DH4-18-160G| M18X1.5 [ M16X1.5 10 135( 21| 34 | 30 (19| 22| 22 | 85| 250 | 250 J ) 1CO/RN 1D0-20-06 | M20X1.5 | 9/16"X18UNF 12 16.8| 32(12.5] 12 | 31| 22|24 | 50 | 630 | 630
Y 1D0-20-08 | M20X1.5 | 3/4"X16UNF 12 21.8| 36|14.5| 14 [ 34| 24|24 | 73 | 630 | 630
-20- sz
S 1DH4-20-180G| M20X1.5 [ M18X1.5 12 16.5| 24 | 37 33| 19| 24| 24 |117| 250 | 250 lDO/RN 1D0-24-08 | M24X1.5 | 3/4"X16UNF 16 51.81 3511251 14 | 341 27130 1 90 | 400 | 400
1DH4-24-220G| M24X1.5 [ M22X1.5 16 155 24| 45| 34 24| 27| 30 | 185| 250 | 250 1D0-24-10| M24X1.5 | 7/8"X14UNF 16 26.8]| 40[15.5( 16 | 37| 27|30 | 95 | 400 | 400
S 1D0-30-08 | M30X2.0 | 3/4"X16UNF 20 21.8| 42|17.5| 14 | 42| 32|36 | 132| 400 | 400
1DH4-30-270G| M30X2.0 [ M27X2.0 20 16 [26.5| 48 | 38 (30| 32| 36 |165| 250 | 250 1D0-30-10] M30X2.0 | 7/8"X14UNF 50 36814411751 16 421 32136 1 141] 200 | 200
1DH4-36-330G| M36X2.0 | M33X2.0 | 25  [18.5|30.5| 49.5| 43 | 36| 41 | 46 |410| 250 | 250 1D0-30-12| M30X2.0 | 1.1/16"X12UN | 20 | 31.8] 46]17.5[18.5| 42| 32|36 | 163] 400 | 400
1D0-36-12| M36X2.0 | 1.1/16"X12UN 25 31.8| 50]19.5|18.5| 47| 41|46 | 206[ 400 | 400
1DH4-420G | M42X2.0| M42X2.0 | 30  [23.5| 37 | 54 | 50 | 41| 50| 50 |672| 160 | 160 1D0-36-16 | M36X2.0 | 1.5/16"X12UN |25 | 40.8] 50[19.5[18.5| 47 | 41 |46 | 258[ 400 | 400
ENESEEREERBEEITR, IEEASEM RN, t11CH4-30-270G/RN, 1D0-42-16 | M42X2.0 l.5/l€|5"'X12UN 30 40.8| 52| 20 [18.5] 50| 46 |50 | 327| 400 | 400
Note:In caseif you are interested to order the adapter in complete set with cutting ring and 1D0-42-20| M42X2.0 1'5/8,|X12UN 30 49.8| 52| 20 |18.5] 50| 50| 50 | 422] 400 | 400
nut, itis necessary to insert suffix “RN” after our part NO, for example 1CH4-30-270G/RN 1D0-52-20] M52X2.0 | 1.5/8"X12UN | 38 [49.8] 57[22.5]18.5] 57] 55]60 | 554] 315 | 315
A NEFTRERFEBRSEETR, WIBEERSEM RN, 301C0-30-12/RN,
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, itis
necessary to insert suffix “RN” after our part NO, for example 1CO-30-12/RN

139 140



FEEL

TUBE FITTINGS

FEEL

TUBE FITTINGS

DIN-RE#SL
DIN Bite Type Tube Fittings

DIN-FE ik
DIN Bite Type Tube Fittings

1C04-0G, 1D04-0G, 1CO4-0G/RN. 1D0O4-0G/RN 1CT-SP
BEFIMED
45°75 22 81| 48 457 BT A O BY B 22 5 A o ETIE p— 1 DT - S P ) Eome 240 THREAD TUBE O.D. R~F  DIMENSIONS = T1EEA (bar)
1SO 11926 7 =ars 24 THREAD TOUFE’»)E R<F DIMENSIONS a| “Cbar 1CT-SP/RN PART NO. o - 0 lu o lel wlals | ® EFC%F? T(ggm
45°ELBOW UN. UNF THREAD 5| PART NO. . B — .
ADJUSTABLE STUD ENDS WITH 1 T o1 lulolelulsilolss B RN 1CT-12-02SP | MI2X1.5 | R1/8"X28 06 |22 |15 | 8| 30 [14| 14| 11 | 315 315
(CF) | (59) 1DT-SP/RN 1CT-12-04SP | MI2X1.5 | R1/4"X19 | 06 | 27 | 20 | 12| 35 | 14| 14| 24 | 315 | 315
O-RING SEALING ISO 11926 1C04-12-040G | M12X1.5 |7/16"X20UNF| 06 | 9 | 16 | 29 | 24| 14| 14 |14 | 40 | 315 | 315 1CT-14-02SP | M14X1.5 | R1/8"X28 08 |23 |16 |8 31 [17[17]| 15 | 315] 315
v . . P Dt 1CT-14-04SP | M14X15 | R1/4"X19 08 |27 |20 |12 35 [17] 17| 22 | 315 315
1C04-14-060G | M14X1.5 |9/16"X18UNF| 08 |12 | 19 | 29 |27 | 14| 17|14 | 53 | 315 315 BSPTEMALE LCT-16.043P | M1oXL5 | RUA™X1Y o T o o e T s o TS o
1C04-16-060G | M16X1.5 |9/16"X18UNF| 10 |12 | 19 | 34| 27| 19| 19|17 | 64 | 315 | 315 1CT-18-04SP | M18X1.5 | R1/4"X19 12 29 | 22 |12 37 |19 22| 53 | 315 | 315
1C04-18-080G | M18X1.5 | 3/4"X16UNF | 12 |14 | 21 | 37|28 | 19| 24|22 | 110| 250 | 250 L 1CT-18-06SP | M18X1.5 | R3/8"X19 12 29 |22 |12) 37 |19]22] 33 | 315 | 315
- L2 L [ 1CT-18-08SP | M18X1.5 | R1/2"X14 12 [ 31 |24 |14] 39 [22[22] 53 | 315 315
1C04-22-100G | M22X1.5 | 7/8"X14UNF | 15 |17 |24 |39 (32| 22| 27|27 15| 250 | 250 = 1CT22.065P | M22X1.5 | R3/87X19 5 T30 123 Tl 38 T24 127 49 | 315 | 315
1C04-0G | L|1C04-22-080G | M22X1.5 | 3/4"X16UNF | 15 |17 | 24 | 37|32 22| 24 |22 | 128] 250 | 250 1CT-22-08SP | M22X1.5 | R1/2"X14 15 [ 32 |25 | 14] 40 [ 24| 27] 59 | 315 | 315
1D04-0G 1C04-26-120G | M26X1.5 |1.1/16"X12UN| 18 |17 {24.5| 47 |33 30| 32{32 | 240| 250 | 250 b “‘I A 1CT-26-08SP | M26X1.5 | R1/2"X14 18 |33 |255]14] 42 [27]32] 64 | 315 | 315
- .:gl -t 1CT-30-12SP | M30X2.0 | R3/4"X14 22 |37 |295]16] 46 [32[36] 99 | 160 | 160
1C04-30-120G | M30X2.0 |1.1/16"X12UN| 22 |19 {26.5| 50 | 35| 30| 32{32 | 275/ 160 | 160 1CT-SP 1T 36.169P | M36x20 | RI"X11 58 Ta0 1325118 29 Ta1 a1 1541 160 T 160
1C04-36-160G | M36X2.0 |1.5/16"X12UN| 28 |23 |30.5| 52 |39 | 36| 41 |41 | 429| 160 | 160 . 1DT-SP 1CT-45-20SP | M45X2.0 [R1.1/4"X44| 35 | 45 |345] 20| 56 | 46| 50| 238 160 | 160
e p st 1CT-52-24SP | M52X2.0 [R1.1/2"X11| 42 |49 |38 [22] 61 | 55|60 335] 160 | 160
1C04-45-200G | M45X2.0 | 1.5/8"X12UN | 35 |27 |37.5| 54 | 48| 50| 50 |50 | 670| 160 | 160 IDTi4045p TMantLs | RiAIs oo a0 T 5530 430
':‘E:— 1C04-52-240G | M52X2.0 | 1.7/8"X12UN | 42 | 27| 38 | 54 |49 | 50| 60 |55 | 847| 160 | 160 L4 1DT-16-04SP | M16X1.5 | R1/4"X19 08 325(2551 12140517119 38 | 630 | 630
1C04-0G/RN 1D04-14-040G | M14X1.5 |7/16"X20UNF| 06 | 9 | 16 |30 |24 | 14| 17|14 | 43 | 315 315 1DT-18-04SP | M18X1.5 | R1/4"X19 10 1325125 |12]1415/19]22| 45 | 630 | 630
7 1D04-0G/RN - 1DT-20-04SP | M20X1.5 | R1/4"X19 12 |33 |255] 12| 42 |22 |24 57 | 630 | 630
1D04-16-060G | M16X1.5 |9/16"X18UNF| 08 |12 |19 |33 |27 19| 19|17 | 62| 315 315 10 1DT-20.065P | M20XL5 | R3/87X19 1 T34 T265T 121 43 T22 22T 62 T 630 | 630
1D04-18-060G | M18X1.5 |9/16"X18UNF| 10 |13 {20.5| 33|29 19| 19|17 | 70 | 250 | 250 s | LDT-22-06SP [ M22XL5 | R3/8"X19 14 | 36 | 28 | 12| 455[ 24| 27| 77 | 630 | 630
9 0 . 1DT-22-08SP | M22X1.5 | R1/2"X14 14| 40 | 32 |14 49.5[ 24 27| 89 | 630 | 630 P
azo;K 1D04-20-080G | M20X1.5 | 3/4"X16UNF | 12 |17 {24.5| 36 |33 | 22| 24|22 | 125| 250 | 250 LCT-SP/RN IDT24.065F VXL | R3/a7X1o T3 st T a6 o 30 s 400 400 ;Kg
E»ﬁ S| 1D04-24-100G | M24X1.5 | 7/8"X14UNF | 16 |16 |23.5| 45 |34 | 27|27 |27 | 17 | 250 | 250 1DT-SP/RN 1DT.24.085p | M2aXL1.5 | RI/2°X14 6 Ta0 315114150 T 130T 97 T 200 T 200 *‘KE
gﬂ‘f 1D04-30-120G | M30X2.0 |1.1/16"X12UN| 20 |16 |36.5| 50 | 38| 30| 32|32 | 310| 250 | 250 1DT-30-12SP | M30X2.0 R3§4”X14 20 46 |355|16| 57 |32 36| 149| 400 | 400 ﬂf;
> 1DT-36-12SP | M36X2.0 | R3/4"X14 25 |49 | 37 |16 61 |41[ 46| 240 400 | 400 >
~ " =
1D04-36-160G | M36X2.0 |1.5/16"X12UN| 25 |30 | 42 | 52 | 54| 36| 41 |32 |486| 250 | 250 1DT36.165p | M36x20 | RI"X1L 55151 T35 18 &3 T2t a6 278 | 200 T 200
1D04-42-200G | M42X2.0 | 1.5/8"X12UN | 30 |24 |37.5| 54 |50 50| 50 |50 |662| 160 | 160 1DT-42-16SP | M42X2.0 | R1"X11 30 [52.5] 39 |18 655] 46| 50| 343 400 | 400
1004.52.240G | M52X2.0 | L7/8'X12UN | 38 | 21| 37 | 54 | 52| 50| 60 | 55 | 837| 160 | 160 1DT-42-20SP | M42X2.0 [R1.1/4"X11| 30 |54.5]| 41 | 20| 67.5| 46| 50| 397 | 400 | 400
1DT-52-20SP | M52X2.0 [R1.1/4"X11| 38 |59 | 43 [ 20| 74 | 55| 60| 535| 315 | 315
FNEHRERRERSREITR, WEERSEM RN, 111C04-30-120G/RN, 1DT-52-24SP | M52X2.0 | RL1/2"X11| 38 | 61 | 45 | 22| 76 | 55| 60| 571| 315 | 315
Note:In case if you are interested to order the adapter in complete set with cutting ring and ENESEEREEESEEITE, IEERSEIM RN, f1CT-30-12SP/RN
nut, itis necessary to insert suffix “RN” after our part NO., for example 1C04-30-120G/RN. /Note:FI? caseifyouare interested;o ord:rthe ad:pter in complete set with cutting ring and
1 CT9 S P nut,itis necessary to insert suffix “RN” after our part NO, for example 1CT-30-12SP/RN.
1C09-0G, 1D09-0G, 1C0O09-0OG/RN, 1D0O9-0G/RN
\ X e 1DT9-SP w75 E] - THEN
90758 =l R I FIOZE B 2 T #24 THREAD Brite R~ DIMENSIONS THFET 2| afts RELTHREAD  |Tuseop| /T DIMENSIONS s (bar)
1SO 11926 A Egns s TUBE 0.D g8 (bar) ICTg-SP/RN 5/| PART NO. S e [RE@
90°ELBOW UN.UNF THREAD 7| PARTNO. T1 T2 DI [Ll|L2|L3]| L4 [S1|S2|S3 i EZ%’E'? f@w 1DT9 SP/RN T 12 s el el Bl e Bl e B (CF) | (s3]
ADJUSTABLE STUD ENDSWITH 1C09-12-040G | M12X1.5 | 7/16"X20UNF | 06 13| 20 (272 28 |11{17114| 42| 315 315 1CT9-12-02SP | M12X1.5 | R1/8"X28 06 19| 12 | 20| 8|27|12|14| 30 | 315 315
O-RING SEALING SO 11926 1C09-14-060G | M14X1.5 |9/16"X18UNF | 08 |15.5(22.5|31.8] 30.5| 14| 19]17] 60 | 315 | 315 90° T E IMEL 1CT9-12-04SP | M12X1.5 |RI/4"X19| 06 | 21 | 14 |26 [12{29[12|14| 47 | 315] 315
1C09-16-060G | M16X1.5 [9/16"X18UNF | 10 | 17 [ 24 [ 34 | 32 [16]19]19] 70| 315] 315 90°ELBOW BSPT MALE 1CT9-14-04SP | M14x1.5 |R1/4"X19| 08 | 21| 14 [26[12]29(12|17] 46 | 315 315
o 1C09-18-080G | M18X1.5 | 3/4"X16UNF | 12 | 19 | 26 | 38 | 34 [ 19]24[22118] 250 | 250 1CT9-14-02SP | M14X1.5 | R1/8"X28 | 08 | 21 | 14 |26|8|29]|12|17| 49 | 315] 315
1C09-22-100G | M22X1.5| 7/8"X14UNF | 15 |21 | 28 | 43 | 36 [22|27]27| 168 250 | 250 12 1CT9-14-06SP | M14X1.5 R3/8:Xl9 08 24 | 17 |28112]32|17]17| 94 | 315| 315
| [[109-22-080G | M22X1.5 | 3/4"X16UNF | 15 |21 | 28 | 41 | 36 | 22|24 ]27]144] 250 | 250 o | [ACT9-16:04SP | M16X1.5 R1/4"X19 10 [ 22|15 |27]12]30]14]19| 61 | 315] 315
| 1C09-26-120G | M26X1.5 [1.1/16"X12UN| 18 | 24 [31.5| 49 | 40 |27]32]32] 265 250 | 250 2 | 3 1CT9-16-06SP | M16X1.5 | R3/8"X19 | 10 | 24 | 17 | 28112321719 ] 87 | 315) 315
A8 s /) 1009-0G 1C09-30-120G | M30X2.0 [L.1/16"X12UN| 22 | 28 [35.5] 52 | 44 |30]32[36[313] 160 | 160 447 1CTS-18-065P | MISX15 | RS/8'X19] 12 | 24 | 17 |28|12/32]17]22 | 88 | 315 | 315
TG 1009.0G 1C09-36-1206 | M36X2.0 [L1/16'X12UN| 28 |33.5] 41 |57.5] 47.8] 36|32 41] 410] 160 | 160 s 1CT9-SP 1CT9-18-045P | MI8X15 |RIM'X19) 12 | 24| 17 | 27|12)32]17/22 | 80 | 315 | 315
E 1C09-36-160G | M36X2.0 [1.5/16"X12UN| 28 | 31 [38.5] 59 [ 47 | 36]41]41]500] 160 | 160 . 1DT9-SP 1CTS-16-085P | MISXL5 | R1/2'X14] 12 | 28 | 21 |34|14/36]19]22 | 89 | 315 315
1C09-45200G | M45X2.0 | 1.5/8"X12UN | 35 | 38 |48.5| 63 | 59 | 48|50 |50 585| 160 | 160 1CT9-22-085P | M22X15 | RI/2'X14] 15 | 28 | 21 | 34114)36]19]27 ] 94 | 315 315
1C09-52240G | M52X2.0 | 1.7/8"X12UN | 42 | 38 | 49 | 64 | 61 |50|5560]582| 160 | 160 iggﬁi‘giz miiiiz Ei/i"iig éz 2; 213: ;2 1‘2‘ ‘3“1) i;‘ ﬁ 15461 iég iég
1D09-14-040G | M14X1.5 [7/16"X20UNF | 06 | 15 | 22 | 32 | 30 | 14]17[17]199] 315 315 1DT9'14'065P VIV R3§8"X19 e T T sl T Ter Ta00 400
1D09-16-060G | M16X1.5 [9/16"X18UNF | 08 | 17 | 24 [ 37| 32 [16]19]19]226] 315 315 lDT9_16>04SP TG ~axas o5 T2a |17 [ (123212119 73 Ta00 | 400
1D09-18- M18X1.5[9/16"X18UNF | 10 | 18 [25.5] 38 | 34 [ 19]19]22|236] 250 | 250 - — -
1CO9-OG/RN 1083 12 8282 M18XL.5 3//4"X16UNF 10 [19.5 27 [37.5] 36 | 19]24|22] 281 250 | 250 iglg-ggsm 10T9-16-06SP | M16X15 | RS/8'X19| 08 | 25 | 18 | 28112)33]17]19] 63 | 400 | 400
1D03-OG/RN lDO9-20-0806 M20Xl.5 3/4"X16UNF | 12 2 295 pm 38 [22]24]24311] 250 | 250 LDTO-18-06SP | M18X1.5 |R3/8'X19] 10 | 25 |175]28|12|34]17]22 104 | 400 | 400
T '22'1 XL 7/8"X14UNF o Ts0alaa T ar T lar T a8 250 oo S | 1DT9-18-04SP | M18X1.5 |R1/4"x19| 10 | 25 [17.5[28|12[34]17]22] 59 | 400 | 400
S| 1D09-22-100G S|/ . : 1DT9-18-08SP | M18X1.5 |R1/2"X14| 10 | 30 [22.5[32[14[39]19]22] 98 | 400 | 400
y 1D09-24-100G | M24X1.5 | 7/8 X%4UNF 16 | 24 [32.5]46.5] 42.5| 2427 30] 348 250 | 250 1DT920:065p | M20XL5 |R3/ax1o| 12 | 29 |215] 28 | 12| 38|17 |24 | 126 | 400 | 400
‘ 1D09-30-1206 | M30X2.0 1.1/16"X12UN 20 |28 [38.5] 56 | 49 [30[32(36]430] 250 | 250 1DT9.20.085P | M20XL5 |Ri/Z'X1a| 12 | 30 [22.5]32] 14|39 19|24 [ 97 | 400 | 400
1D09-36-160G | M36X2.0 1.5/16; Xx12UN| 25 |30 | 42 [57.5] 54 [36]41|46]510{ 250 | 250 10T922.085P | M22X15 |RU2'X14| 12 |30 | 22 [32|14|40] 19 |27 | 101 | 200 | 400
1D09-42-200G | M42X2.0 [ 1.5/8"X12UN | 30 | 36 [49.5| 69 | 62 | 46]50]50|695] 160 | 160 1DT924.085P | M24XL5 |RL2'X14| 16 | 33 | 24.5]32 | 14| 43|24 |30 | 150 | 400 | 400
1D09-52-240G | M52X2.0 | 1.7/8"X12UN 38 [34]50 |70 65 [50(55(60]629( 160 | 160 : " -
/ A NEFRERFERSRER, WIEERASEM RN, 101CT9-30-12SP/RN,
A NEFEERFERSEEITS, MEENRSHEIM RN, 101C09-30-120G/RN, Note:In case ifyou areinterested to order the adapter in complete set with cutting ringand
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, itis necessary to insert suffix“RN” after our part NO, for example 1CT9-30-12SP/RN
141 nut, itis necessary to insert suffix “RN” after our part NO., for exampie 1C09-30-120G/RN. 142




+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
1CN 1CN9
2% THREAD EFIMZE <+ DIMENSIONS TEED BEFINR -
1CN/RN 5| rans B TUBE O.D. R g5 |  (ban 1DN9 o #47 THREAD Tuseop| ~ RT  DIMENSIONS g [LIFE (b2
1 . 4 S [ S
. o T1 7 b |u |2 | || |s|®* e T 1CN/RN Pl PARTNO | o) T2 bt | ||| ||| P 5(’?]5) ?ré*fgm
RIS 1CN-12-02 | M12X1.5 | 1/8"X27NPT 6 24 | 17 |10 [32[12[14] 12 [ 315 [ 315 .
NPT AL RV A e e AmIREE AR Tt 1DN9/RN T e
1CN-12-06 2X1.5 | 3/8"X18NPT 6 30 | 23 [14.5[38[ 1914 32 [315 | 315 = - . :
" 1CN-12-08 2X1.5 /2"X14NPT 6 36 29 1954422 14| 53 | 315 | 315 e e 1CN9-12-06 | M12X1.5 Z3/8"X18NPT 06 25 | 18 | 28 | 14.5(33 | 17|14 | 55 | 315 | 315
N 1CN-14-02 2X1.5 | 1/8"X27NPT 3 55 118 110 1331141171 16 13151 315 90° TR HHE IMRL 1CN9-14-02 | M14X1.5 |  71/8"X27NPT 08 21 14 [ 26 10 [29]12]17 [ 48[ 315 [ 315
s 1CN-14-04| M14X1.5 | 1/4"X18NPT 8 30 | 23 [145[38[17[17[ 25 [315 [ 315 90° ELBOW NPT MALE 1CN9-14-04 | M14XL5 |  Z1/4"X18NPT 08 21 | 14 |26 [145] 29| 12]17 [ 47 | 315 [ 315
}gm-}j—gg mjﬁg igﬁimﬁl g gg %g ig-g ii %g }; gi g}g gig 1CN9-16-04 | MI6XL5 [  Z1/4"X18NPT 10 22|15 [27]145]30] 1419 [ 61| 315 | 315
=14 : : 1CN9-16-06 | M16X1.5 |  73/8"X18NPT 10 24 | 17 |28 [145] 32| 17]19 [ 92 | 315 [ 315
=8| - 1CN-16-02 | M16X1.5 | 1/8"X27NPT 10 25 | 18 [ 10 [33[17[19] 19 [ 315 [ 315 T2 -
]— 1CN-16.04 | MI6XL5 | 1/4"X18NPT 10 31T 24 1145130171101 25 1315 [ 315 R < [ ACNo-16:04 | MisxL5 | 71/4'X18NPT 12 24 | 17 |28 [145] 32| 17]22 [ 82 | 315 [ 315
= 1CN-16-06 6X1.5 3/8"X18NPT 0 32 25 |145[40] 19|19 40 | 315 | 315 " 1CN9-18-06 | M18X1.5 Z3/8"X18NPT 12 24 | 17 | 28 14532 (17|22 | 92 | 315 | 315
st 1CN-16-08 6X1.5 | 1/2"X14NPT 0 37 [ 30 [19.5(45] 221 19] 54 | 315 | 315 1CN9-18-08 | M18XL5 |  Z1/2"X14NPT 12 28 | 21 [ 3419536 19]22 [ 90 | 315 [ 315
1CN 1CN-16-12 6X1.5 | 3/4"X14NPT 0 38 | 31 [19.5[4630]19] 93 315 | 315 ==l - — 1CN9-22-08 | M22XL.5 |  Z1/2"X14NPT 15 28 | 21 |34 ]195] 36| 19]27 [ 89 | 315 [ 315
1CN-18-02 | M18X1.5 | 1/8"X27TNPT 12 26 | 19 | 10 |34119)22] 52 | 315 | 315 _)@ 1CN9 1CN9-26-08 | M26X1.5 |  Z1/2"X14NPT 18 31 [23.5] 36 [19.5] 40 2432 [ 150 315 | 315
1CN-18-04| M18X1.5 | 1/4"X18NPT 12 |32 {25 |145140119122] 31 |315 ] 315 Lz 1DN9 1CN9-30-12 | M30X2.0 | _ Z3/4"XI4NPT 2 35 | 27.5| 42 | 19.5] 44 | 27|36 | 176] 160 | 160
= 1CN-18-06 1 MISXL5 | 3/8'X18NPT 12 32 125 1145140119429} 37 1315 | 315 = 1CN9-36-16 | M36X2.0 |  ZI"XIL.5NPT 28 38 [ 30.5 48 [24.5] 47| 36 [ 41 [ 314] 160 | 160
1CN-18-08 | M18X1.5 | 1/2"X14NPT 12 37 | 30 [19.5[45[24[22[ 62 315 [ 315 : - -
| L 1CN-22-06 | M22X1.5 3/8"X18NPT 15 33 26 |145]41] 2427 53 | 315 | 315 1CN9-45-20 | M45X2.0 Zl.l/4”Xll.5NPT 35 45 1345 54| 25 | 56 (41|50 | 465| 160 | 160
T 3 1CN-22-08 | M22X15 | 1/2"X14NPT 5 38 | 31 |19.5146]| 24 27] 63 | 315 | 315 1CN9-52-24 | M52X2.0 | Z1.1/2"X115NPT | 42 51| 40 | 61] 26 [ 635060 [849] 160 | 160
§+—1— T 1CN-22-12 | M22X1.5 | 3/4"X14NPT 5 39 | 32 [19.5[47[30[27] 112]315 [ 315 1DN9-14-04 | M14X15 |  Z1/4"X18NPT 06 23| 16 | 26 145 31| 12]17 [ 56 | 630 [ 400
- | 1CN-22-16 | M22X1.5 | 1"X11.5NPT 5 45 | 38 1245/53|36|27| 158|315 | 315 1DN9-16-04 | M16X1.5 |  Z1/4"X18NPT 08 24 | 17 | 2714503214 (19 | 73 | 630 | 400
}g“gg'gg m%gﬁg ig,,ﬁfmg }g 3‘9‘ %?g ig‘g ig g g% ?g gig gig 1DN9-16-06 | M16XL5|  73/8"X18NPT 08 25 | 18 | 28 |14.5] 33| 17|19 | 77 | 630 | 400
52 TN o1 [ MoeXL s T 3 4"XIANPT 15 39315105 (28130 32 1041 315 | 315 1CN9/RN 1DN9-16-08 | MIGXLS | Z1/2"XI4NPT 08 30 | 23 [34]195[38]19[19 | 75 | 630 | 400
0 1CN-26-16| M26X1.5 [ 1"X11.5NPT 18 45 [37.5[24.5[54[36[32] 159]315 | 315 1DN9/RN 1DN9-18-04 | M18X1.5| Z1/4"X18NPT 10 25 [175] 28 |14.5/ 341 17|22 | 96 | 630 | 400 m
2K 1CN-30-06 | M30X2.0 | 3/8"X18NPT 22| 36.5] 29 [14.5]45]32]36] 91 [ 160 | 160 1DN9-18-06 | M18XL5|  Z3/8"X18NPT 10 25 [17.5] 28 [14.5[ 34 [ 17| 22 | 98 | 630 | 400 A G
E ¥ 1CN-30-08| M30X2.0 | 1/2"X14NPT 22 41 [335[19.5[50[32[36] 96 | 160 | 160 5[ LDN9-20-06 | M20XL5 | 73/8"X18NPT 12 29 [22.5] 28 [14.5] 38| 17 [ 24 [123] 630 [ 400 Y E
= il 1CN-30-12 | M30X2.0 | 3/4"X14NPT 22 41 13351195150136]36] 108] 160 | 160 1DN9-20-08 | M20XL5 |  Z1/2"X14NPT 12 30 22,534 [19.5[39 | 19|24 | 107 630 | 400 flf =
=3 }gmggig Mggg-g % /Z‘*)%iil\NIE %g 12 gig %gg g? ﬁ 2? g‘?* Jlgg 128 1DN9-22-08 | M22X15 |  Z1/2"X14NPT 14 30 | 22 | 34 [19.5] 40| 19|27 | 103] 630 | 400 =]
= -30- . . . " =
N3 16 T MIE 0 | I ™i1aNPT 58 1 T30 oa 2541 a1 197 1e0 T 160 1DN9-24-08 | M24XL5 | Z1/2"XI4NPT 16 33 [245] 36 [19.5] 4324 [30 | 157] 400 | 250
1CN-3620 | M36X2.0 [T.1/4"X1L5NPT 78 29 Ta15T 25 Tes 4 2412661160 T 160 1DN9-30-12 | M30X2.0 |  Z3/4"X14NPT 20 37 [ 26.5] 42 [19.5] 48 [ 27 [36 | 205] 400 | 250
1CN-45-16 | M45X2.0 | 1"X11.5NPT 35 50 | 39.5245161] 46|50 280] 160 | 160 1DN9-36-16 | M36X2.0 Z1"X11.5NPT 25 42 | 30 | 48 [24.5/ 54| 36|46 | 381| 400 | 250
1CN-45-20 | M45X2.0 [1.1/4"X11.5NPT 35 51 [40.5] 25 [62]|46|50( 285] 160 [ 160 1DN9-42-20 | M42X2.0 | Z1.1/4"X11.5NPT 30 49 [355[ 54| 25 [ 62 41|50 | 598 | 400 | 250
1CN-52-20 [ M52X2.0 |1.1/4"X11.5NPT 42 53 | 42 [ 25 |65|55]60] 382] 160 [ 160 1DN9-52-24 | M52X2.0 | Z1.1/2"X11.5NPT 38 57| 41 | 61| 26 | 72| 50|60 [1029] 315 | 200
1CN-52-24 | M52X2.0 |1.1/2"X11.5NPT 42 53 | 42 | 26 [65]55]60( 377|160 [ 160

Srpprr—r ~ - = Fr s A NFHERERREESEEITE, MBEEASEM RN, #11CN9-30-12/RN,
A NFEERELRERGEEITE, WIHENASEM RN, 01CN-30-12/RN, Note:In caseif you are interested toJordertheadapterincompletesetwith cutting ring and

Note:In caseif you are interested to order the adapter in complete set with cutting ring and it i i “RN” -30-
nut, it is necessary to insert suffix “RN” after our part NO, for example 1CN-30-12/RN. nut, itis necessary to insert suffix “RN” after our part NO, for example 1CN9-30-12/RN.

EFIMZ - -
1 D N =| mats 247 THREAD TUBE O R~  DIMENSIONS = | TFEEA ( bar) 2 M C - W DW 5 THREAD PO S DIVENSIONS T (b
1 D N / R N 5| PART NO. 1 T D1 ulola!lwls| s B BN |TER = Eape . TUBEO.D =
(| G 2MD-WDW 5| PART NO 2t
i 1 b2 1DN-14-02 | M14X15| Z1/8"X27NPT 6 28 | 21 [ 10 | 36 |14 [ 17 [ 21| 630 | 630 : T ™ bt o2l | lst|s Efgﬂrﬂ THER
e ool g L s Lo bp bed e Lo e L s .
1DN-14-08 | M14X1.5 | Z1/2"XI4NPT 6 42 | 35 [195] 50 | 22 | 17 | 71| 630 | 630 NHIPIRL24° 0B B % £ 2MC-10-12WD | M10X1 M12X1.5 06 | 141245/ 8 | 14]14 ) 27 ] 500} 315
L 1DN-16-04 | MI6X15 | Z1/4"X18NPT 8 35 | 28 | 145 43 | 17 | 19 | 38 | 630 | 630 METRIC THREAD WITH 2MC-12-14WD | M12X1.5 | M14X1.5 08 |17 |265|12 | 17|17 | 45 | 500 | 315
1DN-16-06 | M16XL5 | Z3/8"X18NPT 8 35 | 28 | 145 43 | 19 | 19 | 46 | 630 | 630
L2 — 1DN.16:08 | MIEXLS | 2L /3"XIANFT 5 T e T 5 T T 15 T3 a0 6% CAPTIVE SEAL 2MC-14-16WD | M14X1.5 | M16X1.5 10 |19 |275|12 | 19|19 | 57 | 500 | 315
1DN-18-04 | MI8X1.5| Z1/4"XI8NPT 10 35 | 275 | 145 | 44 | 19 | 22 | 45| 630 | 630 ° 2MC-16-18WD | M16X1.5 | M18X1.5 12 | 2230512 | 2222 | 8 | 400| 315
1DN-18-06 | MI8XL5 | Z3/8"X18NPT 10 35 | 27.5 | 145 | 44 | 19 | 22 | 49 | 630 | 630 METRIC FEMALE 24°CONE TMC22-18WD | Mz2xLs | Miaxis 2 1271 27 T12 | 27122 | 921 200 | 315
SN 1DN-18-08 | M18X1.5 | Z1/2"X14NPT 10 42 | 345|195 | 51 | 22 | 22 | 73| 630 | 630 O-RING SEALING Sl : .
= El I -4 1DN-18-12 | M18X1.5 Z3/4"X14NPT 10 44 [36.5[195 | 53 30 22 |125| 630 630 2MC-18-22WD M18X1.5 M22X1.5 15 24 | 315 12 24 | 27 113 | 400 315
1DN-20-04 | M20X15 | Z1/4"X18NPT 12 37 | 295 | 145 | 46 | 22 | 24 | 57 | 630 | 630 L
1DN 1DN-20-06 | M20XL5 | Z3/8"X18NPT 7] 37 295 | 145 | 46 | 22 | 24 | 62| 630 | 630 L 2MC-22WD M22X1.5 | M22X1.5 15 |27 ] 32 |14 | 27| 27 | 142| 400 | 315
L\}s_l 12 1DN-20-08 | M20X1.5| Z1/2"X14NPT 12 42 13451195 | 51 [ 22| 24 |83 | 630 | 630 2MC-22-26WD | M22X1.5 M26X1.5 18 27 131514 | 27| 32 148 | 400 | 315
1DN-20-12 | M20X15 | _Z3/4"X14NPT 12 44 | 365 | 195 53 | 30 | 24 [126] 630 | 630 -
. 1DN-22-06 | M22X1.5 | Z3/8"X18NPT 14 39 | 31 | 145 49 | 24 | 27 | 77| 630 | 630 = 2MC-27-30WD | M27X2.0 | M30X2.0 22 |32 325|116 | 32|36 | 203 | 250 | 160
- 1DN-22-08 | M2IXL5 | ZI2XIANPT | 14 | 44 | 36 1195 | 54 | 24 | 27 |89 | 630 | 630 SEES - | 2MC-33-36WD | M33X2.0 | M36X2.0 | 28 |40 | 35 |18 | 41|41 | 289 | 250 | 160
1DN-22-12 | M22X15 | Z3/4"X14NPT 14 46 | 38 | 195 | 56 | 30 | 27 [130] 630 | 630 = | 1
. S [_1DN-22-16 | M22X1.5| Z1"X11.5NPT 14 51 | 43 [245] 61 |36 | 27 [180] 630 | 630 ° B 2MC-42-45WD | M42X2.0 | M45X2.0 35 |50 142520 | 50|50 | 511 250 | 160
g 1DN-24-06 | M24X15 | 73/8"X18NPT 16 39 | 30.5 | 145 | 49 | 27 | 30 | 84 | 400 | 400 T e
d1 T | 11 IDN24.08 | MaaXLa | 2L/ XLANPT T oo 5157 T30 o 400400 st \se 2MC-48-52WD | M48X2.0 | M52X2.0 42 |55 (465(22 | 55|60 | 711| 250 | 160
. { 1DN/RN 1DN-24-12 | M24X15| 73/A'X14NPT | 16 | 46 | 375|195 | 56 | 30 | 30 130 400 | 400 IMC-WDW 2MD-12-14WD | M12X15 | M14x15 | 06 |17 | 27 |12 [ 17] 17 | 47 | 800 | 630
1DN-24-16 | M24X15 | Z1"X11.5NPT 16 51 | 42 | 245 | 61 | 36 | 30 |178] 400 | 400
- 10N-30-08 | M30X2.0 | Z1/2"XLANPT >0 25 1375 195 T 55 T35 1 36 T12al 200 1 200 2MD-WDW 2MD-14-16WD | M14X1.5 | M16X1.5 08 |19 |295|12 | 19|19 | 65 | 800 | 630
1DN-30-12 | M30X2.0 | _Z3/4"X14NPT 20 48 375195 59 | 32 | 36 |149] 400 | 400 2MD-16-18WD | M16X1.5 | M18X1.5 10 (2232 1222|122 | 91| 800| 630
1DN-30-16 | M30X2.0 | Z1"X1L5NPT 20 55 | 44.5 | 245 | 66 | 36 | 36 |246] 400 | 400
1DN-36-12 | M36X2.0 | Z3/A"X1ANPT | 25 52 | 40 | 195 | 64 | 41 | 46 |240| 400 | 400 2MD-18-20WD | M18X1.5 | M20X1.5 12 | 24134 |12 | 24124 | 112 630 | 630
1DN-36-16 | M36X2.0 | Z1"X11.5NPT 25 57 45 | 245] 69 | 41 | 46 |278] 400 | 400 2MD-20-22WD | M20X1.5 M22X1.5 14 26 36514 | 27127 | 153 630 | 630
1DN-36-20 | M36X2.0 | Z1.1/4"XIL.5NPT| _ 25 58 | 46 | 25 | 70 | 46 | 46 |396] 400 | 400 ./ S
1DN-36-24 | M36X2.0 | Z1.1/2"XIL5NPT| 25 61 | 49 | 26 | 73 | 50 | 46 |469| 400 | 400 2MD-22-24WD | M22X1.5 | M24X1.5 16 [ 27| 37 |14 | 27| 30 | 174 | 630 | 400
1DN-42-12 | M42X2.0 Z3/4"X14NPT 30 54 | 40.5 | 19.5 | 67 46 50 [307| 400 400 2MD-27-30WD M27X2.0 M30X2.0 20 32 43 16 32| 36 274 | 420 400
1DN-42-16 | M42X2.0 | Z1"X1L5NPT 30 59 | 455 | 245 | 72 | 46 | 50 |343] 400 | 400
1DN-42-20 | M42X2.0 | Z1.1/4"X115NPT| _ 30 60 | 465 | 25 | 73 | 46 | 50 |397] 400 | 400 2MD-33-36WD | M33X2.0 | M36X2.0 25 |40 | 48 | 18 | 41| 46 | 497 | 420 | 400
1DN-42-24 | M42X2.0 | ZL.1/2"X115NPT| _ 30 60 | 465 | 26 | 73 | 50 | 50 |440] 400 | 400 )
1DN-52-16 | M52X2.0 | _Z1"X11.5NPT 38 64 | 48 | 245 | 79 | 55 | 60 |510] 315 | 315 2MD-42WD M42X2.0 | M42x2.0 30 |50 | 5t |20 | 50|50 | 691| 420 400
1DN-52-20 | M52X2.0 | Z1.1/4"X11.5NPT| _ 38 65 | 49 | 25 | 80 [ 55 | 60 [535] 315 | 315 2MD-48-52WD | M48X2.0 | M52X2.0 38 | 55|60 |22 |55]|60 | 957 | 420| 315
1DN-52-24 | M52X2.0 | Z1.1/2"X115NPT| _ 38 65 | 49 | 26 | 80 | 55 | 60 |571] 315 | 315

A MEFTRERFEEIEEITN, WIEEASEM RN, f11CN-30-12/RN,
Note:In caseif you are interested to order the adapter in complete set with cuttinE ringand
143 nut, itis necessary to insert suffix“RN” after our part NO, for example 1CN-30-12/RN.

144




+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
2HC-W _ 2GC, 2GD
2 H D-W #24% THREAD ByiE R<t  DIMENSIONS TEES( bar)
ﬁ P;i;‘;é{ﬁ'\]%c‘) i TUBE 0.D %%F T REBRGORE R TR ’ EFIE
AR . 0 o o1 mlulolals ??F? W(Sg)m IR S04 OB B 2| =ans BOTHREAD  |2E0D R~k DIMENSIONS 55 [T #EE /7 (bar)
NEIRIBL 450 B B2 5 2HC-10-12 | M10XL | M12x15 | 06 | 13.8| 245 85| 14 | 14 | 29 | 500 | 315 BSP THREAD STUD ENDS WITH 5| PART NO. - £ o lmlulolsls et 4(‘:%:_4)% Téz*é;m
METRIETHREADZSTLégENDS/ 2HC-12-14 | M12X1.5| M14X1.5 08 |168|265| 11 | 17 | 17 | 43 | 500 | 315 O-RING SEALING/METRIC FEMALE ocorn [ ousas s T o6 V7003 B VR BV BT mrre e
METRIC FEMALE 24°CONE 24°CONE O-RING SEALING o : :
O-RING SEALING 2HC-14-16 | M14X1.5| M16X1.5 10 |188|275| 11 | 19 | 19 | 57 | 500 | 315 26C.0414 | G1/4"X19 | M14X15 | 08 o Tos5l 21 15T 171 30 5001 35
2HC-16-18 | M16X1.5| M18X1.5 12 218 | 305 11.5| 22 22 85 400 | 315 2GC-04-16 | G1/4"X19 | M16X1.5 10 19 | 275] 12 19 19 55 500 | 315
" 2HC-18-22 | M18X1.5| M22X1.5 15 | 238|315|125]| 24 | 27 | 115 | 400 | 315 2GC-06-16 | G3/8"'X19 | M16X15 | 10 22| 29| 12 22 19 75 [ 400] 315
L .
] Vyvrr. P 2HC-22-26 | M22X1.5| M26X1.5 18 | 268|3L5| 13 | 27 | 32 | 452 | 400 | 315 . 2GC-06-18 | G3/8"X19 | M18X1.5 | 12 22 | 34 | 12 ] 22 | 22 | 98 | 400 | 315
N v‘l e W ‘ 2HC-27-30 | M27X2.0| M30X2.0 22 | 318(325| 16 | 32 | 36 | 207 | 250 | 160 1 ) 3 26C-04-18 | G1/4"X19 | MI18X15 | 12 | 19 | 27.5] 12 | 19 | 22 | 67 | 400 | 315
ol - - — m
5| 7| T T8 " 2HC-33-36 | M33X2.0 M36X2.0 28 |408| 35 | 16 | 41 | 41 | 294 | 250 | 160 2=l i D | [[26C-08-18 | Gl/2"X14 | MISXL5 | 12 27 1295 14 | 27 | 22 | 116 400 | 315
- s P{T 2GC-08-22 | G1/2"X14 | M22x15 | 15 21 | 32 [ 14| 27 | 27 | 140 400 | 315
— o 2HC-42-45 | M42X2.0[ M45X2.0 35 | 49.8|425| 16 | 50 | 50 | 516 | 250 | 160 = > __ 26C-08.26 | Gl/2'x14 |M26xis | 18 T T3sT 1w T o7 T30 125 Ta00 | 35
EN hy Og v 2HC-48-52 | M48X2.0| M52X2.0 42 548|465 | 175| 55 | 60 | 718 | 250 | 160 N it 2GC-12-26 | G3/4"X12 | M26X1.5 18 32 1325 16 | 32 | 32 | 185 | 250 | 160
2HC-W 2HD-12-14 |MI12X1.5 M14X1.5 06 |168| 27 | 11 | 17 | 17 | 49 | 800 | 630 2GC 2GC-12-30 | G3/4"X12 | M30X2 22 32 [325] 16 | 32 | 36 [2004] 250 | 160
2HD-W JHD-14-16 |M14X1.5| M16X1.5 08 188 295 11 19 19 69 | 800 | 630 2GD 2GC-16-36 G1"X11 M36X2 28 40 35 18 | 41 41 | 292 | 250 | 160
2HD-16-18 |M16XL5| M18x15 | 10 |21.8] 32 |125] 22 | 22 | 96 | 800 | 630 2GC-20-45 | G1.1/4"X11| M45X2 35 | 50 [425) 20 | 50 | 50 | 506 | 250 | 160
2HD-18-20 | M18X1.5| M20X1.5 12 238 34 | 14| 24 | 24 | 116 | 630 | 630 20C-24-52 | GLL/2'X11 | M52X2 42 5 |465] 22 | 55 | 60 | 722 ] 250 | 160
2GD-04-14 | G1/4"X19 | M14X15 | 06 19 27 12 19 17 ] 55 | 800] 630
s| 2HD-22-24 |M22X15| M24XL5 16 |268| 37 | 15| 27 | 30 | 179 | 630 | 400 2000416 | GL/4'x19 | Mi6xls | 08 5 To95 o T 19 T 19 6 800l 630
o 2HD-27-30 | M27X2.0[ M30X2.0 20 |318| 43 |185| 32 | 36 | 280 | 420 | 400 2GD-06-18 | G3/8"X19 | MI8XL5 | 10 2 1321 21 21 221 92 [ 801 830 X3
Z it 2HD-33-36 |M33X2.0| M36X2.0 | 25 | 40.8| 48 | 185| 41 | 46 | 502 | 420 | 400 2GD-06-20 | G3/8"X19 | M20X1.5 | 12 | 22 | 34 | 12 | 22 | 24 | 103 | 630 | 630 o E
= e e =
= il 2HD-42 M42X2.0| M42X2.0 30 498 | 51 | 19 | 50 | 50 | 697 | 420 | 400 2GD-04-20 | G1/4"X19 | M20X1.5 12 19 | 315] 12| 19 | 24 | 142 | 630 | 630 Y =
o " o
2> 4 2HD-4852 |M48X2.0| M52x2.0 | 38 | 54.8| 60 | 21.5| 55 | 60 | 965 | 420 | 315 | 26D-08-20 | G1/2"X14 | M20X15 | 12 | 27 | 35 | 14 | 27 | 24 | 142 | 630 | 630 45
2GD-08-22 | G1/2"X14 | M22X15 | 14 27 [365] 14 | 27 | 27 [ 160 | 630 | 630
2GD-08-24 | G1/2"X14 | M24X15 | 16 21 [ 37 [ 14| 27 | 30 [ 173 ] 630 | 400
2GD-12-30 | G3/4"X12 | M30X2 20 32 | 43 ] 16| 32| 36 | 276 420 400
BIIE 2GD-16-36 | G1'X11 | M36X2 25 40 | 48 | 18 | 41 | 46 | 496 | 420 | 400
-W 84 THREAD |27, R~ DIMENSIONS TAEEH bar
2BC J 7 ~afs TUBEO.D 8 bar) 2GD-20-42 | G1.1/4"X11| M42x2 30 50 | 51 | 20 | 50 | 50 | 695 | 420 | 315
2BD-WD 5l PART NO. . T o1 1ol ulolst] s | ool (A 2GD-2452 | GL1/2'X11| M52X2 | 38 | 55 | 60 | 22 | 55 | 60 | 938 | 420 | 315
B IRLRB R H i 2BC-02-12WD | G1/8"X28 |M12x15| 06 |14 |245( 8 | 14 | 14 | 27 | 500 | 315
NHI AR 4°H# 0T B2 E 2BC-04-14WD | G1/4"X19 |M14x15| 08 |19 |295(12 [ 19 | 17 | 28 | 500 | 315
o THEAD T CAPTIVE socartavD |y o] 1o [1s [rs[a [ s[5 [ o [so0] ot ACCH-OG. ADDH-OG., ACCH-OG/RN. ADDH-OG/RN
o 2BC-06-16WD | G3/8"X19 [ M16x1.5| 10 [22 | 29 |12 | 22 | 19 | 70 | 400 | 315
SEAL OR 60°SEAT SEALING N S i FEEZINES THES
— . 22 1l MR SUPT I [ 1 i oo @84 THREAD | EIOME Rt DIMENSIONS - -
METRIC FEMALE 24°CONE 2BC-06-18WD | G3/8"X19 [ M18X15| 12 |22 | 34 [12 | 22 | 22 | 95 | 400 | 315 06140 5= 5 = =ake TUBEO.D 2| (bar)
O-RING SEALING 2BC-04-18WD | G1/4"X19 | M18x15| 12 [19 [275[12 | 19 | 22 | 65 | 400 | 315 = 5  PART NO. S 5 ol o2 T T2 13 Tie Tsr 52 [ ss |5 [0 [rmem
- " N S3 (CF) [ (SS)
| [ 2BCO8-18WD | GL/2'X14 | MI8XI5 | 12 |27 | 29.5| 14 | 27 | 22 | 114 | 400 315 METRIC MALE ADJUSTABLE STUD ACCH-12-12-100G | M12X1.5 | M10X1 | 06| 06 | 20 | 13 |26.5| 28 11|14 | 14| 45 | 500 | 315
2BC-08-22WD | G1/2"X14 | M22X15| 15 |27 | 32 |14 | 27 | 27 | 137 | 400 | 315 ENDISO 6149 RUN TEE el : :
L1 . -
2BC-12-26WD | G3/4"X12 [ M26x1.5| 18 [32[325]16 | 32 | 32 | 182 250 | 160 ACCH-16-16-140G | M16X1.5 |M14X1.5| 10| 10 [24.5|17.5] 34 |32.5{16 19| 19| 89 | 500 | 315
= 2BC-12-30WD | G3/4"X12 | M30X2.0 | 22 |32 | 325|116 | 32 | 36 | 200 | 250 | 160 L ACCH-18-18-160G | M18X1.5 |[M16X1.5| 12| 12 | 26 | 19 | 36 | 34 |19 22| 22| 121| 400 | 315
o | 1Y - —a[."_‘l 2BC-16-36WD | GI'XI1 | M36X2.0 | 28 |40 | 35 |18 | 41 | 41 | 289 | 250 | 160 ACCH-22-22-180G | M22X1.5 |M18X15 | 15| 15 | 29 | 22 |39.5] 37 [22]27] 24| 177] 400 | 315
8= —— 0 i
- 2BC-20-45WD | GL1/4"X1Y M45X2.0 | 35 |50 | 425120 | 50 | 50 | 500} 250 | 160 ACCH-0G ACCH-26-26-220G | M26X1.5 | M22X1.5| 18| 18 | 33 |25.5(43.5| 42 |27 |32 27 |263| 400 | 315
° - 2BC-24-52WD | G1.1/2"X11| M52x2.0 | 42 |55 [ 46522 | 55 | 60 | 718 | 250 | 160 ADDH-0G
e | X Y= 2BD-0414WD | GLA'X19 [M1axL5| 06 |19 27 [12 | 19 | 17 | 53 | 800 630 ACCH-30-30-270G | M30X2.0 [ M27%2.0 | 22 | 22 |36.8(29.3| 50 |45.8{30 |36 32 |396| 250 | 160
2BD-04-16WD | G1/4"X19 | M16X1.5 08 19 [ 295 12 19 19 | 64 [ 800 630 . ACCH-36-36-330G | M36X2.0 | M33X2.0 | 28 | 28 |40.8(33.3| 54 (49.8|36|41| 41|621| 250 | 160
%EE’V\X,B 2BD-06-18WD | G3/8"X19 [ M18X15| 10 |22 | 32 [12 [ 22 | 22 | 93 | 800 | 630 ! ADDH-14-14-120G | M14X1.5 [M12X1.5| 06 | 06 |24.5(17.5| 32 |52.5(14 | 17| 17| 71| 800 | 630
2BD-06-20WD | G3/8"X19 | M20X1.5| 12 |22 | 34 |12 | 22 | 24 | 100 | 630 | 630 ; ] ADDH-16-16-140G | M16X1.5 |M14X1.5| 08 | 08 [25.7|18.7| 34 |33.7|16 [19| 19| 91 | 800 | 630
2BD-04-20WD | G1/4'X19 | M20X15)| 12 19 |315)12 | 19 | 24 | 140 ] 630 | 630 - ACCH-OG/RN ADDH-18-18-160G | M18XL.5 |M16XL1.5 | 10| 10 | 27 |19.5] 36 | 36 |19 22| 22 | 124] 800 | 630
g [ 2BD-08-20WD | G1/2°X14 | M20X15| 12 |27 | 35 |14 | 27 | 24 | 140 630 | 630 == ADDH-OG/RN ADDH-20-20-180G | M20X1.5 | M18X1.5| 12| 12 | 27 |19.5] 37 | 36 |19 |24 | 24| 160| 630 | 630
2BD-08-22WD | G1/2"X14 | M22x1.5| 14 |27 [365]14 | 27 | 27 | 157 [ 630 | 630 = S aadiad i . i
2BD08.24WD | GL/2'X14 |M2axLs | 16 |27 37 |14 | 27 | 30 | 170 | 630 | 400 ADDH-24-24-220G | M24X1.5 |M22X1.5| 16| 16 [32.5| 24 [37.5| 42 |24 |30 27| 213| 630 | 400

ADDH-30-30-270G | M30X2.0 | M27X2.0| 20| 20 |38.8(28.3| 50 (49.8(30 |36 | 32|409| 420 | 400
ADDH-36-36-330G | M36X2.0 | M33X2.0 | 25| 25 |44.8|32.8| 54 [56.8|36 |46 | 41| 657| 420 | 400
ADDH-420G M42X2.0 | M42X2.0| 30| 30 |49.7|36.2{57.2{62.7|41 | 50 | 50 |1006| 420 | 400
A ANFHFRERFERSEEITE, WBERSEM RN, IACCH-30-30-270G/RN,

Note:In caseif you are interested to order the adapter in complete set with cutting ring and
nut, itis necessary toinsert suffix“RN” after our part NO, for example ACCH-30-30-270G/RN

2BD-12-30WD | G3/4"X12 | M30X2.0 20 32| 43 |16 | 32 36 | 273 | 420 | 400
2BD-16-36WD G1"X11 | M36X2.0 25 40 | 48 |18 | 41 | 46 | 493 | 420 | 400
2BD-20-42WD | G1.1/4"X11| M42X2.0 30 50 | 51 |20 50 50 | 691 | 420 | 315
2BD-24-52WD | G1.1/2"X11| M52X2.0 38 55| 60 |22 55 60 | 934 | 420 | 315

145 146



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS | DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
ACHC-OG. ADHD-OG, ACHC-OG/RN, ADHD-OG/RN ACGC-O0G, ADGD-0G, ACGC-OG/RN., ADGD-OG/RN
RHIFMES R A i BETIME TRES - 51 O 2 ==
150614955 = & ; FafS BEBLTHREAD | riae 0 R DIMENSIONS %/% ( bar) ;;ﬁgfgﬂﬁ(}i%ﬁﬂﬁ o orTHReAD (B IONE R<  DIMENSIONS 5| TFE (bar)
! PART NO. S2 R | RN — Bl PART NO. e TR
METRIC MALE ADJUSTABLE TLT3 | T2 | D1{D2|L1 |12 | 13| L4 |s1|25 |54 e BSP THREAD ADJUSTABLE .l n pafo2 [ 11| 2] 3 [ tas1]2se A ??El)ﬂ Zéﬁsi)m
STUDEND 50 6169 BRANCH TEE ACHC-12-10-120G | M12X1.5| M10X1 | 06 | 06 | 20 | 13 | 26.5| 28 | 11| 14 | 14 | 45 | 500] 315 STUD ENDS WITH O-RING ACGC-12-02-120G | M12X1.5| G1/8"X28 | 06| 06 | 20 | 13 |26.2| 28 | 11|14 |14 | 44 | 500 | 315
ACHC-0G ACHC-14-12-140G | M14X1.5| M12x1.5| 08 | 08 |22.5|15.5| 32 | 30.5 14| 17 | 17 | 68 | 500] 315 SEALING BRANCH TEE ACGC-14-04-140G | M14X1.5| G1/4"x19 | 08| 08 |22.5] 15.5[31.3{30.5[ 14| 17]19 | 68| 500] 315
ADHD-0G ACHC-16-14-160G | M16X1.5|M14X1.5| 10 | 10 [24.5|17.5| 34 [32.5|16| 19 | 19 | 89 |500| 315 ACGC-16-04-160G | M16X1.5| G1/4"X19 | 10| 10 |24.5] 17.5(32.5|32.5/ 16| 19|19 | 85 | 500 | 315
ACHC-18-16-180G | M18X1.5|M16X1.5| 12 12|26 | 19 | 36 | 34 | 19| 22 | 22 | 121 400| 315 ACGC-0G ACGC-18-06-180G | M18X1.5| G3/8"X19 | 12|12 | 26 | 19 |36.8| 34 [19]22|22 | 125| 400 | 315

ADGD-OG || [AcGC22-08220G | M22X1.5| G1/2"X14 | 15|15 | 29 | 22 |43.2] 37 | 22| 27|27 | 205| 400 315
ACGC-26-08260G | M26XL.5| G1/2'X14 | 18| 18 | 33 | 25.5|46.5| 42 | 2732 |27 | 266| 400 | 315
ACGC-30-12-300G | M30X2.0| G3/4"X14 | 22| 22 | 36.8] 29.3] 52 |45.8/30| 36 |32 | 400| 250 | 160
ACGC-36-16-360G | M36X2.0| GL'XI1 | 28|28 | 40.8| 33.3] 56 |49.8(36| 41|41 | 637| 250 | 160

ACHC-22-18-220G | M22X1.5|M18X1.5| 15 [ 15| 29 | 22 | 39.5| 37 | 22| 27 | 24 | 177| 400| 315
ACHC-26-22-260G | M26X1.5| M22X1.5| 18 | 18 | 33 |25.5|43.5| 42 | 27| 32 | 27 | 263| 400| 315
ACHC-30-27-300G | M30X2.0| M27X2.0| 22 | 22 |36.8|29.3| 50 | 45.8|30| 36 | 32 | 396| 250| 160

ACHC-OG/RN ACHC-36-33-360G | M36X2.0| M33X2.0| 28 | 28 |40.8|33.3| 54 | 49.8|36| 41 | 41 | 621|250 160

. ADHD-OG/RN ADHDL4-12.140G | M12x1.5 | M12x15| 06 106 1245|1751 32 15251 14| 17 | 17 | 71 | 800 630 ACGC-45-20-450G | M45X2.0G1.1/4"X11 | 35|35 [49.7| 39.2| 63 [60.7/48 (50|50 | 995| 250 | 160
1 , . ADHD-16-14-160G | M16X1.5| M14X1.5| 08 | 08 |25.7|18.7| 34 |33.7| 16| 19| 19 | 91 |800| 630 . :ggg:ggfsm ADGD-14-04-140G | MI4XL'S| G1/4"X19 | 06|06 | 24.5] 17.5313|32.5 14| 17)19 | 72 | 800 | 630
O 'g: ORD1816.1806 | Misxia Miexisl 10 110 127 1551 36 1 36 191 22 | 22 |22 800l 630 . ADGD-16-04-160G | M16X1.5| G1/4"X19 | 08|08 [25.7| 18.7(32.5(33.7(16| 19|19 | 87 | 800 | 630
" J= ; ADGD-18-06-180G | M18X1.5| G3/8"X19 | 10|10 | 27 | 19.5(36.8| 36 [19 22|22 | 127| 800 | 630

ADHD-20-18-200G | M20X1.5|M18X1.5| 12 | 12| 27 |19.5| 37 | 36 | 19| 24 | 24 | 160| 630| 630 i I
S - ’? ADGD-20-06-200G | M20X1.5| G3/8"X19 | 12|12 | 27 | 19.5(36.8| 36 {1924 |22 | 145| 630 | 630

ADHD-24-22-240G | M24X1.5| M22X1.5| 16 | 16 [32.5| 24 | 37.5| 42 |24 30 | 27 | 213|630| 400

. S | ADGD-22-08-220G | M22X1.5| G1/2"X14 | 14|14 | 31 | 23 (43.2| 41 |22| 27|27 | 213| 630 | 630
ADGD-24-08-240G | M24X1.5| G1/2"X14 | 16|16 |32.5 24 | 44 |42.5/24 30|27 | 234| 630 | 400
ADGD-30-12-300G | M30X2.0 | G3/4"X14 | 20|20 |38.8| 28.3| 52 [49.8/30 36|32 | 413| 420 | 400
ADGD-36-16-360G | M36X2.0| G1"X11 25|25 |44.8| 32.8| 56 |56.8|36|46 |41 | 673| 420 | 400
ADGD-42-20-420G | M42X2.0 (G1.1/4"X11 | 30| 30 [49.7| 36.2| 58 |62.7|41| 50|50 |1013 420 | 400
A MFEHFFRERFERSEEITS, WIBEASEM RN, 0ACGC-30-12-300G/RN,

Note:In case if you are interested to order the adapter in complete set with cutting ring and nut, itis necessary
toinsert suffix “RN” after our part NO, for example ACGC-30-12-300G/RN.

ADHD-30-27-300G | M30X2.0| M27X2.0| 20 | 20 |38.828.3| 50 | 49.8| 30| 36 | 32 [ 409|420| 400
ADHD-36-33-360G | M36X2.0  M33X2.0| 25 | 25 (44.8|32.8| 54 | 56.8(36| 46 | 41 | 657|420 400
ADHD-420G M42X2.0 | M42X2.0| 30 | 30 |49.7|36.2| 57.2| 62.7| 41| 50 | 50 (1004 420| 400
A MFHFRERFERGEEITE, WIBERSEM RN, MIACHC-30-27-300G/RN,

Note:In caseif you areinterested to order the adapter in complete set with cutting ring and
nut, itis necessary to insert suffix “RN” after our part NO, for example ACHC-30-27-300G/RN

%
L

£
£

£t
£t

=
[
+=
~

w (%)
o [©)
Z =
= =
= =
w [Ty
Ll w
=] o
= =)
= =

ACCG-0G, ADDG-0G. ACCG-OG/RN. ADDG-OG/RN
s Ney | [ R et o =
i;%gﬂﬂﬁog;@&ﬁﬁm =ope 24 THREAD %ﬁuﬁtﬁ% R~ DIMENSIONS . Iﬁ’fgj
e N [[a} . =
= A T e A e L ACCO-0G, ADDO-0G, ACCO-OG/RN, ADDO-OG/RN
BSP THREAD ADJUSTABLE \ 3 Sligy|S (R (s9)
. &= s = =z =
STUD END WITH O-RING ACCG-12-12-020G | M12X1.5| G1/8"x28 |06 |06 | 20 | 13 [26.2] 28 [11[14[14] 44 |500[ 315 %gfgéﬁﬂﬂﬁ(@’éiﬁim gl o #84 THREAD BIEl R DIMENSIONS 55 I(fﬁa’fr)ﬁ
ES-=b::] K : -
SEALING RUNTEE ACCG-14-14-040G | M14X1.5| G1/4"X19 |08 |08 |22.5{15.5/31.3 | 30.5| 14|17 | 19| 68 |500| 315 1 PARTNO. T2 13 D1 (D2 | L1 |12 | 13| L4 [51|[s4 _ﬁ/f”’giﬂ T‘éﬁ’ﬂﬂ
- UN.UNF THREAD ADJUSTABLE (CF) | (SS)
" ACCG-16-16-040G | M16X1.5| G1/4"X19 |10 |10 |24.5|17.5|32.5|32.5| 16|19 19| 85 |500( 315 STUD ENDS WITH ACCO-12-12-040G | M12X1.5 | 7/16"X20UNF | 06 | 06 | 20 | 13 |27.2| 28 [11|14|17| 53 [500| 315
ACCG-18-18-060G | M18X1.5| G3/8"X19 [12 [12 | 26 | 19 [36.8| 34 |19]22|22] 125|400| 315 O-RING SEALING RUN TEE ACCO-14-14-060G | M14X1.5 | 9/16"X18UNF | 08 | 08 [22.5[15.5(31.8[30.5[14]17[19] 72 [500] 315
| o7 L | ACCG-22-22-080G | M22X1.5| G1/2"X14 |15 |15 | 29 | 22 |43.2| 37 |22|27|27|205|400| 315 ACCO-16-16-060G | M16X1.5[9/16"X18UNF| 10 | 10 |24.5|17.5|33.3(32.5(16|19( 19| 90 |500| 315
F]EEIEi; : ACCG-OG ACCG-26-26-080G | M26X1.5| G1/2"X14 |18 |18 | 33 |25.5(46.5| 42 | 27|32 |27 266|400| 315 ; ACCO-18-18-080G | M18X1.5| 3/4"X16UNF | 12 | 12 | 26 | 19 |37.5) 34 |19)22]24 | 142]400] 315
I ADDG-OG | |ACCG-30-30-120G | M30x2.0| G3/4"x14 |22 [22 [36.8]29.3] 52 | 45.8]30]36 |32 400|250 160 L| ACCO-22-22-1006 | M22X1.5| 7/8"XIAUNF | 15 | 15 | 29 | 22 | 44 | 37 |22|27) 27| 212)400| 315
ACCO-26-26-120G | M26X1.5 | 1.1/16"X12UN| 18 | 18 | 33 [25.5[ 51 | 42 2732 32] 333[400] 315
ACCG-36-36-160G | M36X2.0| G1"X11 |28 |28 |40.8[33.3|56 |49.8]36|41 |41|637(250| 160 14 7 o
; ACCO-0G ACCO-30-30-120G | M30X2.0 [1.1/16"X12UN]| 22 | 22 [36.829.3(53.5[45.830]36| 32| 410[250] 160
ACCG-45-45-200G | M45X2.0 [G1.1/4"X11|35 |35 |49.7[39.2| 63 | 60.7| 48|50 |50 | 995(250| 160 o
2 ADDO-0G ACCO-36-36-160G | M36X2.0 |1.5/16"X12UN| 28 | 28 [40.8]33.357.549.8] 3641 41 642[250| 160
ADDG-14-14-040G | M14X1.5| G1/4"X19 |06 | 06 |24.5)17.5|313 )| 32.5) 14|17 | 19| 72 |800) 630 ACCO-45-45-2006G | M45X2.0 | 1.5/8"X12UN | 35 | 35 |49.7(39.2| 63 |60.7|48|50 |50 [1047250| 160
ACCG-OG/RN ADDG-16-16-040G | M16X1.5| G1/4"X19 |08 | 08 | 25.7)18.7]32.5| 33.7| 16|19 | 19) 87 |800] 630 2 ACCO-OG/RN | |ADDO-14-14-040G| M14X1.5|7/16"X20UNF | 06 | 06 |24.5|17.5| 30 [32.514[17| 17 66 [800| 630
ADDG-OG/RN| |ADDG-18-18-060G | M18XL5| G3/8"X19 |10 | 10 | 27 |19.5[36.8 | 36 | 192222 127|800) 630 ’ ADDO-OG/RN | FApn0-16-16-060G| M16XL.5 | 9/16"XI8UNF | 08 | 08 |25.7|18.7| 33.3| 33.7|16]19] 19 | 92 |800| 630
ADDG-20-20-060G | M20X1.5 | G3/8"X19 |12 [12 | 27 [19.5[36.8| 36 | 19|24 |22 145|630| 630 ADDO-18-18-060G| M18X1.5 | 9/16"X18UNF| 10 | 10 | 27 [19.5[33.5] 36 |19]22|19] 110[800] 630
S| ADDG-22-22-080G | M22X1.5 | G1/2"X14 |14 |14 | 31 | 23 [43.2| 41 |22|27|27]213|630| 630 | i ADDO-20-20-080G| M20X1.5 | 3/4"X16UNF | 12 | 12 | 27 [19.5[37.5| 36 |19]2424] 167[630] 630
ADDG-24-24-080G | M24X1.5 | G1/2"X14 |16 |16 [32.5| 24 | 44 |42.5|24|30 |27 234|630| 400 S| ADDO-22-22-100G| M22X1.5 | 7/8"X14UNF | 14 | 14 | 31 | 23 | 44 | 41 |22|27)| 27 220|630| 630
ADDG-30-30120G | M30X2.0| G3/4"X14 | 20 | 20 |36.8| 28.3| 52 | 49.8] 30| 36 | 32| 413|420] 400 ADDO-24-24-100G| M24X1.5 | 7/8"X14UNF | 16 | 16 |32.5] 24 |46.542.5|24|30| 27 263[630] 400
DDG.36.36 160G 3600 | Gril 125 125 (228 3281 =6 126836 26 (21673 1420] 200 ADDO-30-30-120G| M30X2.0 [1.1/16"X12UN] 20 | 20 [38.8]28.3(53.549.8]30(36 32| 423[420] 400
ADDO-36-36-160G| M36X2.0 |1.5/16"X12UN| 25 | 25 [44.8]32.8|57.5(56.8] 3646 41 678[420] 400
ADDG-42-42-2006G | M42X2.0 |G1.1/4"X11{ 30 |30 [49.7|36.2| 58 | 62.7] 41|50 | 50{1013420| 400
ADDO-42-42-200G| M42X2.0 | 1.5/8"X12UN | 30 | 30 [49.7]36.2|59.5(62.7] 41|50 50 [ 1007420] 400

A NMETRERFEBRSERITR, WEEASEM RN, f1ACCG-30-30-120G/RN,
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, itis necessary
to insert suffix “RN” after our part NO, for example ACCG-30-30-120G/RN

ENEEEEREERSEETR, IEEASEM RN, 1ACCO-30-30-120G/RN,
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut,itis necessary
toinsert suffix“RN” after our part NO,for example ACCO-30-30-120G/RN.

147 148



+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
ACOC-0G, ADOD-0G, ACCO-OG/RN, ADDO-OG/RN 5CH
BFHME
o 847 THREAD | & R~  DIMENSIONS = [LYEEA ( bar]
EHBRY BRI B R 1T ¥4 THREAD EEZY S DIMENSIONS TR 5DH R EmAS TUBE0.D g "
AT E = F‘:ﬁ'ﬁ%v‘:‘g i TUBE 0.D %{% (‘bar) NEIRIESISO 614938 M 5l PART NO. 1 T D1 nlulelsla 52 /i E(mw) Wzs,*&;m
5| PART NO. S2 Bk E R METRIC FEMALE PORT = 22
UNJUNF THREAD ADJUSTABLE .73 m D1} D2 | LL L2 13 L4]Slis3)54 (CF)| (SS) 1SO 6149 5CH-12-10 M12X1.5| M10X1 06 4 [265|195|125| 14 | 18| 315 | 315
STUD ENDSWITH O-RING ACOC-12-04-120G | M12X1.5 | 7/16"X20UNF | 06 | 06 | 20 | 13 |27.2| 28 |11|14|17| 53 |500| 315 5CH-14-12 M14X1.5| M12X1.5 08 6 |31.0(24.0]|17.0| 17 | 32| 315 | 315
SEALING BRANCH TEE ACOC-14-06-140G | M14X1.5 | 9/16"X18UNF | 08 | 08 [22.5|15.5[31.8[30.5/14[17[19] 72 [500] 315 5CH-16-14 M16XL5| M14X15 | 10 8 [32.0[25.0]17.0] 19 [ 39| 315 315
ACOC16-06-160G | M16X1.5 | 9/16"X18UNF | 10 | 10 |24.5[17.5[333(32.5[16[19(19] 90 [500] 315 . (Y >CH-18:16 | MI8X1.5| M16X151 12 | 10 1330126011703 22 152} 3151 315
ACOC-18-08-180G | M18X1.5 | 3/4"X16UNF | 12 | 12 | 26 | 19 |37.5| 34 | 19|22 (24| 142{400| 315 ' \ L SCH-22-18 M22X1.5| M18XL.5 L 12 137.04300119.04 24 | 70 | 315 | 315
ddad 5|3 : -5 8 [ 5CH-26-22 M26X1.5| M22X1.5 18 15 |38.0(30.5[20.0| 30 |114| 315 | 315
ACOC-0G ACOC-26-12-260G | M26X1.5 | 1.1/16"X12UN | 18 | 18 | 33 |25.5| 51 | 42 |27(32|32] 333|400| 315 ! ; 5CH-36-33 M36X2.0| M33X2.0 28 24 | 46.0|385|250| 41 |216]| 160 | 160
ADOD-0G ACOC-30-12-300G | M30X2.0 | 1.1/16"X12UN | 22 | 22 [36.8]29.3|53.5|45.8|30(36|32| 410|250 160 SR 5CH-45-42 M45X2.0| M42X2.0 35 30 |51.0][40.5]26.0] 55 [459] 160 | 160
L2 50-
ACOC36-16360G | M36X2.0 | 1.5/16"X12UN | 28 | 28 [40.8]33.3|57.5]49.8]36 |41 41 642]250] 160 — -1 5CH-52-48 M52X2.0| M48X20 | 42 36 1530142.01280| 60 |522] 160 | 160
ACOC45-20-450G [ M45X2.0 | 1.5/8"X12UN | 35 | 35 |49.7|39.2| 63 |60.7|48|50|50 |1047250| 160 ) ) oDH-1412 MLax1.5| MLaX1> 6 4 133012601 17.0) 17 | 351 400 | 400
' el i : 5DH-16-14 M16X1.5| M14X1.5 8 5 |33.0]26.0|17.0| 19 | 42 | 400 | 400
. _ ADOD-OG/RN | | ADOD-16-06-160G|M16X1.5 | 9/16"X18UNF | 08 | 08 [25.7[18.7|33.3[33.7| 16[19{19| 92 [800| 630 5DH-20-18 M20X1.5| M18X15| 12 8 [37.0[29.5|10.0] 24 | 72| 400 | 400
P L - e ADOD-18-06-180G| M18X1.5 | 9/16"X18UNF | 10 | 10 | 27 |19.5/33.5| 36 |19]22|19| 110|800| 630 ¢ | 2DH-22-20 M22X1.5| M20X1.5 14 10 |40.032.0)20.0] 27 | 9 | 400 | 400
= ﬁT ADOD-20-08-200G| M20X1.5 | 3/4"X16UNF | 12 | 12 | 27 |19.5(37.5| 36 |19(|24|24| 167|630 630 SDH-24-22 M24X1.5| M22X1.5 16 12 140.01315]20.0) 30 | 117} 400 | 400
- 5DH-30-27 M30X2.0| M27X2.0 20 16 |47.0]36.5|24.0| 36 |197| 315 | 315
84 S| ADOD-22-10-220G|M22X1.5| 7/8"X14UNF | 14 | 14 | 31 | 23 | 44 | 41 |22|27|27] 220|630 630 “DH.36.33 M36x2.01 M33x2.0 s 20 150013800 501 a1 [220] 315 | 315 8
Ei;b( ADOD-24-10-240G| M24X1.5| 7/8"X14UNF | 16 | 16 |32.5| 24 |46.5/42.5(24(30|27| 263({630| 400 5DH-42 M42X2.0| M42x2.0 30 25 1550 415|26.0! 55 |490] 315 | 315 EME
E@} ADOD-30-12-300G| M30X2.0 | 1.1/16"X12UN | 20 | 20 [38.8|28.3|53.5|49.8|30|3632| 423|420| 400 5DH-52-48 M52X2.0| M48X2.0 38 32 |59.0|43.0|28.0| 60 |597| 250 | 250 KEE
S 4 ADOD-36-16-360G| M36X2.0 | 1.5/16"X12UN | 25 | 25 |44.8|32.8|57.5|56.8|36|46|41| 678|420| 400 43
ADOD-42-20420G| M42X2.0 | 1.5/8"X12UN | 30 | 30 [49.7|36.2(59.5/62.7|41|50|50|1007420| 400
EIMBEHRERFEBSEEITE, NEEARSEHMRN”, IACOC-30-12-300G/RN.
Note:In case if you are interested to order the adapter in complete set with cutting ring and nut,itis necessary
toinsert suffix“RN” after our part NO. for example ACOC-30-12-300G/RN. 5 c B
5 DB . 247 THREAD BFIME R~ DIMENSIONS = [CYEES( ba
EA N v i TUBE O.D. 52
FHIMIELISO 11793 0 Pl PARTTNO. | ) T i | o2 | u| | e s PR TED
5CM BSP FEMALE PORT ISO1179 5CB-12-02_ | MI12X15| G1/8'X28| _ 06 4 | 26 | 19 | 12 | 14 [ 18] 315 | 315
— . 5CB-12-04 | M12X1.5 | G1/4"X19 06 4 |31.0[24.0[17.0] 19 [39] 315 [ 315
5DM 4847 THREAD TaigMéDD R~ DIMENSIONS T (bar) 5CB-14-04 | M14X1.5] G1/4"X19 08 6 |31.0][24.0]17.0] 19 [ 39] 315 | 315
z| m=apre UBEO.D. 2 5CB-14-06 | M14X1.5 | G3/8"X19 08 6 [32.0[250]17.0] 24 | 61] 315 315
NS IBAISO 99743 0 5|  PART NO. L [P P 5CB-14-08 | M14X1.5 | G1/2"X14 08 6 |36.0][29.0]20.0] 27 [ 80] 315 | 315
METRIC FEMALE PORT ISO 9974 T1 T2 D1 D2 | L1 | L2 | L3 | s1 A | (ss) 5CB-16-04 | M16X15| G1/4"X19 10 8 [32.0[25.0]17.0] 19 [ 40 315 [ 315
5CB-16-06 | M16X1.5 | G3/8"X19 10 8 [33.0]26.0]17.0] 24 [ 63] 315 [ 315
. 5CM-12-10 | M12X1.5| M10X1 06 4 |265|195|125| 14 | 18 | 315 | 315 5CB-16-08 | M16XL5 | G1/2"X14 10 8 |37.0]30.0]20.0] 27 | 81| 315 | 315
5CM-14-12 | M14X1.5| M12X1.5| 08 6 |31.0[240|170| 17 | 32 | 315 315 L| 5CB-18-06 | M18X1.5| G3/8"X19 12 10 [33.026.0|17.0] 24 | 64| 315 | 315
5CB-18-08 | M18X15| Gl1/2"X14 12 10 [ 37.0[30.0[20.0] 27 [ 83 ] 315 | 315
5CM-16-14 | M16X1.5| M14X1.5 10 8 |320]250]|17.0| 19 | 39 | 315| 315 5B22.08 [ MaxLa | Glox4 G 1 T380 300 2001 57 T87 T35 T 315
5CM-18-16 | M18X1.5| M16X1.5 12 10 | 33.0(26.0| 17.0| 22 | 52 | 315 | 315 5CB-26-06 M26X1.5 | G3/8"X19 18 15 [ 340126501701 27 1 95| 315 | 315
| |_5cM-22-18 M22X1.5| M18X1.5 15 12 350280 17.0| 24 | 68 | 315 | 315 5CB-26-08 | M26X15 | G1/2"X14 18 15 [38.0{30.5/20.0] 27 [ 89| 315 | 315
5CB-30-12 | M30X2.0 | G3/4"X14 22 19 [43.0]35.5]22.0] 36 [173] 160 | 160
5CM-26-22 | M26X1.5| M22X1.5 18 15 | 37.0|295|19.0| 30 | 111 | 315 | 315 b 36 1e Mo 0 T orxil %5 e Tass 38505 a1 Tori 160 T 1eo
5CM-30-26 | M30X2.0| M26X1.5 22 19 | 42.0| 345|21.0| 32 | 123 | 160 | 160 5CB-45-20 M45x%2.0 | G1.1/4"X1]] 35 30 | 515410/ 265] 55 469 160 | 160
5CM-36-33 | M36X2.0| M33X2.0 | 28 24 | 45.0|375|240| 41 | 211 | 160 | 160 5CB-52-24 | M52X2.0 | G1.1/2"X11] 42 36 [53.5]42.5]28.5] 60 [540] 160 | 160
5DB-14-04 | M14X1.5 | G1/4"X19 6 4 133.0[26.0]17.0] 19 [ 43| 400 [ 400
5CM-45-42 | M45X2.0| M42X2.0 | 35 30 | 51.0]405|26.0| 55 | 459 | 160 | 160
5DB-16-04 | M16X1.5 | G1/4"X19 8 5 133.0]26.0]17.0] 19 [ 47 | 400 [ 400
5CM-52-48 | M52X2.0| M48X2.0 42 36 | 53.0| 42.0| 28.0| 60 | 522 | 160 | 160 5DB-18-06 M18X1.5 | G3/8"X19 10 7 132012650 170] 24 | 681 4200 | 200
5DM-14-12 | M14X1.5| M12X1.5 6 4 |33.0]|260]|17.0| 17 | 35 | 400 | 400 5DB-20-06 | M20X1.5 | G3/8"X19 12 8 [34.0[26.5]17.0] 24 [ 71 400 [ 400
5DB-20-08 | M20X1.5 | G1/2"X14 12 8 [38.0]30.5[20.0] 30 [121] 400 [ 400
5DM-16-14 | M16X1.5| M14X1.5 8 5 |33.0]|260]|17.0| 17 | 42 | 400 | 400
S| _5DB-22-08 | M22x1.5 | G1/2"X14 14 10 [ 40.0]32.0]20.0] 30 [125] 400 | 400
5DM-20-18 | M20X1.5| M18X1.5 12 8 |350]|275|17.0| 24 | 70 | 400 | 400 5DB-30-12 | M30X2.0 | G3/4"X14 20 16 | 45.0]34.5]22.0] 36 [196] 315 | 315
5DM-22-20 | M22x1.5| M20x15 | 14 | 10 [ 39.0]310] 190 27 | 95 | 400 | 400 5DB-36-16 | M36X2.0 | Gl 'X11 25 20 149.5137.51245] 41 1246 315 | 315
S 5DB-42-20 | M42x2.0 | G1.1/4"x11 30 25 | 55.5]42.0] 26.5] 55 [537] 315 | 315
5DM-24-22 | M24X1.5| M22X1.5 16 12 [ 39.0|305|19.0| 30 | 114 | 400 | 400 5DB52.24 | M522.0 | GL1/2°x1] 38 32 1595143502851 60 16491 250 | 250
5DM-30-27 | M30X2 | M27X2.0 | 20 16 | 45.0 | 345|22.0| 36 | 189 | 315 | 315
5DM-36-33 | M36X2.0| M33X2.0 | 25 20 | 49.0|37.0| 240 41 | 235 | 315 | 315
5DM-42 M42X2.0| M42X2.0 | 30 25 | 55.0 | 41.5| 26.0| 55 | 490 | 315 | 315
5DM-52-48 | M52X2.0| M48X2.0 | 38 32 [ 59.0]43.0|280| 60 | 597 | 250 | 250

149 150



~EEL

wv
[C]
=
E
=
i
w
o
=)
P

FEEL

TUBE FITTINGS

DIN-FEfEL

5CG
5DG

REIIRLI1S235 1M 0
BSP FEMALE PORT JIS2351

S
=58 e
1 ' 1]
SR = R
L L2
L L
5CB-GDK
5DB-GDK
NHEIRBYEDRIEL
METRIC FEMALE PORT
o
1

151

DIN Bite Type Tube Fittings

4C, 4D

4C/RN, 4D/RN

b2 P
PULUG

i

DIN-FE ik
DIN Bite Type Tube Fittings

FEEL

TUBE FITTINGS

. $247 THREAD BFIME R~ DIMENSIONS ITYEE/7( ba

?.] e TUBEED %/%F B | FBH
. m N\ 7

Tl T2 D1 D2 L1 L2 | L3 | S1 (cF) | (ss)

5CG-12-02 M12X1.5 G1/8"X28 06 4 28 21 (14| 14 | 20 | 315 315
5CG-12-04 M12X1.5 G1/4"X19 06 4 31.0|24.0(17.0 19 | 39 | 315 315
5CG-14-04 M14X1.5| G1/4"X19 08 6 31.0|24.0(17.0f 19 | 39 | 315 315
5CG-14-06 M14X1.5| G3/8"X19 08 6 32.0| 25.0(17.0 24 | 61 | 315 315
5CG-14-08 M14X1.5] G1/2"X14 08 6 36.01 29.0(20.0f 27 | 80 | 315 315
5CG-16-04 M16X1.5 G1/4"X19 10 8 32.0| 25.0(17.0 19 | 40 | 315 315
5CG-16-06 M16X1.5 G3/8"X19 10 8 33.01 26.0(17.0 24 | 63 | 315 315
5CG-16-08 M16X1.5 G1/2"X14 10 8 37.0| 30.0(20.0f 27 | 81 | 315 315

L 5CG-18-06 M18X1.5 G3/8"X19 12 10 | 33.0| 26.0|17.0| 24 | 64 | 315 315
5CG-18-08 M18X1.5| G1/2"X14 12 10 | 37.0] 30.0/20.0| 27 | 83 | 315 315
5CG-22-08 M22X1.5| G1/2"X14 15 12 | 38.0| 31.0/20.0| 27 | 87 | 315 315
5CG-26-08 M26X1.5| G1/2"X14 18 15 | 38.0] 30.5120.0| 27 | 89 | 315 315
5CG-26-06 M26X1.5| G3/8"X19 18 15 | 34.0| 26.5|17.0) 27 | 95| 315 315
5CG-30-12 M30X2.0 G3/4"X14 22 19 | 43.0| 35.5122.0] 36 |173| 160 160
5CG-36-16 M36X2.0 G1"X11 28 24 | 46.0] 39.0125.0] 41 |214| 160 160
5CG-45-20 M45X2.0| G1.1/4"X11 35 30 [ 51.5(41.0(26.5 55 [469| 160 160
5CG-52-24 M52X2.0| G1.1/2"X11 42 36 | 53.5(425(28.5| 60 |540| 160 160
5DG-14-04 M14X1.5 G1/4"X19 6 4 33.0| 26.0(17.0] 19 | 43 | 400 400
5DG-16-04 M16X1.5 G1/4"X19 8 5 33.0| 26.0(17.0| 19 | 47 | 400 400
5DG-18-06 M18X1.5| G3/8"X19 10 7 34.0|26.5(17.0 24 | 68 | 400 | 400
5DG-20-06 M20X1.5| G3/8"X19 12 8 340 26.5(17.0 24 | 71 | 400 | 400
5DG-20-08 M20X1.5| G1/2"X14 12 8 38.01 30.5(20.0f 30 [121| 400 [ 400

S 5DG-22-08 M22X1.5 G1/2"X14 14 10 | 40.0( 32.0(20.0] 30 |125| 400 400
5DG-24-08 M24X1.5 G1/2"X14 16 12 | 40.0| 31.5/20.0| 30 | 126| 400 400
5DG-30-12 M30X2.0 G3/4"X14 20 16 | 45.0| 34.5|22.0| 36 |196| 315 315
5DG-36-16 M36X2.0 G1"X11 25 20 [ 50.0( 38.0(25.0f 41 |250| 315 315
5DG-42-20 M42X2.0| G1.1/4"X11 30 25 [ 55.5(42.0(26.5 55 |537| 315 315
5DG-52-24 M52X2.0| G1.1/2"X11 38 32 [59.5(43.5(28.5| 60 [649| 250 250
#2247 THREAD é@ﬁf’g R~ DIMENSIONS I(ﬂEbEjj
R mars D 2 an)

7|  PART NO. M| i | R
T1 T2 D1 d L1 L2 L3 L4 S1 (CF) | (ss)

5CB-12-04GDK | M12X1.5( G1/4 06 25| 29 751145 45 19 37 | 315 | 315

L 5CB-14-04GDK | M14X1.5( G1/4 08 55| 29 751145 45 19 38 | 315 | 315
5CB-16-04GDK | M16X1.5( G1/4 10 551 30 85 |145| 45 19 41 | 315 | 315
5CB-18-04GDK | M18X1.5| G1/4 12 5.5 30 85 |(145]| 45 19 43 | 315 | 315
5DB-14-08GDK | M14X1.5| G1/2 3.5 38 | 11.0( 20.0| 5.0 27 86 | 630 | 630

| 5DB-16-08GDK | M16X1.5| G1/2 35| 38 [ 11.0]20.0| 50 | 27 | 86 | 630 | 630
5DB-18-08GDK | M18X1.5[ G1/2 10 7.5 38 | 10.5]120.0| 5.0 27 88 | 630 | 630
5DB-20-08GDK | M20X1.5( G1/2| 12 75| 38 [105]20.0] 50 | 27 | 93 | 630 | 630

F 4C
| 4D
81
L3
EIIIII 4C/RN
8l +— q— 1IN 4p/RN
s2
9C
9D
PRSI S
FEMALE PLUG
L1
78
s J
- a’ i 1\\1\\ L
.__j {
(—t/ 9C
st 9D

oen | B THREAD| EIOME R DIMENSIONS o [TAEEH ( bar
gl D ERS THBEQ.D s/t [T ol
: T1 D1 L1 L2 L3 S1 S2 (CF) (SI;)
4C-12 M12X1.5 06 7 14 22 12 14 8 500 | 315
4C-14 M14X1.5 08 8 15 23 14 17 13 500 | 315
4C-16 M16X1.5 10 9 16 24 17 19 17 500 | 315
4C-18 M18X1.5 12 10 17 25 19 22 24 400 | 315
4C-22 M22X1.5 15 11 18 26 24 27 41 400 | 315
L 4C-26 M26X1.5 18 11.5| 19 28 27 32 56 400 | 315
4C-30 M30X2.0 22 135 | 21 30 32 36 84 | 250 | 160
4C-36 M36X2.0 28 145 | 22 31 41 41 | 138 | 250 | 160
4C-45 M45X2.0 35 145 | 25 36 46 50 | 203 | 250 | 160
4C-52 M52X2.0 42 16 27 39 55 60 | 318 | 250 | 160
4D-14 M14X1.5 06 11 | 18 | 26 | 14 | 17 | 17 | 800 | 630
4D-16 M16X1.5 08 13 20 28 17 19 28 | 800 | 630
4D-18 M18X1.5 10 125 | 20 29 19 22 33 | 800 | 630
4D-20 M20X1.5 12 145 | 22 31 22 24 50 630 | 630
4D-22 M22X1.5 14 16 24 34 24 27 62 630 | 630
S 4D-24 M24X1.5 16 155 24 | 34 | 271 | 30 | 75 | 630 | 400
4D-30 M30X2.0 20 175 28 39 32 36 125 | 420 | 400
4D-36 M36X2.0 25 20 32 44 41 46 229 | 420 | 400
4D-42 M42X2.0 30 205 | 34 47 46 50 | 310 | 420 | 400
4D-52 M52X2.0 38 23 39 54 55 60 | 805 | 420 | 315
A NFEFEFRERREESEEITE, MBEASEM RN, 104C-30/RN,o
Note:In caseifyouareinterested to order the adapterin complete set with cutting ring and
nut, itis necessary to insert suffix “RN” after our part NO, for example 4C-30/RN.
' ' L1 D2 S1 BRSRICF)| R B (SS)
9C-12 M12X1.5 06 18.5 06 14 15 500 315
9C-14 M14X1.5 08 18.5 08 17 24 500 315
9C-16 M16X1.5 10 20 10 19 33 500 315
9C-18 M18X1.5 12 20.5 12 22 46 400 315
9C-22 M22X1.5 15 20.5 15 27 73 400 315
L 9C-26 M26X1.5 18 22,5 18 32 111 400 315
9C-30 M30X2.0 22 25 22 36 162 | 250 160
9C-36 M36X2.0 28 25.5 28 41 220 | 250 160
9C-45 M45X2.0 35 30 35 50 376 | 250 160
9C-52 M52X2.0 42 30 42 60 558 | 250 160
9D-14 M14X1.5 06 18.5 06 17 23 800 630
9D-16 M16X1.5 08 18.5 08 19 29 800 630
9D-18 M18X1.5 10 20 10 22 46 800 630
9D-20 M20X1.5 12 20.5 12 24 55 630 630
S 9D-22 M22X1.5 14 22.5 14 27 83 630 630
9D-24 M24X1.5 16 23.5 16 30 106 | 630 400
9D-30 M30X2.0 20 28.5 20 36 180 | 420 400
9D-36 M36X2.0 25 29 25 46 322 | 420 400
9D-42 M42X2.0 30 30.5 30 50 398 | 420 400
9D-52 M52X2.0 38 33 38 60 647 420 315
152

~EEL

%)
(L]
=
=
=
s
w
)
=
[




~EEL

wv
[C]
=
E
=
i
w
o
=)
P

FEEL

TUBE FITTINGS

DIN-RE#SL
DIN Bite Type Tube Fittings

NL
NS o BFME | Ra DIMENSIONS THEEH (bar)
S %] ggyT1 | TUBEO.D 2
- 51 PART NO. THREAD T1 o B o o s BCE) T(ész
RETAINING NUTS
NL-12 MI12X1.5 06 145 | 06 14 10 500 | 315
NL-14 M14X1.5 08 145 | 08 17 15 500 | 315
L1 NL-16 M16X1.5 10 155 | 10 19 18 500 | 315
r NL-18 M18X1.5 12 155 | 12 22 25 400 | 315
NL-22 M22X1.5 15 17 15 27 42 400 | 315
.':‘ ? = L NL-26 M26X1.5 18 18 18 32 62 400 | 315
| NL-30 M30X2.0 2 20 2 36 82 250 | 160
_ \ NL-36 M36X2.0 28 21 28 41 89 250 | 160
Eu NL-45 M45X2.0 35 24 35 50 137 | 250 | 160
NL-52 M52X2.0 42 24 42 60 216 | 250 | 160
NS-14 M14X1.5 06 165 | 06 17 17 800 | 630
NS-16 M16X1.5 08 165 | 08 19 20 800 | 630
NS-18 M18X1.5 10 175 | 10 22 31 800 | 630
NS-20 M20X1.5 12 175 | 12 24 34 630 | 630
. NS-22 M22X1.5 14 205 | 14 27 53 630 | 630
NS-24 M24X1.5 16 205 | 16 30 66 630 | 400
NS-30 M30X2.0 20 24 20 36 102 | 420 | 400
NS-36 M36X2.0 25 27 25 46 202 | 420 | 400
NS-42 M42X2.0 30 29 30 50 219 | 420 | 400
NS-52 M52X2.0 38 325 | 38 60 339 | 420 | 315
WRL
W RS BERIME R~
e 251 ;;\%T%% TUBE 0.D DIMENSIONS %% T (bar)
CUTTINGRING NP 12
WRL-06 06 9.8 10 500
WRL-08 08 9.5 15 500
WRL-10 10 10.0 18 500
- WRL-12 12 95 25 400
= WRL-15 15 9.8 42 400
L WRL-18 18 9.8 62 400
WRL-22 2 105 82 250
WRL-28 28 11.0 89 250
|2 WRL-35 35 13.0 137 250
WRL-42 ) 13.0 216 250
WRS-06 06 9.8 17 800
WRS-08 08 95 20 800
WRS-10 10 10.0 31 800
WRS-12 12 9.5 34 630
S WRS-16 16 103 66 630
WRS-20 20 12.0 102 420
WRS-25 25 12.0 202 420
WRS-30 30 13.0 219 420
WRS-38 38 13.0 339 420

153

4HN

NHIFMELOR BN AL
METRIC MALE O-RING HOLLOW
HEXPLUG

1SO0 6149

S1

4H

AHIMELOTZ B X
METRIC MALE O-RING PLUG
SO 6149

4M-WD

NHISMESEC R H K
METRIC MALE CAPTIVE SEALPLUG
IS0 9974

4MN-WD

NGV e S A= D PR
METRIC MALE CAPTIVE SEAL
HOLLOW HEXPLUG

ISO9974

S1

DIN-FE ik
DIN Bite Type Tube Fittings

FEEL

TUBE FITTINGS

= T?ERgEJ;DTT R~F  DIMENSIONS EHER
PART NO. MPa
Tl L1 L S1
4HN-10 M10X1.0 8 12.3 5
4HN-12 M12X1.5 11 15 6 50
4HN-14 M14X1.5 11 16 6
4HN-16 M16X1.5 12.5 17.5 8 5
4HN-18 M18X1.5 14 19 8 *
4HN-22 M22X1.5 15 20 10 40
4HN-27 M27X2.0 16 21.3 12
4HN-33 M33X2.0 16 22.8 17 25
4HN-42 M42X2.0 19 22.5 22
e T?ERZDTT R~f  DIMENSIONS AR
PART NO. MPa
Tl L1 L S1
4H-10 M10X1.0 9.5 14.5 14
4H-12 M12X1.5 11 18 17 50
4H-14 M14X1.5 11 17 19
4H-16 M16X1.5 12.5 19.5 22
4H-18 M18X1.5 14 24.5 24 2
4H-22 M22X1.5 15 23 27 40
4H-27 M27X2.0 18.5 32 32
4H-33 M33X2.0 18.5 34.5 41 25
4H-42 M42X2.0 19 37 50
Emis T%R?;JT R~ DIMENSIONS EHER
PART NO. e 0 L s1 MPa
4M-10WD M10X1.0 8 14 14
4M-12WD M12X1.5 12 19 17 50
4M-14WD M14X1.5 12 19 19
4M-16WD M16X1.5 12 20.5 22
4M-18WD M18X1.5 12 20.5 24
4M-22WD M22X1.5 14 24 27 40
4M-26WD M26X1.5 16 26 32
4M-27TWD M27X2.0 16 26 32
4M-33WD M33X2.0 18 31 41
4M-42WD M42X2.0 20 44 50 31.5
[ T%RZJT R~  DIMENSIONS ESER
PART NO. = 1 L s1 MPa
4MN-10WD M10X1.0 8 12.3 5
4MN-12WD M12X1.5 12 173 6 50
4MN-14WD M14X1.5 12 17.3 6
4MN-16WD M16X1.5 12 17.3 8
4MN-18WD M18X1.5 12 17.3 8
4MN-22WD M22X1.5 14 19.3 10 40
4MN-26WD M26X1.5 16 21.3 12
4MN-27WD M27X2.0 16 21.3 12
4MN-33WD M33X2.0 16 22.8 17
4MN-42WD M42X2.0 16 22.8 22 315
4MN-48WD M48X2.0 16 22.8 24
154

~EEL

%)
(L]
=
=
=
s
w
)
=
[




~EEL

wv
[C]
=
E
=
i
w
o
=)
P

FEEL

TUBE FITTINGS

DIN-FEfEL

4G

RHISMBRYON B F T ##k
BSP MALE O-RING PLUG
ISO1179-4

4GN

RHIMEYOM BT N/ AL
BSP MALE O-RING HOLLOW
HEXPLUG

ISO1179-4

S1

4B-WD

R SMESUR B R K

BSP MALE CAPTIVE SEAL PLUG
1S01179

4BN-WD

REISMESUR B E A A K
BSP MALE CAPTIVE SEAL HOLLOW
HEXPLUG
ISO 1179

155

DIN Bite Type Tube Fittings

ERAes T%R?/KJT R~ DIMENSIONS EHER
PART NO. MPa
T1 L1 L S1
4G-02 G1/8"X28 8 14 14
4G-04 G1/4"X19 12 19 19
4G-06 G3/8"X19 12 2 22 40
4G-08 G1/2"X14 14 27 27
4G-12 G3/4"X14 16 29.5 32
4G-16 G1"X11 18 31 41 25
4G-20 G1.1/4"X11 20 35 50 16
[l =] Tﬁ%RgEiDTT R<f  DIMENSIONS EHER
PART NO. MPa
T1 L1 L S
4GN-02 G1/8"X28 8 12.3 5
4GN-04 G1/4"X19 12 17 6
4GN-06 G3/8"X19 1 173 8 40
4GN-08 G1/2"X14 14 19.3 10
4GN-12 G3/4"X14 16 21.3 12
4GN-16 G1"X11 16 22.8 17 25
4GN-20 G1.1/4"X11 16 22.8 22 16
Eare T%RngTT R~F  DIMENSIONS EHER
PART NO. MPa
T1 L1 L S1
4B-02WD G1/8"X28 8 15.5 14
4B-04WD G1/4"X19 12 19.5 19 63
4B-06WD G3/8"X19 12 225 22
4B-08WD G1/2"X14 14 26 27
4B-12WD G3/4"X14 16 29 32 40
4B-16WD G1"X11 18 35 41
4B-20WD G1.1/4"X11 20 37 50 -
4B-24WD G1.1/2"X11 22 40 55
=t T%RSDTT R~F  DIMENSIONS EHER
PART NO. MPa
T1 L1 L S
4BN-02WD G1/8"X28 8 12.3 5
4BN-04WD G1/4"X19 12 17.3 6 63
4BN-06WD G3/8"X19 12 17.3 8
4BN-08WD G1/2"X14 14 193 10
4BN-12WD G3/4"X14 16 21.3 12 40
4BN-16WD G1'X11 16 22.8 17
4BN-20WD G1.1/4"X11 16 22.8 22 -
4BN-24WD G1.1/2"X11 16 22.8 24

DIN-FE ik
DIN Bite Type Tube Fittings

1CFL, 1DFL, 1CFL-ZH/RN, 1DFL-ZH/RN

DINRER/SAEE=
METRIC MALE BITE TYPE
/SAE FLANGE

L1
L2

A LI I I I IH

T1
@01
20

S1

L3

1CFL
1DFL

L4

I

1CFL-ZH/RN
1DH-ZH/RN

1DFS
1DFS-ZH/RN

DINRETV/SAEER=
METRIC MALE BITE TYPE
SAE FLANGE

L1
L2

T1
@01
L
|
f
2D

SL

L3
1DFS

L4

7

1DFS-ZH/RN

FEEL

TUBE FITTINGS

124 EFIMZ . -
- PF:FEETME? THREAD |TUBE O.D R~F DIMENSIONS %{% Ij’FEjj (bar)
1on D1 D ||| |u|s|s %E)ﬂ ;f(:;%‘)ﬁ
1CFL-22-08 | M22X1.5 15 30.2 | 48| 41 | 6.7 | 56 24 27 | 360 | 315 | 315
1CFL-26-08 | M26X1.5 18 30.2 | 50 [42.5] 6.7 | 61 19 32 | 420 | 315 | 315
1CFL-26-12 | M26X1.5 18 38.1 | 53(455| 6.7 | 62 30 32 | 590 | 315 | 315
1CFL-30-12 | M30X2.0 22 38.1| 53 |455| 6.7 | 62 30 36 | 590 | 160 | 160
1CFL-36-12 | M36X2.0 28 38.1|55| 41 |67 |64 | 32 | 41 | 600 | 160 | 160
L [1CFL-36-16 | M36X2.0 28 445 | 541465 8 |63 | 36 | 41 | 730 | 160 | 160
1CFL-52-16 | M52X2.0 42 445 | 76| 65 | 8 [87.5| 41 | 60 | 950 | 160 | 160
1CFL-36-20 | M36X2.0 28 50.8 | 60|525| 8 | 67 | 36 | 41 |1120| 160 | 160
1CFL-45-20 | M45X2.0 35 50.8 | 58 [47.5| 8 69 41 50 | 1020( 160 | 160
1CFL-45-24 | M45X2.0 35 60.3 | 65 |545| 8 76 46 50 | 1200( 160 | 160
1CFL-52-24 | M52X2.0 42 60.3 | 64 | 53 8 76 46 60 | 1360( 160 | 160
1DFL-24-08 | M24X1.5 16 30.2 | 50 [41.5]| 6.7 | 60 24 30 | 400 [ 350 | 350
1DFL-24-12 | M24X1.5 16 38.1| 55|46.,5| 6.7 |645| 27 30 | 520 | 350 | 350
1DFL-30-12 | M30X2.0 20 38.1 | 57|465(67 |68 | 30 | 36 | 650 | 350 | 350
1DFL-36-12 | M36X2.0 25 38.1| 57|45 |67 |69 | 30 | 46 | 780 | 350 | 350
1DFL-30-16 | M30X2.0 20 445|160 |485( 8 |71 | 32 | 36 | 700 | 350 | 350
S | 1DFL-36-16 | M36X2.0 25 445 | 58 [46.5| 8 60 36 46 | 840 | 350 | 350
1DFL-42-16 | M42X2.0 30 4451 631495| 8 |76 | 36 | 50 | 940 | 200 | 200
1DFL-36-20 | M36X2.0 25 50.8 | 60| 48 | 8 | 72 | 41 | 46 | 1170| 200 | 200
1DFL-42-20 | M42X2.0 30 50.8 | 62 |1485| 8 75 41 50 | 1200| 200 | 200
1DFL-52-20 | M52X2.0 38 508 66|50 | 8 |81 | 46 | 60 | 1410( 200 | 200
1DFL-52-24 | M52X2.0 38 60.3| 70|54 | 8 |8 | 46 | 60 [1630| 200 | 200
NFEOR B EZRMBEETERS S “ZH” , J01CFL-36-16ZH.
In case if you are interested to order adapter in complete set with O-Ring. Flange folder and
Screw.ltis necessary to insert suffix“ZH” after our part NO,for example 1CFL-36-16ZH.
B | BFIME
55| [RS8 |THREAD|TUBEOD R DIMENSIONS %% f:ﬁ’]f?(;afm)
1 DI [D| L1 |2 | 3| 4| S1]| s2 P (s{s){
1DFS-20-08 | M20X1.5 12 31.8) 50 |425| 7.7 | 57.5] 19 24 | 350 [ 420 | 420
1DFS-22-08 | M22X1.5 14 31.8) 50 | 42 7.7 | 59.5| 19 27 | 390 | 420 | 420
1DFS-24-08 | M24X1.5 16 318 53 (445 7.7 | 625 24 30 | 470 | 420 | 420
1DFS-24-12 | M24X1.5 16 |41.3] 59 [50.5| 87 | 685| 30 [ 30 | 790 | 420 | 420
1DFS-30-12 | M30X2.0 20 |413] 61 |50.5| 87 | 72 | 30 | 36 | 860 | 420 | 420
1DFS-36-12 | M36X2.0 25 413 63 |51 | 87 | 75 | 30 | 46 | 970 | 420 | 420
1DFS-42-12 | M42X2.0 30 413 76 | 62 8.7 89 30 50 | 1150( 420 | 420
| 1DFS-30-16 | M30X2.0 20 |47.6] 75 |645| 95| 88 | 36 | 36 | 970 | 420 | 420
5 [1DFS-36-16 | M36X2.0 25 |476| 72 | 60 | 95| 84 | 36 | 46 |1420| 420 | 420
1DFS-42-16 | M42X2.0 30 |476 74 |62 | 95| 87 | 36 | 50 |[1400| 420 | 420
1DFS-52-16 | M52X2.0 38 47.6| 84.5| 68 9.5 99 46 60 | 1400| 315 | 315
1DFS-36-20 | M36X2.0 25 54 80 | 68 | 10.2| 92 41 46 | 1850 420 | 420
1DFS-42-20 | M42X2.0 30 54 79 [65.5] 10.2 | 92 41 50 | 1900( 420 | 420
1DFS-52-20 | M52X2.0 38 54| 83 |67 | 10.2|97.5| 46 | 60 |2100| 315 | 315
1DFS-42-24 | M42X2.0 30 63.5( 90 | 74 | 12.5| 103 | 46 50 |2100( 420 | 420
1DFS-52-24 | M52X2.0 38 63.5| 89 | 73 | 12.5[103.5| 46 | 60 |3060| 315 | 315

NFHECOM B A= RABETTER S /EIN“ZH” MIF1DFS-36-16ZH.
Incaseifyouareinterestedto orderadapterincomplete setwith O-Ring.Flange folder

and Screw.Itis necessary toinsert suffix“ZH”after our part NO,for example F1DFS-36-16ZH.

156

~EEL

%)
(L]
=
=
=
s
w
)
=
[




~EEL

wv
[C]
=
E
=
i
w
o
=)
P

FEEL

TUBE FITTINGS

DIN-FEfEL

DIN Bite Type Tube Fittings

1CFL9, 1DFL9, 1CFL9-ZH/RN, 1DFL9-ZH/RN

90°DINRET/SAEE=
90°METRIC MALE BITE TYPE
SAE FLANGE

1CFL9-ZH/RN

1DFL9-ZH/RN "

7| maune ThRED Téuﬁg% R< DIMENSIONS _ | TeEA (bar)
5| PARTNO. AT
1 p1 |p |u| ||l wul|l]|si| s E@ﬁ? Té”sﬁm

1CFL9-22-08 | M22X1.5 | 15 |30.2|36| 29 | 6.7 | 36 | 44 | 24 | 27 | 400] 315 | 315
1CFL9-26-08 | M26X1.5 | 18 |302]37] 295| 6.7 | 36 | 46 | 24 | 32 | 440 315 | 315
1CFL9-26-12 | M26X1.5 | 18 |38.1|39 | 31.5] 6.7 | 42 | 48 | 30 | 32 | 660 315 | 315
1CFL9-30-12| M30X2.0 | 22 |381|41| 335] 6.7 | 42 | 50 | 30 | 36 | 660] 160 | 160
| [ACFLo36-12 | M36x2.0 | 28 [38.1141[33.5] 67| 42 | 50 | 30 | 41 | 780 160 | 160
1CFL9-30-16 | M30X2.0 | 22 |445|65] 57.5] 8 | 60 | 74 | 36 | 36 | 810] 160 | 160
1CFL9-36-16 | M36X2.0 | 28 |445|44 | 365 8 | 45 | 53 | 36 | 41 | 850 | 160 | 160
1CFLO-4520 | M45X2.0 | 35 |50.8|57 | 465] 8 | 50 | 68 | 41 | 50 | 1150] 160 | 160
1CFLO-45-24 | M45x2.0 | 35 |60.3|78| 67.5] 8 | 66 | 83 | 50 | 50 | 1550] 160 | 160
1CFL9-52-24 | M52X2.0 | 42 |603|58| 47 | 8 | 55 | 70 | 50 | 60 | 1600] 160 | 160
1DFL9-20-08| M20X1.5 | 12 |30.2]50 | 42.5| 6.7 | 44 | 585| 22 | 24 | 380| 210 | 210
1DFL9-24-08| M24X15 | 16 |30.2]38 | 29.5| 6.7 | 36 | 48 | 24 | 30 | 430] 350 | 350
IDFLO24-12| M24X15 | 16 |38.1|64 | 555| 6.7 | 53 | 73.5] 27 | 30 | 600| 350 | 350
1DFL9-30-12| M30X2.0 | 20 |38.1|43 | 32.5| 6.7 | 42 | 54 | 30 | 36 | 760 | 350 | 350
1DFLO-36-12| M36X2.0 | 25 |38.1|45| 33 | 6.7 42 | 57 | 30 | 46 | 890| 350 | 350
< [IDFL9-30-16 M30x2.0 | 20 [445[65 545 & | 60 | 77 | 36 | 36 | 780| 350 | 350
1DFL9-36-16] M36X2.0 | 25 |44.5|48 | 36.5| 8 | 45 | 57 | 36 | 46 | 950 350 | 350
1DFLO-42-16 | M42X2.0 | 30 |445|50 | 36.5| 8 | 45 | 63 | 36 | 50 | 1060] 200 | 200
1DFL9-36-20| M36X2.0 | 25 |50.8|55] 43 | 8 | 50 | 67 | 41 | 46 | 1350] 200 | 200
1DFLO-42-20 | M42X2.0 | 30 |50.8|57 | 435| 8 | 50 | 71 | 41 | 50 | 1400] 200 | 200
1DFL9-52-20 | M52X2.0 | 38 |50.8|59 | 43 | 8 | 50 | 74 | 41 | 60 | 1530] 200 | 200
1DFL9-5224| M52X2.0 | 38 |60.3|64| 48 | 8 | 55 | 79 | 50 | 60 | 1950] 200 | 200

NFHEOME . A= R AMEETERS/FM “ZH” J11DFS9-36-16ZH.
In case if you are interested to order adapter in complete set with O-Ring. Flange folder and
Screw.ltis necessary to insert suffix “ZH” after our part NO,for example 1DFS9-36-16ZH.

1DFS9, 1DFS9-ZH/RN

90°DINRER/SAEE=
90°METRIC MALEBITE TYPE
SAE FLANGE

1DFS9-ZH/RN

<

157

e R | B R~ DIMENSIONS g | TFED (b

A5 paRT NO. M
T1 b |p|ule||lu|t]|s]|s Eﬁéﬁ? Tg)%m
1DFS9-20-08| M20X1.5 12 31.8| 50 (42,5 7.7 | 39 | 58.5| 22 24 | 370 | 420 | 420
1DFS9-22-08|M22X1.5| 14 [31.8| 50|42 | 7.7 | 39 | 595 22 | 27 | 390 | 420 | 420
1DFS9-24-08| M24X1.5 16 31.8| 38 (295 7.7 | 39 | 48 24 | 30 | 490 | 420 | 420
1DFS9-24-12| M24X1.5 16 41.3| 45|36.5| 8.7 | 48 55 32 30 | 920 | 420 | 420
1DFS9-30-12| M30X2.0 20 41.3| 46 |35.5| 8.7 | 48 57 32 36 | 970 | 420 | 400
1DFS9-36-12| M36X2.0 25 41.3| 48|36 | 8.7 | 48 60 32 | 46 [11+0| 420 | 400
S 1DFS9-30-16| M30X2.0 20 47.6| 65|54.5| 9.5 60 75 36 36 |1690| 420 | 400
1DFS9-36-16| M36X2.0 25 47.6| 53|44 | 95| 60 65 41 | 46 [1670| 420 | 400
1DFS9-42-16|M42X2.0| 30 |47.6| 55|41.5) 95| 60 | 68 | 41 | 50 |1630| 420 | 400
1DFS9-36-20| M36X2.0 25 54 | 64| 52 | 10.2| 68 76 | 46 | 46 |2230| 420 | 400
1DFS9-42-20| M42X2.0 30 54 | 58 |44.5| 10.2| 68 71 | 46 | 50 | 2220 420 | 400
1DFS9-52-20| M52X2.0 38 54 | 61| 45 | 10.2| 68 76 | 46 | 60 |2390( 315 | 315
1DFS9-42-24| M42X2.0 30 63.5| 76 [63.5[ 12.5| 76 | 90 50 50 |2380| 420 | 400
1DFS9-52-24| M52X2.0 38 63.5| 72| 56 | 12.5| 76 | 87 50 60 |[2580| 315 | 315

MFHEOME E=RFMBEIERS/EIN“ZH” M11DFS9-36-16ZH.

In case if you are interested to order adapter in complete set with O-Ring . Flange folder and

Screw.ltis necessary to insert suffix “ZH”after our part NO,for example 1DFS9-36-16ZH.

DIN-FE ik
DIN Bite Type Tube Fittings

1CI-KDS, 1DI-KDS. 1CI-KDS/RN, 1DI-KDS/RN

B ERIETIE A QGRS 2
HIGH PRESSURE METRIC BANJO
ELASTIC SEAL

u
L8

LS

L3
L7

L4

1CI-KDS
1DI-KDS

LE

I =
=

1CI-KDS/RN
1DI-KDS/RN

B E B TV KRB S 1
HIGH PRESSURE BSP BANJO
ELASTIC SEAL

L1
L2

=2
<

LS
]

L4

T2
)]

1CI-B-KDS
1DI-B-KDS

L6

1CI-B-KDS/RN
1DI-B-KDS/RN

FEEL

TUBE FITTINGS

%51 ERt e 8247 THREAD EFIME Rt DIMENSIONS

PARTNO. T1 T2 TUDEO.D | L1 L2 L3 L4 L5 L6
1CI-12-10KDS | M12X1.5 | M10X1 06 19 12 10.5 8 24 27
1CI-14-12KDS | M14X1.5 | M12X1.5 08 21.5| 145 14 12 30 29
1CI-16-14KDS | M16X1.5 | M14X1.5 10 22.5] 15.5 14 12 30 30
L 1CI-18-16KDS | M18X1.5 | M16X1.5 12 25 | 18.0 | 165 12 36 33
1CI-22-18KDS | M22X1.5 | M18X1.5 15 27.5| 21.5 18.5 12 39.5 37
1CI-26-22KDS | M26X1.5 | M22X1.5 18 28.5] 21 21.5 14 45 37
1CI-30-26KDS | M30X2.0 | M26X1.5 22 35 | 275 24 16 53 44
1CI-36-33KDS | M36X2.0 | M33X2.0 28 39.5] 32 30.5 18 66 49
1DI-14-12KDS [ M14X1.5 | M12X1.5 06 23.5| 16.5 14 12 30 31
1DI-16-14KDS [ M16X1.5 | M14X1.5 08 23.5] 16.5 14 12 30 31
1DI-18-16KDS [ M18X1.5 | M16X1.5 10 26 18.5 16.5 12 36 35
S 1DI-20-18KDS [ M20X1.5 | M18X1.5 12 27.5| 20 18.5 12 39.5 36
1DI-24-22KDS [ M24X1.5 | M22X1.5 16 30.5] 22 21.5 14 45 40
1DI-30-27KDS | M30X2.0 | M27X2.0 20 37 | 265 24 16 53 48
1DI-36-33KDS [ M36X2.0 | M33X2.0 25 43.5] 315 | 305 18 66 56

75| @S R~ DIMENSIONS 2 | EHZRDbar)

- PARTNO. L7 Sl S2 s3 [ D1 | =M | m | FEW
1CI-12-10KDS 2.5 17 17 14 14.9 54 315 315
1CI-14-12KDS 3.0 22 19 17 17 91 315 315
1CI-16-14KDS 3.0 22 22 19 18.9 104 315 315

L 1CI-18-16KDS 3.0 27 24 22 219 180 315 315
1CI-22-18KDS 3.0 30 27 27 23.9 244 315 315
1CI-26-22KDS| 4.5 32 30 32 | 269 | 327 315 315
1CI-30-26KDS| 3.5 41 36 36 | 319 | 573 160 160
1CI-36-33KDS| 3.5 50 46 41 | 39.9 | 1017 | 160 160
1DI-14-12KDS| 3.0 22 19 17 17 104 400 400
1DI-16-14KDS 3.0 22 22 19 18.9 110 400 400
DI-18-16KDS 3.0 27 24 22 | 219 186 400 400

S 1DI-20-18KDS 3.0 27 27 24 23.9 246 400 400
1DI-24-22KDS| 4.5 32 30 30 [ 269 | 327 315 315
1DI-30-27KDS| 3.5 41 36 36 | 329 | 598 315 315
1DI-36-33KDS| 3.5 50 46 46 | 39.9 | 1055 250 250

A NEFRERFEBRSRETR, MIEERSEM RN, #01C1-30-27KDS/RN,

Note:In caseif you are interested to order the adapter in complete set with cutting ring and

nut, itis necessary to insert suffix“RN” after our part NO, for example 1CI-30-27KDS/RN.
1CI-B-KDS, 1DI-B-KDS., 1CI-B-KDS/RN, 1DI-B-KDS/RN

%51 el e 247 THREAD [EEZINES R~ DIMENSIONS

PART NO. Tl T2 TUDEO.D| L1 | 12 L3 14 |L5]| 16
1CI-12-B02KDS M12X1.5 G1/8A 06 19 | 12 | 105 8 |24 27
1CI-14-B04KDS M14X1.5 G1/4A 08 215|145 14 12 13029
1CI-16-B04KDS M16X1.5 G1/4A 10 225|155 14 12 {301 30

L 1CI-18-B06KDS M18X1.5 G3/8A 12 25 |18.0| 16.5 12 136 | 33

1CI-22-B08KDS M22X1.5 G1/2A 15 285]121.5] 215 14 145 37
1CI-26-B08KDS M26X1.5 G1/2A 18 28.5| 21 | 215 14 |45 37
1CI-30-B12KDS M30X2.0 G3/4A 22 35 | 275 24 16 | 53 | 44
1CI-36-B16KDS M36X2.0 Gl1A 28 39.5] 32 | 305 18 | 66 | 49
1DI-14-B04KDS M14X1.5 G1/4A 06 235|165 14 12 130 ] 31
1DI-16-B04KDS M16X1.5 G1/4A 08 235[16.5| 14 12 130 ] 31
1DI-18-BO6KDS M18X1.5 G3/8A 10 26 | 18.5]| 16.5 12 136 ] 35
S 1DI-20-BO6KDS M20X1.5 G3/8A 12 26 | 18.5]| 16.5 12 136 ] 35
1DI-24-B0O8KDS M24X1.5 G1/2A 16 30.5] 22 21.5 14 145 40
1DI-30-B12KDS M30X%2.0 G3/4A 20 37 | 265 24 16 | 53 | 48
1DI-36-B16KDS M36X2.0 GlA 25 43.5[31.5] 305 18 | 66 | 56

751 EEA e R~ DIMENSIONS B8 |EHER(bar)

- PART NO. L7 D1 S1 S2 S3 M | CF [ 71
1CI-12-B02KDS 2.5 14.9 17 17 14 53 315 315
1CI-14-B04KDS 3.0 18.9 22 19 17 101 | 315] 315
1CI-16-B04KDS 3.0 18.9 22 19 19 102 | 315] 315

| | LCI-18-BO6KDS 3.0 21.9 27 24 22 181 | 315] 315
1CI-22-B08KDS 4.5 26.9 32 30 27 312 | 315] 315
1CI-26-B08KDS 4.5 26.9 32 30 32 319 | 315] 315
1CI-30-B12KDS 35 32.9 41 36 36 578 | 160 | 160
1CI-36-B16KDS 3.5 39.9 50 46 41 1035 | 160 | 160
1DI-14-B04KDS 3.0 18.9 22 19 17 107 400 | 400
1DI-16-B04KDS 3.0 18.9 22 19 19 107 400 | 400
1DI-18-BO6KDS 3.0 21.9 27 24 22 188 400 | 400

S | 1DI-20-BO6KDS 3.0 21.9 27 24 24 190 400 | 400
1DI-24-B08KDS 4.5 26.9 32 30 30 324 | 315] 315
1DI-30-B12KDS 35 32.9 41 36 36 588 | 315] 315
1DI-36-B16KDS 35 39.9 50 46 46 1073 | 250 | 250

A MBEBHFRERREBSEEITS, WIBEASEM RN, #11C1-30-B12KDS/RN,
Note:In caseif you are interested to order the adapter in complete set with cutting ring and nut, it is necessary to insert
suffix “RN” after our part NO, for example 1CI-30-B12KDS/RN

158

~EEL

%)
(L]
=
=
=
s
w
)
=
[




+<EEL | DINTEiEL DINkE#L | REEL

TUBE FITTINGS DIN Bite Type Tube Fittings DIN Bite Type Tube Fittings | TUBE FITTINGS
1C-Y, 1D-Y, 1C-Y/RN, 1D-Y/RN 1CW,.1DW.1CW/RN.1DW/RN
VB 43z 13z 3
EEd iRiEL ETOE IR gL —
. 240 THREAD <+ DIMENSIONS T1EES (bar 124y EFIMZ - -
CYLINDER STRAIGHT BULKHEAD  |z5| F@ftS B TUBEO.D R L R (ban) WELD FITTINGS 5| F@fts | THREAD | TUBFQD Rr DIMENSIONS g | TTFES bar
A7) PART NO. T Py % .
L n T2 | DL D2| D | Ll|L2]Sl|S2 o 4 PARTNO- | 1y o [ o |ulue| ||| EeTED
;s 1) 1C-12Y |M12X1.5|M12x15| 06 | 06 | 18 | 56 | 85 | 14 | 14 | 103 | 500 | 315 L2 1CW-12.06 | M12x15 6 ol 221 1wl » 1 =21 21 12| 35 35
- — o s 1C-14Y |M14x1.5|M14x15| 08 | 08 | 20 | 56 | 85 | 17 | 17 | 121] 500 | 315 1CW-14-08 | M1ax1s p ol Bl w6l 2l 71 15135 35
1C-16Y | M16X1.5| M16XL15| 10 | 10 | 22 | 58 | 87 | 19 | 19 | 142 | 500 | 315 N A et Toce T 10 T u T s Tu s v 5o onl s
1 1C-18Y |[M18X1.5|M18X1.5| 12 | 12 | 25 | 58 | 87 | 22 | 22 | 176 | 400 | 315 = EI -~ 1w — :
1cy | [ 1c22v [maxis[maxis| 15 | 15 | 28 [ 70 [ 100 27 [ 27 [ 262 [ 400 315 b L_Ll: 1DW 1CW-18-12 | M18X1.5 12 16 | 25 | 18 | 33 | 19 | 22 | 25 | 315] 315
1D 1C-26Y |M26X1.5|M26X1.5| 18 | 18 | 32 | 69 | 101 | 32 | 32 | 333 | 400 | 315 - ._\‘_ L 1CW-22-15 | M22X1.5 15 19 | 29 | 22 | 37 | 22 | 27 | 44 | 315] 315
1C-30Y [ M30x2.0 [ M30x2.0| 22 | 22 | 36 | 73 | 105] 36 | 36 | 394 | 250 | 160 st 1CW-26-18 | M26X1.5 18 22 | 31| 235] 40 | 27 | 32| 67 | 315| 315
““-‘J- = 12‘5‘3 migg mggg i‘; fé (558 ;(1) Eg Zg 28 ;1; 528 i:g . 1CW-36-28 | M36X2.0 | 28 | 32 | 38 | 30.5| 47 | 41 | 41 | 165 | 160 | 160
-F 1D-14Y |M14X1.5|M14x15] 06 | 06 | 20 | 60 | 89 | 17 | 17 | 135] 800 | 630 1CW-45-35 | MA45X2.0 35 40 | 43 | 325] 54 | 46 | 50 | 232 | 160 | 160
1D-16Y | M16X1.5| M16X15| 08 | 08 | 22 | 60 | 89 | 19 | 19 | 163 | 800 | 630 . 1CW-52-42 | M52X2.0 42 46 | 46 | 35 | 58 | 55 | 60 | 342 | 160 | 160
1C-Y/RN 1D-18Y | M18X1.5|M18x15] 10 | 10 | 25 | 59 | o1 [ 22 | 22 [ 201 800 | 630 of 2 = L 1cw/RN 1DW-14-06 | M14X1.5 6 11| 26| 19| 34| 14| 17| 21 | 630 630
1D-Y/RN 1D-20Y [ M20X1.5| M20X1.5| 12 12 28 59 91 24 24 | 249 | 630 | 630 °__ 1DW/RN 1DW-16-08 | M16X1.5 8 13 28 21 36 17 19 31 630 | 630
_ s2
1D-24Y |M24X1.5|M24x15] 16 | 16 | 35 | 71 | 107 30 | 30 | 441 630 | 400 Tow20-12 | M20xis 5 71T 3 T2l 1T 2 | 22 T 93 [ e30 | 630
1D-30Y |M30x2.0| M30x2.0| 20 | 20 | 38 | 71 | 114 36 | 36 | 509 | 420 400
1D-36Y | M36X2.0 | M36X2.0 | 25 | 25 | 45 | 72 | 120 | 46 | 46 | 720 | 420 | 400 g [1DW-22-14 | M22X15 | 14 | 19 ] 35 | 27 | 45 | 24 | 27 | 55 | 630 | 630
8K 1D-42Y | M42x2.0[ M42x2.0 | 30 | 30 | 50 | 73 [ 126 | 50 [ 50 | 873 | 420 | 400 = 1DW-24-16 | M24X1.5 16 21 | 35 | 265] 45 | 27 | 30 | 8 | 400 | 400 X8
F 1 1D-52Y |[M52X2.0| M52X2.0| 38 | 38 | 60 | 72 | 133 | 60 | 60 | 1248| 420 | 315 1DW-30-20 | M30X2.0 20 26 40 | 29.5| 51 32 36 131 | 400 | 400 #HE
Eﬂlﬂ FMBEERERFEESEEITE, WBERSFEIN RN, 111C-30Y/RN, 1DW-36-25 | M36X2.0 25 31 | 44 | 32| 56 | 41 | 46 | 219 | 400 | 400 ﬂlhg
S 4. Note:In caseif you are interested to order the adapter in complete set with cutting ring and 1. =
= nut, itis necessary to insert suffix “RN” after our part NO, for example 1C-30Y/RN. grne 1DW-42-30 | M42X2.0 30 36 49 | 355| &2 46 50 | 297 | 400 | 400 =
1DW-52-38 | M52X2.0 38 44 | 54 | 38 | 69 | 55 | 60 | 448 | 315 | 315
A INETREMEERSEERITE, IBERS/EIM RN, 901CW-30-22/RN,
ZWC EEss By Tl | BFIME DL R DIMENSIONS =g | LIFES ban) Note:In case ifyou are interested to ord:rthe a?danpter in complete set witf< cutting ring and
2 D ENT PARTNO. THREADT1| TUBEO.D D1| L1 D2 D3 S1 M | BREW(CF Z?SS) X nut, itis necessary to insert suffix“RN” after our part NO, for example 1CW-30-22/RN.
VW 2WC-6XL5 | MI2XL5 06 31 3 06 14 7 528 | 539
R s 2WC-8X2.0 | M14X1.5 08 31 4 08 17 11 [ 528 [ 539 1CFG'1DFG PRI iy |ETIME R~ DIMENSIONS FC M+ THEH
WELD FITTINGS 2WC-10X2.0__| M16XL5 10 325 6 10 19 16| 460 | 447 R B IGH RSE PARTNG. | Timeap 7 |TUEEOD BERELOT o ( ban)
2WC-12X2.0__| MI8XL5 12 325 8 2 22 20 | 393 | 383 PUMP FLANGE CONNECTION L | L] 2|3 | b1 S |OFPEO-RING
L [ 2WC-15X2.0 | M22XL5 15 345 | 11 15 27 29 | 305 | 297
JWC-18X2.0 M26X1.5 18 36.5 14 18 32 38 315 315 . — 1CFG-16-35 | M16X1.5 10 39 | 30 8 |35 | 65 M6X22 020X2.5 315
.
2WC-22X2.0 | M30X2.0 22 3951 17 | 22 | 36 | 55 | 160 | 160 —— { 1CFG-18-35 | M18X15| 12 |39 | 30| 8 [35 | 65 M6X22 020X2.5 | 315
L 2WC-28X2.5__| M36X2.0 28 425 |23 28 41 73| _160 | 160 R 5
— JWC-35X3.0 | M45X2.0 35 495 | 28 35 50 89 | 160 | 160 T 1CFG-22-35 | M22x1.5| 15 |39 | 30| 8 |35 | 65 M6X22 020X2.5 250
W S 2WC-42X3.0__| M52X2.0 42 50 35 ) 60 | 155 | 160 | 160 ] =
) ~| — — WD XI5 T MIaXLE o 3 3 o 17 > e T 535 L 1CFG-26-35 | M26X1.5| 18 |39 | 30| 8 |35 | 65 M6X22 020X2.5 250
FalT TTUEs 2WD-8X2.0 | MI6XL5 08 31 4 08 19 11 | 528 | 539 Lou ] - A 1CFG-22-40 | M22X1.5| 15 |42 | 35| 8 |40 | 65 M6X22 020X2.5 100
2WD-10XL.0 | M18XL5 10 325 | 8 10 22 13 | 249 | 242 >
- . SWD-I0X15 | MISXLE T SE T 0 55 51 555 T 335 F1CFG/F1DFG 1CFG-26-40 | M26X1.5| 18 |42 | 35| 8 |40 | 65 M6X22 020X2.5 100
\st 2WD-10X2.0 | M18XL5 10 325 6 10 22 16 | 460 | 447 1CFG-30-40 | M30X2.0| 22 |42 | 35| 8 |40 | 65 M6X22 020X2.5 100
2WD-12X1.5 | M20XL5 12 325 ] 9 2 24 21 | 305 | 297
2WC . 2WD SWD-10.0 | NOOXLE 5 e 5 T o T o T 50 395 1 383 1CFG-36-40 | M36X2.0| 28 |42 | 42| 8 |40 | 65| M6x22 | 020X25 | 100
2WD-12X2.5_| M20XL.5 12 325 | 71 12 24 22 | 476 | 463 1DFG-24-35 | M24X15| 16 |39 | 30| 8 |35 | 65 M6X22 020X2.5 315
2WD-14X2.0 | M22X1.5 14 385 |10 14 27 26 | 343 | 334
SWD-12%3.0 T M22X15 7 385 8 12 57 33 T 287 | 272 1DFG-30-55 | M30X2.0| 20 |55 | 42| 8 |55 | 85 M8X22 032X2.5 250
2WD-16XL.5 | M24XL.5 16 39 13 16 30 32 | 234 | 228
2WD-16X2.0 | M24X1.5 16 39 12 16 30 31 | 305 | 297 1CFG9 1DEGY
2WD-16X2.5__| M24XL5 16 39 11 16 30 38 | 372 | 362
s [ 2WD-16X3.0__| M24X15 16 39 10 16 30 41 | 400 | 400 o RS | gy SN R DIMENSIONS kg@fgff%ﬂ%ﬂ/ I({f’fﬁ
2WD-20X2.0 | M30X2.0 20 45 16 20 36 57 249 | 242 W RWHIO B SRIEZ PARTNO. | THREAD [TTUBEO.D| L L1 |[L2]| L3 | D1 S0l O-RING ar)
ZWD-20X2.5 | M30X2.0 20 45 1 15 1 20 1 36 | 57 | 305 L 297 90°ELOW PUMP FLANGE 1CFG9-16-35 | MI6X15| 10 | 39| 165 | 38| 35 | 65 | M6X22/M6X35 | 020X2.5 | 315
2WD-20X3.0 | M30X2.0 20 45 14 20 36 64 | 358 | 349 CONNECTION
SWD-20%35 T M30%2.0 0 yTs 3 0 36 1T 200 T 200 1CFG9-18-35 | MI8X15| 12 | 39| 165 | 38| 35 | 6.5 | M6X22/M6X35 | 020X2.5 | 315
2WD-20X4.0 M30X2.0 20 45 12 20 36 78 400 200 | 1CFG9-22-35 | M22X1.5 15 39 16.5 | 38| 35 6.5 | M6X22/M6X35 | 020X2.5 | 250
2WD-25X3.0 | M36X2.0 25 495 |19 25 46 89 | 294 | 286 T 1CFG9-26-35 | M26X1.5| 18 | 39| 205 | 38| 35 | 6.5 | M6X22/M6X40 | 020X2.5 | 250
2WD-25X3.5__| M36X2.0 25 495 |18 25 46 | 100 | 337 | 328 — . [ 1CFG9-22-40 [ M22x15| 15 |42 225 [38] 40 | 6.5 | M6X22/M6X40 | 020x2.5 | 100
2WD-25X4.0 | M36X2.0 25 495 | 17 25 46 111 | 379 | 369 j : 1CFG9-26-40 | M26X1.5] 18 | 42| 225 [ 38] 40 | 6.5 [ M6x22/M6x40 [ 020x2.5 | 100
2WD-25X5.0 | M36X2.0 25 495 | 15 | 25 | 46 | 125 | 400 | 400 . 1CFG9-30-40 | M30X2.0| 22 | 42| 22.5 | 38| 40 | 6.5 | M6X22/M6X45 | 020X2.5 | 100
2WD-30X3.0__| M42X2.0 30 52 24 30 50 | 113 | 249 | 242 o TRETES) > A ol e e G n
2WD-30X4.0 | M42X2.0 30 52 | 22 | 30 | 50 | 141 | 323 | 314 CFGO-36-40 | M36X2.0| 28 8 [40| 40 | 6.5 |M6X22/M6X50 | 020X2.5| 100
JWD-30X5.0 | M42X2.0 30 52 20 30 50 | 166 | 393 | 383 | * | 1CFG9-45-40 | M45x2.0{ 35 | 42| 32 |41| 40 | 65 |M6X22/M6X60 | 020X2.5 | 100
2WD-30X6.0 | M42X2.0 30 52 18 30 50 | 188 | 400 | 400 S - 1DFG9-24-35 | M24X1.5] 16 | 39| 20 | 38] 35 | 65 | M6X22/M6X40 | 020X2.5 | 315
%wg-ggﬁ-g mgggg gg ggg §§ 32 gg %gg ggg %2451 ~s 1DFGO-30-40 | M30X2.0] 20 | 42| 225 | 40| 40 | 6.5 | M6X22/M6X45 | 020X2.5 | 250
D35 0T ME%a 0 N == T8 T I E7  R IR 1DFG9-30-55 | M30X2.0] 20 [ 55| 24 | 45| 55 | 85 | M8X25/M8X50 | 032x2.5 | 250
2WD-38X6.0 | M52X2.0 38 56.5 | 26 38 60 | 270 | 315 | 315
2WD-38X7.0__| M52X2.0 38 56.5 |24 38 60 | 270 | 315 | 315

159 160



FEEL

TUBE FITTINGS

DIN-FEfEL

DIN Bite Type Tube Fittings

‘161

TT SRS IEE BT IS B 25, 01008 M3k, ME 7 :LW100-1CM-16-14WD

T e ] B IMRLIOR B 2 £ i ik 7 7
- L BSP THREAD STUD ENDSWITH FILTER
i NS HNIR
1. =ope #847 THREAD %EE?E% R~FDIMENSIONS THER | 4
N PART NO. Tl T2 D1 | L1 L2 | 3 | s1 Mpa | ™
LW-1CG-14-04 M14X15 | G1/4"X19| 08 31 10 14 19
LW-1CG-16-04 M16X1.5 | G1/4"X19| 10 32 11 14 19 315
LW-1CG-18-06 M18X15 | G3/8"X19| 12 335 | 125 | 14 22 L
LW-1CG-22-08 M22X1.5 | G1/2"X14| 15 37 14 16 27 25
LW-1CG-30-12 M30X2.0 | G3/4"X14| 22 42 | 165 | 18 32 16
TTER BB EBT TSR B %, 41008 JEM#E Sk, M E /9 :LW100-1CG-16-04
ﬁ si
HEIMESUR B Z T I IS N
BSP THREAD WITH CAPTIVE SEAL WITH FILTER VALVE
2 HNIR
Eake #8247 THREAD MEIIME R~FDIMENSIONS THER
PART NO TUBE 0.D M x|
: T1 T2 D1 L1 L2 L3 S1 pa
" LW-1CB-14-04WD | M14X1.5 | G1/4"X19 08 31 | 10 | 14 19
kZD ,_,K 50
£ o LW-1CB-16-04WD | M16X1.5 | G1/4"X19 10 32| 11 | 14 19
E ﬂ‘f LW-1CB-18-06WD | M18X1.5 | G3/8"X19 12 335 125| 14 22 42 L
=l
. LW-1CB-22-08WD | M22X1.5 | G1/2"X14 15 37 | 14 | 16 27 40
LW-1CB-30-12WD | M30X2.0 | G3/4"X14 22 42 | 165 18 32 25
ITER BB ERT TSR B ), aN1008 JEMESL, WIS 9 :LW100-1CB-16-04WD
LI IMRSIOT BB 22 2 4 Ui v 7S
- _ METRIC THREAD STUD ENDS WITH FILTER
-
T ] e .
L 7’_‘ — Eope 247 THREAD MEIMZ R~FDIMENSIONS THEH
- r DART NO TUBE 0.D VMpa |77
|z r i ol : T1 p) D1 L1 L2 L3 s1 P
! g [T@ — LW-1CH-16-14 M16X1.5 | M14X1.5 10 31 11 13 19 50
- LW-1CH-18-16 M18X1.5 | M16X1.5 12 33 | 125 | 135 | 22
L
LW-1CH-22-18 M22X1.5 | M18X1.5 15 35 | 135 | 145 | 24 40
LW-1CH-26-22 M26X1.5 | M22X1.5 18 37 | 145 | 15 27
ITHR B AR BRI B #8, aN1008 I8 ML, M5 /9 :LW100-1CH-16-14
N IR R B E A U s R
METRIC THREAD WITH CAPTIVE SEALWITH FILTER
- 247 THREAD &HMZ R~FDIMENSIONS
EoAe MEIMZ THEH
PART NO TUBE 0.D Mpa &5
: T1 2 D1 ule| | s P
LW-1CM-16-14WD M16X1.5 M14X1.5 10 32 | 11| 14 | 19 50
LW-1CM-18-16WD M18X1.5 M16X1.5 12 335 | 125| 14 | 22
L
LW-1CM-22-18WD M22X1.5 M18X1.5 15 345|135| 14 | 24 40
LW-1CM-26-22WD M26X1.5 M22X1.5 18 38 |145| 16 | 27

162



